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SISl ) 25,390,689 26,309,496 A918,807
= 728,000
= 256,000
J| 4,724,640
=2 124,962
< 3,513,330
Al 16,043,757
agAL 8,834,926 9,806,766 £.971,840
= 264,328
J| 1,886,384
= 1,500
< 1,196,165
Al 5,486,549
HE2IZH (AGB2AL) 854,310 2,638,489 A1,784,179
el 2| 499,432 2,311,763 A 1,812,331
oI 24| 499,432 2,244,863 A 1,745,431
101 14l 499,432 2,244,863 AN 1,745,431
01 2= 107,410 1,664,718 A 1,557,308
o4 102,527
Oxzh2Zf=E 102,527
-2 EHA 8,4763 = 28AI2t = 29 « 123 82,591
R 8,476% * 28AI2t » 7H * 128 19,936
oOER&EZR
8,476& » 3Y x 4AI2t * 43 * 128 4,883
02 JIEtE B == 56,893 231,307 A174,414
O A AR (ItZ) 3,649
OxzH2Zf=E
10,860& * 28AI2H » 1H » 12& 3,649
oEZE 5,244
OxU2RaY
7,803 * 28AIZ2t * 2F * 12& 5,244
OZSEUAMN A EsHUS
800,000& = 5% = 12& 48,000
03 RIAHAZ 2T E =+ 335,129 348,838 A 13,709
OUSAH A& HEAL SIS AN ASERA 303,859
OHE(It3) 203,204
-254 Xt 34,588,000& = 1H 34,588
-1449 Xt 26,888,000& * 39H 80,664
-12@ Xt 25,488,000& + 19H 25,488
-10¥ Xt 24,088,000&  19H 24,088
-39 Xt 19,188,000& = 29H 38,376
OF=1 50,353
- EsE 7,200
i < Xt 40,000& = 8H = 12& 3,840




Jl2t: AEJ| 2 A dEgEAL
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BSTIESIES 20,000 » 142 » 1o& 3,360
~IZ224Y 358,009 * 8 * 12 34,368
-guaesy
8,950& * 4Al2t » 3H * 128 1,289
-0t X}
31,088,000& / 3652 » 112 » 8Y 7,496
OXMHE 3 10,622
-=8ry 51,9903 * 18 « 43| 208
-1 SsH 433,880& = 6% = 43 10,414
OFE S tHI 1,100,000& * 8H * 23] 17,600
O=&l 120,000& * 128 * 8Y 11,520
Oul SH| 110,000& = 128 » 8%H 10,560
O=0dH=RE= 303,859,000& * 4.5% 13,674
ONEZEERES 303,859,000& * 1.4% 4,255
CUHLEE=RES 303,859,000& * 2.9% 8,812
OFIQLYZEERYS  8,812,000& * 6.55% 578
OdATHMHER = 303,859,000& * 1.3% 3,951
Jl=&l 354,878 326,726 28,152
Jl23 4l 354,878 326,726 28,152
201 et | 282,774 258,310 24,464
01 At 2teltl 55,396 50,286 5,110
OJlegesdasZ 13,260, 000& 13,260
O=AMEX 20,000& = 100&f A 2,000
OZgHEH 260,000 = 204 5,200
EHIECX 260,000& * 6IH 1,560
(OFEEE—g=d 1,968
Ok PN 15,0003 * 2JHAL = 128 = 204 720
OX X 13,0003 = 40HAL = 128 * 204 1,248
od - 2=) gz 50,000 = 4CH = 123 2,400
O ZZTWH 200,000 * 1504 3,000
o=l 1,100
OZel o At 100,000& * 39 300
ORAAREAN AM 100,000& * 8%H 800
O EY2ANAL EEZ 2/S3(8P)
1,000& * 1,00004 1,000
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OMHTHMHMH Y BAHAL HPEE SH2
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300,000& = 12& 3,600
02 324t 227,378 208,024 19,354
oRW2 4,074
Ogdt 250 * 650 * 12& 1,950
O&II 1,770& = 100 x 12& 2,124
(OFSEIRTr=, 1,300,000& = 12& 15,600
odII=2 6,400,000& = 12& 76,800
o4 - o2 3,350,000& = 12& 40,200
OZANItAZ 3,850,000& = 12& 46,200
ONSXEE 430,000 = 7CH 3,010
© Xt XtAl 110,000& = 7CH 770
OJIAA DB A HAUHS 65,000& * 13 65
(@IME=R=R=1g--g= = 729,410& * 13| = 200 A 1,459
osgder"=2 3,365
O X=Xt 67,5603 = 501 * 23] 676
OA&EZ2 1,344,410& *x 23] 2,689
(OPNE=PNE=PNE = 55,000& * 7CH 385
oOxddsz 50,000 = 20 = 128 1,200
OSESEAH2 ZAI S X 22|l
350,000 * 2004 « 12€ 8,400
(OPNE=2=DNN:] 2,000,000& = 70CH 14,000
OHl MY NI RAl&2lH] 1,950
SRU(ER) 1,800& = 5¢ = 503 450
OSs Xt 1,500,000& * 1CH 1,500
O&lZ , ZALEH SX22 1,000,000& = 5CH 5,000
OPACSAI A8l 2 X 2teld] 400,000& = 12& 4,800
(OFENS=ICIFSE=: K]l 50,000& = 29H 100
202 04| 42,864 44,016 AN 1,152
01 2L Y| 38,784 39,936 N 1,152
OJI2g82+8 JI=0H| 30,720,000 30,720
OZ2FEH2YAF D=0 H| 8,064,000 8,064
02 2 H 0 H| 4,080 4,080 0
oBAHAE A 170,000& = 29 = 12& 4,080
203 ¥ 2 =& 5,840 5,800 40
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OFJIAtE 2 =& H| 40,0008 * 3pH 1,400
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o302 =t 5,000& = 48 * 12& 240
204 MR AH| 23,400 18,600 4,800
01 ¥R 1,800 1,800 0
OXNMgURAZHl  150,0008  1H * 128 1,800
03 EZYREH 21,600 16,800 4,800
omerasl 21,600
OYBtA (62016H) 50,0008 * 34  12& 20,400
OEAZZE 50,000& = 28 = 12& 1,200
a4 58 7,979,616 7,167,777 811,839
= 264,328
J| 1,886,384
& 1,500
< 1,196,165
Al 4,631,239
SBAHASAEIEIR= 760,537 488,220 272,317
= 55,000
J| 700
= 2,485
JZ M A Z35 117,602 51,301 66,301
101 14 Hl 88,152 14,879 73,273
04 JIZHHZ22XREES 88,152 14,879 73,273
(OFSE=F= gy 14,960
OCogXd ¥ Aza 2S5 A 21|
50,000 » 24 = 1H = 110 & 13,200
O=RH=!RE= 13,200,000& * 4.5% 594
OL=2EEERES 13,200,000& * 1.4% 185
OAHLE2E=RE= 13,200,000& * 2.9% 383
OFIIRLEE=FES  383,000& * 6.55% 26
O Ml EE = 13,200,000& * 1.3% 172
OFE=FItHI 400,000& = 19 400
O&Z A 9 A 73,192
Odlgal 222 A
250,000 = 242 « 1104 & 66,000
O=Rds=RE= 66,000,000& * 4.5% 2,970
OL=EE=RE3 66,000,000& * 1.4% 924
OCHLE2E=ZRES 66,000,000& * 2.9% 1,914
OFIRLBEE=ZRES
1,914,000& = 6.55% 126
Ot EE = 66,000,000& * 1.3% 858
OFE S ItHI 400,000& = 19 400
201 Let249y| 4,040 4,040 0
01 At 22l 4,040 4,040 0
OB HALS A& ZH Kol 10,000& = 100& 1,000
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206 M = dl 1,610 1,610 0
01 X2 bl 1,610 1,610 0
o=z ,8t Mz EE54A 29 1,610
ONME=Hels MH2 225
70,0008 * 23= 1,610
301 et A= 15,400 15,400 0
01 Al E& A %52 1,000 1,000 0
OHEIIZS MUK 22 1,000,000& ~ 1H 1,000
12 JIEtE A= 14,400 14,400 0
OB65MI 0l & ol XF 2FHldI
1,200 * 12,000H 14,400
307 2iz2to| A 8,400 15,372 NG,972
o1 s =t 8,400 15,372 ANB,972
ostHds4a 29 5,400
Ostet NS AHZ(SFALALR 95)
7,500& * 509 x 12& 4,500
OZe24BE25H= 1,500& * 5098 * 12& 900
oscxza 29 2,000
OMFIIXEI HE S 60,0008 ~ 10= 600
OALdx2H 7,0008 * 200 E 1,400
oxza 29 1,000
OUE & ADE(SASYADSNGR 198)
50,000& = 20= 1,000
B2AHA8Y 216,218 431,782 N 215,564
201 et | 20,728 24,520 N3,792
01 AFR 2t 2| H| 17,440 21,325 N 3,885
OSLINHIZEA =2
150,000 = 13| » 204 A& 300
osAJ|etd2e =2
150,000& * 128 x 204 3,600
OEHIIA(ING) HIIZANE=42
200,000& * 13| 200
OFI|otEZE 2
400,000& = 128 * 204 9,600
ogst2IgR 2
150,000& * 128 x 204 3,600
ON$ZE +BAMLL2
70,000 * 13 » 200 A& 140
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OoMgIISE
1,860& = 1600 = 200 « 123 715
OfiEEt2
45,000% * 20+ 128 « 2004 2,160
OcleEl %
36,0003 * 3=A x 20HA + 128 2,592
O3 16,500 * 20H2 = 120H& 396
O8Il MERN
20,0003 » 28tA * 2JHA * 1200 960
307 21201 A 37,680 37,680 0
05 QIt2IE =2 37,680 37,680 0
OFAL BAUHH 1,400,000& = 12&8 2004 33,600
ORI HXEHI 170,000& * 128 » 2 4,080
401 A& HIZ 201 Y] 44,035 322,087 A 278,052
01 A& HI 44,035 316,577 N272,542
O&E AR 2l 2,500& = 3,856€ & 0IH 9,640
OEHA W) HE U 24
34,000& = 200RT 6,800
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oHIY Moz 4 ¥ FH|
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EAHAZAESNS 400 400 0
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A2 .2 FH-S(BH) - HRAY - BES il 2
01 At 22l 5,128 8,988
oHgZEsd 24 3,000
OU&E Malelay 60& = 50,0000H 3,000
oz 2F 1,000
Oz 222 500& * 2& * 1,000% 1,000
OZA 29 128
oH& &3 80& = 1,6000H 128
oALs HSUII 1,000
(OF=3--3 1,000& = 9004 900
OoxgIE 100,000& * 14 100
03 A2 Z Hl 500 0
OMNAMOIZoY & EEE
1,000& * 50074 500
307 glz2tol & 203,887 282,064
01 2z2L =4l 185,787 264,836
oHgEsd 24 124,092
ONgEE AZ(BELHL 48)
118,882,000 118,882
O™ XM 2 70,0002 * 574 350
Ou o4 6,000& » 300 1,800
OJEE 3,000& » 500& 1,500
OEZAZUAHH 150,000& » 2MIE = 2% 600
OBCGE =FAbDI 80,000& = 1242 960
OZAA 29 61,216
OEZZA(MAHAHIXI 2 305)
90,000& * 1532 13,770
OMZEZA3.02 195,000& * 1362 26,520
OgelZ At 90,000& * 200 18,000
OAE 2t A A(Ighel 18)
418,000 » 79 A 2,926
OZHEXE I 23,000& » 132 299
OYANEA DIAE 30,0002 * 64 180
05 RIZHRI &3 18,100 17,228
ostag 2te| 18,100, 000& 18,100
S E S A A 849,052 596,568
J| 424,526
< 124,124
Al 300,402
101 1A dl 21,556 21,556
J| 10,778
Al 10,778
04 JI2ZtHZ22 s+ 21,556 21,556
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21,556,000& = 1H 21,556
J| 10,778
Al 10,778
307 21201 & 827,496 575,012 252,484
9] 413,748
S 124,124
Al 289,624
01 22272l 391,150 110,348 280,802
OBAHA0EXAZHI(138) 391,150,000 391,150
J| 195,575
< 58,672
Al 136,903
05 RIZt2IEt = 436,346 464,664 A28,318
OB 2t =X 2 & Ul & ALY 6,164,000 6,164
J| 3,082
=) 925
Al 2,157
OYgodEEHI(108) 430, 182,000 430,182
J| 215,091
< 64,527
Al 150,564
QA E S 141,354 139,326 2,028
= 42,406
Al 98,948
307 glztol & 141,354 139,326 2,028
) 42,406
Al 98,948
01 =2 F=Hl 141,354 139,326 2,028
OQIZ20X OLTIAY 141,354,000 141,354
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Al 98,948
Mol= o sy 13,377 11,016 2,361
J| 6,688
< 1,965
Al 4,724
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J| 140
Al 140
01 = LH 4 Hi 280 280 0
ool ZZel SEAILER FA0YI
20,0003 » 14« 280
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307 21240 13,097 10,736 2,361
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< 1,965




Jl &

Hm: 22 53 T
Sl ey BANHPE CERED
= - — SHE|
MR 2N FB-BA(E) - MRAY - BAS e Hl D= 2t
Al 4,584
01 2L F =4l 6,526 6,266 260
OO0l = & EHAl 5,702,000 5,702
J| 2,851
< 855
Al 1,996
OH8Y &JCHAl S 824,000 824
J| 412
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05 RIZIRI &3 6,571 4,470 2,101
ouolxaXkt &=z 6,571,000& 6,571
J| 3,285
< 986
Al 2,300
Z0 A 83,695 42,244 41,451
| 57,005
< 7,647
Al 19,043
101 @124l 30,315 0 30,315
J| 30,315
04 JIZHHZ2XNSE+ 30,315 0 30,315
OPPM 2tS At 30,315
OPPM 2SS AF €I
2,000,000& = 198 = 1201 & 24,000
J| 24,000
C42g=sre 24,000,000 * 8% 1,920
J| 1,920
OIS ES= 1,995,000& * 1 1,995
J| 1,995
ool 20,000& = 103l » 1201 & 2,400
J| 2,400
201 Let24d]| 5,000 0 5,000
J| 2,500
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Al 1,750
01 At 22l 5,000 0 5,000
O==2Hl & AHMbEISH 5,000
(OF=3=3 1,000& = 1,0000H * 3& 3,000
J| 1,500
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Al 1,050
Oecl&d 850& = 1,00001 » 23 1,700
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oA e H2FX 0yl
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= 2,100
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J| 5,900
= 1,770
Al 4,130
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ShMl ok 2 XA H I H| X & (=2H]) 16,030 17,829 A 1,799
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== 8,015
301 Bt A= 16,030 17,829 AN 1,799
= 8,015
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01 Al E & A 462 16,030 17,829 AN 1,799
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AN AL S A 74,504 11,309 63,195
101 @14 Hl 74,504 11,309 63,195
04 JIZHHZ2XNEE S 74,504 11,309 63,195
CELPIEE 12,015
O=gaAuHdEd UFY
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OM2ALEA A= 222,627 ,000& 222,627
J| 111,313
& 33,394
Al 77,920

A HAIOI A AF & &H0t2t2] 59,916 59,896 20
J| 29,958
o= 14,979
Al 14,979

307 212t0| ™ 59,916 59,896 20
J| 29,958




Jl2t: AEJ| 2 A dEgEAL
HE: AY 58
& 240 ots2 HLAE & (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
< 14,979
Al 14,979
05 RIZtE = 59,916 59,896 20
OEEE WAOI& HAH & &0t 22l
59,916,000 59,916
J| 29,958
< 14,979
Al 14,979
Ol=0t ¥ AdFH0l&0L = HIXI& 96,564 104,404 AT,840
J| 48,282
< 14,485
Al 33,797
301 et d = 96,564 0 96,564
J| 48,282
= 14,485
Al 33,797
01 MEI2ZE 405z 96,564 0 96,564
OO0l=0t & &&4 ol&0t 224
96,564,000& 96,564
J| 48,282
< 14,485
Al 33,797
A MOLE 2 E A 6,120 6,120 0
J| 3,060
= 1,530
Al 1,530
201 24l 556 556 0
J| 278
= 139
Al 139
01 At 22l 556 556 0
OMMOF HE XD BEE 556,000& 556
| 278
< 139
Al 139
307 21201 A 5,564 5,564 0
J| 2,782
< 1,391
Al 1,391
05 RIZt2IEt = 5,564 5,564 0
OAIMOF &H™ DI & 5,564,000& 5,564
J| 2,782
< 1,391
Al 1,391
AQAMOIE R0/ XA (=) 218,620 230,892 N12,272
= 174,896
Al 43,724




Jl &

X{ XH -
S =

CHe o Otso H2UAE 28 (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2

307 2Iz2to| & 218,620 230,892 N12,272
= 174,896
Al 43,724

05 QIZtR &2 218,620 230,892 N12,272
ONR Ao =201 K& 218,620,000 218,620
= 174,896
Al 43,724

AL0tHAH A 9,912 3,585 6,327
J| 7,930
& 592
Al 1,390

201 et Y| 2,027 2,057 A 30
J| 1,622
& 121
Al 284

01 AP 2t 2] H| 2,027 2,057 A 30
O=EZ2 2,027,000& 2,027
J| 1,622
= 121
Al 284

301 LBt A= 4,991 0 4,991
Jl 3,993
& 299
Al 699

01 Al E & A 452 4,991 0 4,991
oY AN A Ol & & H| 4,991,000 4,991
J| 3,993
& 299
Al 699

307 gizto| A 2,894 1,528 1,366
J| 2,315
& 172
Al 407

05 QIZtRES 2,894 1,528 1,366
OF R0} HA2dHX 2,894,000& 2,894
J| 2,315
& 172
Al 407

UASS HLU 2L (2ANEHASE 2,359 3,063 ANT04
J| 1,180
o=t 590
Al 589

307 212t0| & 2,359 3,063 ANT04
J| 1,180
o 590
Al 589

05 QIZtR E 2 2,359 3,063 AT04
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A & 0l & AF 2 E A A
Jl2t: AEJ| 2 FAM: EG9224a EAASD
HE: HYRIFH(ELRAL)
Sel: o2y (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
ECEAL BAMNYD 13,276,767 12,481,075 795,712
= 314,672
J| 2,838,256
=2 123,462
< 2,134,580
Al 7,865,817
HE2IZH(EL2AHL) 551,027 1,929,391 A 1,378,364
el 2 386,266 1,770,534 A 1,384,268
oI 244l 386,266 1,715,814 A 1,329,548
101 @124l 386,266 1,715,814 A 1,329,548
01 2= 88,831 1,350,971 A 1,262,140
o= 88,831
Oxz2Zf=¢ 88,831
- EHA 8,4763 = 28AI2t * 22 « 123 62,655
-Jls® 8,4763 * 28AI2+ » 7H » 12 19,936
-2 K& 8,476 * BAIZt » 1H * 203 1,357
—Eoaaae
8,476 = 4Al2t « 3H * 43 * 128 4,883
02 JIEt A2+ 52,009 119,241 AB7,232
OFEAAAZE(ItZ) 3,649
Ooxu=2=28
10,8603 * 28AI2F » 1H » 128 3,649
OSESEHdAAN I ES Has
800,000& = 5% = 123 48,000
O3sE29 NEEE JARES
30,000& « 12& 360
03 RIAHAZ 2B+ 245,426 245,602 A176
OZ LA SCIXZ A 2SS ZRAL 222,452
OHE(It3) 145,528
-179 Xt 29,988,000& = 1H 29,988
-144 Xt 26,888,000&  1H 26,888
-94 Xt 23,388,000& * 1H 23,388
AP 21,988,000& » 29H 43,976
-69 Xt 21,288,000& * 1H 21,288
OF=1 39,597
I ES Y 6.480
il < Xt 40,0003 = 5% » 123 2,400
EHl = 20,000 = 178 = 128 4,080
—HEAZ2zg 358,000& » 6€ » 128 25,776
522
8,950 * 4AI2b » 4H « 12& 1,719
S PN =
31,088,000 / 3652 * 6H = 11 5,622




Jl: B 2N EYEAL EHAIL D
Hu: ANSYAY(EHRAL)
chel: ol gyl (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OPIEIP= 7,567
-=s 51,990& = 3H =« 43| 624
-1Ssn 433,880& * 4% « 43] 6,943
OFE =S tHl 1,100,000& » 6% * 23] 13,200
O= &l 120,000& » 6% = 12& 8,640
Oun &t 110,000& » 6H » 128 7,920
O=0H=2E3 223,231,000& = 4.5% 10,046
ONEZE=RES 223,231,000& * 1.4% 3,126
CHLEE=RES 223,231,000& * 2.9% 6,474
OFIQYBEHEIRES 6,474,000 * 6.55% 425
OdATHMHEE = 223,231,000& * 1.3% 2,903
Jl=&l 164,761 158,857 5,904
Jl223 164,761 158,857 5,904
201 Let24d] 95,389 91,045 4,344
01 At 22l 47,664 44,724 2,940
OJlegesdasZ 13,260, 000& 13,260
ousasz 984
OsLX 15,0002 = 2JH AL = 12 360
OXI&X| 13,000 * 4JHAF » 123 624
ONMU 2229 2ZH 150,000& * 204 300
O=AMEX 20,000& = 1002 A 2,000
OdoIMESH EUY 260,000& = 204 5,200
OEgItECX 260,000& * 6H 1,560
oul=l 500
O=ssE2d9 100,000& * 5%H 500
Oo=gtdl JI&H 13,392,000 13,392
OMHTHOHME 2AAL HASH SEHs2
500,000& = 13l 500
od.2=J 2=z 34,0003 = 1CH » 123 408
O2gd HIIE ¢ HAE Healdl
420,000 ~ 12& 5,040
OYAY I=FLHY SHx8
20,0003 * 4% = 42| 320
OFZE % ZAHI S UEIIEAE =8
350,000& « 123 4,200
02 =224l 47,725 46,321 1,404
oORUR= 6,354
Og et 2703 = 650 * 123 2,106
Os7l 1,770& » 2008 *» 128 4,248
oOREEesE 10,000& » 12&8 120
oXIIRS 1,900,000& * 128 22,800
OXsIEE 430,000& = 5CH 2,150




Jla: m&I| B SN EHRAL BAANAD
HM: HY2HAH(EEE2AHAL)
el Dl (29l 8)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
O Xt XA 110,000 = 5CH 550
o=IEANLRE 2 67,5603 = 501 * 23] 676
OXNSXEAN =2 55,000& = 5CH 275
O Xt &= X Hl 2,000,000& = 504 10,000
OPACSAI A E S X 22l Hl 400,000& = 12& 4,800
202 04d| 36,672 35,712 960
01 2L Yl 36,672 35,712 960
OS2 AH2A JIEAHH| 6,912,000& 6,912
OJI2g2+8 JI=0| 29,760,000& 29,760
203 &R =&H| 8,700 8,700 0
01 J|22HLR=AH| 3,300 3,300 0
OI=H(42) 3,300,000& 3,300
02 HRJAE =&Y 1,200 1,200 0
O©J=H(100H N XN ) 40,0008 = 30¥ 1,200
04 EANSHLRE=XH| 4,200 4,200 0
©J| =M (302!0]3t) 350,000& = 12& 4,200
204 = 2 4= A H| 24,000 23,400 600
01 SR AH| 6,000 6,000 0
OJI&E(42) 400,000& * 19 » 12& 4,800
o528 BEXJ|& 100,000 *1H 128 1,200
03 S8YRZEHI 18,000 17,400 600
ool sl 18,000
oY= (6x0l0l) 50,000& * 30¥ =12& 18,000
AL E&A 12,725,760 10,551,684 2,174,076
=2 314,672
Dl 2,838,256
= 123,462
< 2,134,580
Al 7,314,790
SBAAS AL JlEtR=H 736,686 60,337 676,349
Dl 118,700
= 29,800
M HH A2 S 49,726 55,599 N5,873
101 2121 d| 14,891 14,879 12
04 JIZtHI22XNSE = 14,891 14,879 12
O9s XN L A=A 2tSAF 212HH| 14,891
O2AS At & 2tS X2 AL
50,0008 » 27 = 1Y = 108 13,500
O=30dH=E2E=2 13,500,000& * 4.5% 608
OLNnsSEEazRg=2 13,500,000& * 1.4% 189
OHLEESFEEHE2 13,500,000& * 2.9% 392
O ABE =L =2 392,000& * 6.55% 26




Jla: m&I| B SN EHRAL BAANAD
HE: AYSH
Crel: EAOBAA JlU RS (S &2)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
ONgMEE 2 13,500,000& * 1.3% 176
201 LEt2AY| 4,800 4,660 140
01 AFR2t2l bl 4,800 4,660 140
O HASAHE =X}l 10,000& = 100 1,000
OXNIEEAHAZ AIHAHE IO
10,000& = 100 1,000
OSSR HE Il 120,000 * 10& 1,200
OQIAMA AM(NSUHSAIAANL 35)
300,000& * 3= 900
O MY 2= 70& * 10,0000H 700
203 PR =&lY| 3,000 3,000 0
03 Al Z=X SR =AH| 3,000 3,000 0
oOBAAMY =X 3,000,000& 3,000
206 M= Hl 2,310 1,410 900
01 &2 bl 2,310 1,410 900
O2¢c,ste , detxG A 2 1,810
OME =X E8 MM 125
70,0008 * 133 910
OZEUAHH 2 2= M ZH| 150,000 * B6MIE 900
OFA 2283 (2SS, 58X S)
100,000& * 5& 500
301 dBtE A= 13,000 13,000 0
01 MIIBEEE2G2 1,000 1,000 0
OHIIIIES MUXN /=22 1,000,000& * 1H 1,000
12 JIEtE &2 12,000 12,000 0
OB5KI0I A ol &HXF 2 HIHI
1,200& = 10,0004 12,000
307 212t01 & 4,125 13,256 AN9,131
01 el =l 4,125 13,256 N9, 131
oO=2cxzsd 29 3,125
OMZIIXEI ME S 60,000& * 20& 1,200
Oxdgx=H 7,700& * 2505 E 1,925
ollgazdy 1,000
OUE L ARE(SAYAD 5mgll 29F)
50,000& = 20 1,000
401 Al HI YL 2 0HHI 2,500 2,500 0
01 A& HI 2,500 2,500 0
Oxz, BAEH RA22] 500,000& * 53| 2,500
405 XtabF SHI 5,100 2,894 2,206
01 AL 2B F SHI 5,100 2,894 2,206
O = AtJ| 4,500,000& *1CH 4,500




A2 S AIE Jet =

SN -FH-SA(BA) - HRAY - B 0l &t o8 il HlnE2
OF M AHIEtDI 600,000&  1CH 600
SAEAX A &X 685,960 685,960
| 118,000
< 29,500
Al 538,460
401 Al Bl 28I 500,000 500,000
01 A& HI 500,000 500,000
O&I= ZAtHI 500,000, 000& 500,000
405 THebH S| 185,960 185,960
J| 118,000
= 29,500
Al 38,460
01 AL = ZH S| 185,960 185,960
OXsgE A 1,900,000& 1,900
| 1,266
< 317
Al 317
O gt MA AR 2,200,000 2,200
J| 1,466
< 367
Al 367
oW ZHtol=2 6,900,000& * 2CH 13,800
| 9,000
< 2,000
Al 2,800
OoMd==247] 9,900,000 9,900
J| 6,000
< 1,600
Al 2,300
OSEMBE=EI 7,900,000 7,900
| 5,160
< 1,317
Al 1,423
O0tM T 22 =ZolJl =EI
5,900,000 5,900
| 3,730
== 984
Al 1,186
oxs €230 5EI 5,400,000 5,400
J| 3,600
< 900
Al 900
o= 0| 4,400,000 4,400
| 2,830
= 734
Al 836
OEEg & O 2,200,000& = 2CH 4,400
| 2,832




Jlp: mao|m SN SEEAA BAAYD
M AL S
ool BAAZ AL J|etR s (&t
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
= 734
Al 834
©d & 1,800,000& * 2CH 3,600
J| 2,300
= 600
Al 700
OB EZect0l ol 1,800,000& = 2CH 3,600
| 2,300
< 600
Al 700
ogaEH A 1,800,000& * 2CH 3,600
| 2,300
= 600
Al 700
OESIAH HA 1,700,000& =+ 2CH 3,400
| 2,260
= 567
Al 573
oZdA Hal 1,700,000 * 2CH 3,400
| 2,260
= 567
Al 573
(OFig PSR 3,500,000& * 2CH 7,000
| 4,660
< 1,107
Al 1,233
oZudd = Xz 2,000,000 = 2CH 4,000
J| 2,660
= 667
Al 673
0371 Xz 5,000,000& = 2CH 10,000
| 6,560
< 1,636
Al 1,804
QJIs® HMIINIXZII 5,000,000& = 2CH 10,000
| 6,560
< 1,636
Al 1,804
(CES=JISE=P] 4,000,000& =2CH 8,000
| 5,330
= 1,333
Al 1,337
oJIgEdll 3,000,000& 3,000
| 2,000
< 500
Al 500
oNMg=z2ss EdolE ¥ 7,000,000& 7,000
| 4,000
< 1,000
Al 2,000




EPlE, FAM: EG9224a EAASD
TE
HoAZ AL DBt 2= )
SA BB S(BA) - MM - BES il 2
OMATEN 20| 1,000,000 = 2CH 2,000
J| 1,330
= 334
Al 336
O4oIEREE Halls =& 1,200,000& 1,200
J| 800
= 200
Al 200
OAHHEYH =& 2,000,000& 2,000
J| 1,332
= 334
Al 334
o=g2s7l 1,600,000& = 2CH 3,200
J| 2,130
< 533
Al 537
oOxsE2AE &N 11,000,000& 11,000
J| 7,334
< 1,833
Al 1,833
OdE D [ItY A 8,000,000& 8,000
J| 5,334
< 1,333
Al 1,333
O&Nts YA 4,000,000& 4,000
J| 2,666
= 667
Al 667
OLUSEAXNS (Z0IZ) 16,080,000 * 2CH 32,160
J| 18,000
< 4,500
Al 9,660
oICHP| DMAT 29 1,000 0 1,000
J| 700
< 300
307 gl2tol & 1,000 0 1,000
J| 700
< 300
01 222l 1,000 0 1,000
OSSAZME(FRSE) 1,000, 000& 1,000
J| 700
< 300
gyael A 2= 2,315,655 2,283,285 32,370
= 16,536
J| 937,789
< 338,745
A as 61,262 48,530 12,732
101 1244 dl 18,022 16,962 1,060
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Jlak: A& FMN: SHEAL EAHAIS L
M AYEZ
S ZgEgae A 2= =
= - — SHE|
MR 2N FB-BA(E) - MRAY - BAS 0l &F 24 e Hl D= 2t
OZd 222 5002 * 23 * 4005 400
ongdsy 24 1,440
OW&E Mal 603 * 20,0008 1,200
odzdyl 2= & 120,000& * 28fA 240
OZYEE RUHEA W= 680
(OF2 YN =1 180,000& * 12/ 180
O8=+9% 100,000& * 14 100
OWsWM 5,000& =« 80% 400
ooz g2 1,000& = 50074 500
02 3322l 300 3,300 A 3,000
OZHA WAMA ZHRBI| 4RI YT Y
ZHwE 150,000& * 274 300
307 glz2tol & 178,342 528,054 AN 349,712
01 =2 =4l 158,142 508,803 A 350,661
oHgEss 24 90,247
OUYES AB(ABSLARAES 2J2F)
30,082,300& * 3& 90,247
oOZa 29 299
Og & 23,000& = 134 299
OdAMNA 2 67,596
OB ZA(MANAIXIL 305)
90,000& * 1502 13,500
OMEZEeA3.02 158 195,000& * 1402 27,300
Ogel& At 90,000& * 170& 15,300
OYZE, SctolCior & At 13,000& * 820A 10,660
OAE2tE ZAH(IgM2l 13)
418,000 » 29 A 836
05 RIZIRI &3 20,200 19,251 949
Ostdld 2tel 20,200,000 20,200
=IHEES A Al 1,682,868 1,199,256 483,612
J| 841,434
< 249,196
Al 592,238
101 @124l 21,556 21,556 0
J| 10,778
Al 10,778
04 JI2ZtHZ22HEE = 21,556 21,556 0
ONEZESE=HH 22|
21,556,000& = 1H 21,556
J| 10,778
Al 10,778
307 21201 A 1,661,312 1,177,700 483,612
J| 830,656
< 249,196




ol x| B SH: BUEAL AN
Hu: ALSA
Ee: Zggae HAH 25 (&t
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
Al 581,460
o1 s R=dl 704,762 217,458 487,304
OBHA Ol AEH|(138) 704,762,000 704,762
Jl 352,381
o= 105,714
Al 246,667
05 QI2t &2 956,550 960, 242 N 3,692
OBE 2t £22tH M2 AIE 16,282,000 16,282
J| 8,141
[ 2,442
Al 5,699
Odog ®ZEHI(108) 940,268,000& 940,268
Dl 470,134
= 141,040
Al 329,094
OlZHAE S ALS 191,031 186,389 4 642
o= 57,309
Al 133,722
307 QI2t0| & 191,031 186, 389 4,642
= 57,309
Al 133,722
01 s =l 191,031 186, 389 4,642
OCEZAHA HUESAIE 191,031,000 191,031
& 57,309
Al 133,722
Ol 2L et 40,000 39,742 258
J| 20,000
= 5,952
Al 14,048
202 o4 H| 320 320 0
J| 160
Al 160
01 2L HI 320 320 0
W0l =2l S= 2ol = oyl
20,0008 = 16¥ 320
J| 160
Al 160
307 2iz2to| & 39,680 39,422 258
J| 19,840
== 5,952
Al 13,888
01 e =l 13,174 22,620 N9,446
oY XICHAl < 1,758,000 1,758
J| 879
o= 264
Al 615
OO0l = &ICHAl 2 11,416,000& 11,416




Jlak: A& FAM: EG9224a EAASD
HE: AYSH
Sel: Agyme HH PS (S &2)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Jl 5,708
< 1,712
Al 3,996
05 RIZHRI & 3 26,506 16,802 9,704
OO0oI=& Xt & ZHl 26,506,000 26,506
J| 13,253
< 3,976
Al 9,277
SdEASEATHAY 13,200 13,200 0
J| 6,600
< 1,980
Al 4,620
307 21201 A 13,200 13,200 0
J| 6,600
< 1,980
Al 4,620
01 92724l 13,200 13,200 0
OdHAC Al 2 13,200,000& 13,200
J| 6,600
< 1,980
Al 4,620
Z S0l 2 ALY 60,610 67,140 A 6,530
J| 30,305
< 8,732
Al 21,573
201 £B-2dH| 5,000 0 5,000
J| 2,500
< 750
Al 1,750
01 At 22l 5,000 0 5,000
ozZda2d 5,000
Ocla 850& * 1,00001# * 2& 1,700
J| 850
< 255
Al 595
OEEE2(2E#228)
1,000& = 33 = 1,0004 3,000
Il 1,500
S 450
Al 1,050
OZ & X+ A i Sl 15,000& * 203l 300
J| 150
< 45
Al 105
202 044l 2,400 2,400 0
J| 1,200
Al 1,200
01 SLHOIYI 2,400 2,400 0
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Sl gyl MM RE (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
oxgHae FRFA 04
20,000& = 10& ~ 120HE 2,400
J| 1,200
Al 1,200
301 et d = 14,000 0 14,000
J| 7,000
< 2,100
Al 4,900
01 MBIEBEZE+05l= 14,000 0 14,000
OYRTINLRH & MAHIXR
14,000, 000& 14,000
J| 7,000
< 2,100
Al 4,900
307 glz2tol & 39,210 35,860 3,350
J| 19,605
< 5,882
Al 13,723
01 22272l 20,178 2,340 17,838
OLTH S22l PPDAI S 3,600,000& 3,600
J| 1,800
< 540
Al 1,260
OZHAZS I A 16,578,000& 16,578
J| 8,289
< 2,487
Al 5,802
05 RIZtE = 19,032 33,520 A 14,488
Ogod FEX HAH| 19,032,000 19,032
J| 9,516
< 2,855
Al 6,661
St 2 At M Hl XI& 28,854 26,744 2,110
2 14,427
< 14,427
301 et a = 28,854 26,744 2,110
2 14,427
< 14,427
01 AR 2Z A5 3 28,854 26,744 2,110
Ogtdl2Z2 I+ MAHH K& 1,603,0008 * 18Y 28,854
2 14,427
=) 14,427
AL HE22ZA HEFA 920 920 0
2 460
Al 460
201 £B-2dH| 920 920 0
= 460
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J| 2k =J| & 2N EEE2AHAA BAAG DL
o AL S
e g £ AH2AXI|D| HR| A )
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
oJ|laeg2 1,163
O=Z20AZ22E= 11,281,000 * 4.5% 508
OlEgssedg2 11,281,000 * 1.4% 158
OAdEBg 8232 11,281,000& * 2.9% 328
O YEE=LEY 328,000€ * 6.55% 22
O EE = 11,281,000& * 1.3% 147
O SEHLSTANY 4HHEE S J|2HAEES 49,229
O=20d=8d=2 478,400,000& * 4.5% 21,528
Oolnaggsede=z 478,400,000 * 1.4% 6,698
OHLeEEsELZ 478,400,000& * 2.9% 13,874
OMINLAESE =2 13,874,000 * 6.55% 909
OUNLTHHEESE 2 478,400,000 * 1.3% 6,220
O SEAHLSEAY JI2HH SXNEQNE L H
Skl .l 700,000& * 239 16,100
201 2Et24A Y| 1,040 1,040
01 AP 2t 2] H| 1,040 1,040
OMAEA=24D] EY 260,000 = 20H = 23| 1,040
CERIE (YR MRUADS 3,000 A2,000
J| 1,500
Al 1,500
307 212t0| ™ 3,000 3,000
J| 1,500
Al 1,500
05 QIZtR &S 3,000 3,000
(OFSERIR=NmE=2:] 3,000,000& 1H 3,000
J| 1,500
Al 1,500
I =N 263,295 N 28,705
J| 131,647
&< 39,494
Al 92,154
101 Q124 H] 13,101 N 3,183
J| 6,550
= 1,966
Al 4,585
04 JI2ZtHIZ22NEE S 13,101 N 3,183
OJI2ZtMZ22NHEE 5 13,101
Oet ZEAIY olAHH| 11,910,000 = 1H 11,910
J| 5,955
& 1,787
Al 4,168
o4 =2 11,910,000 = 10% 1,191
J| 595
o= 179
Al 417




Jl2t: AEJ| 2 FMN: SHEAL EAHAIS L
2
(=)

x
Ha:
Al

Helr Mg &5 A2 X310 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

307 glz2tol & 250,194 273,196 A 23,002
J| 125,097
& 37,528
Al 87,569

05 RIZtRE = 250,194 273,196 A23,002
OZ &AL 62,548,500& = 43] 250,194
J| 125,097
= 37,528
Al 87,569

22 = XA 550,109 650,000 299,891
J| 275,054
< 82,516
Al 192,539

301 et 4= 550,109 650,000 299,891
J| 275,054
< 82,516
Al 192,539

01 MEIBEE 253 550,109 650,000 299,891
ogstkt of=dl X& 550,109, 000& 550,109
J| 275,054
< 82,516
Al 192,539

MM 2238 8,049 4,817 3,232
J| 6,439
Al 1,610

201 £B-2%| 646 450 196
J| 517
Al 129

01 At 22l 646 450 196
OMfMED A2HE EE 646,000& 646
J| 517
Al 129

307 glz2tol & 7,403 4,367 3,036
J| 5,922
Al 1,481

05 RIZteIE = 7,403 4,367 3,036
QMM AZAE 7,403,000& 7,403
J| 5,922
Al 1,481

==L ALY 44,739 44,753 A4
= 35,791
< 2,684
Al 6,264

307 21201 A 44,739 44,753 A4
= 35,791
< 2,684
Al 6,264




Jl2t: AEJ| 2 FMN: SHEAL EAHAIS L
HE: AYSH
Helr Mg &5 A2 X310 (Sl & &)
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
05 RIZtR & = 44,739 44,753 N4
oAzgs0==2X 2 44,739,000 44,739
= 35,791
< 2,684
Al 6,264
—2EH 23,067 22,605 462
101 @124 4] 15,867 15,155 712
04 JI2ZtH 22 EE = 15,867 15,155 712
OTLEAH L2 (XA
50,000% = 19 » 275¢ 13,750
OPIEE = =) 2,117
O=0d=2E=3 13,750,000& = 4.5% 619
OCLEEE=RE= 13,750,000& = 1.4% 193
OHLESEESRES 13,750,000 * 2.9% 399
OIIRYEEEFEE=  399,000& * 6.55% 27
OdMZMolEE = 13,750,000 = 1.3% 179
OJIZtH SXEQE 2 HAESIHH
700,000& * 1¥ 700
201 ¢4l 1,700 1,950 A 250
01 AFR 22l 1,700 1,950 A 250
oRLEA =¥ 1,000& * 800% 800
ocl=g 500& * 4000H 200
ousg IAs 1,000& = 50074 500
OFLE2AdAHK2AUE 40,0003 = 504 200
307 glztol & 5,500 5,500 0
01 222l 5,500 5,500 0
Oxnzzs 24 3,000
O#ELAR 198 150,000& * 205 3,000
O PAEAA(4Hn) 2 2,500
OAHEZR 143 100,000& * 155 1,500
o282 95 100,000& * 105 1,000
O XIEE A 134,416 217,400 A 82,984
J| 67,208
< 20,162
Al 47,046
307 21201 ™ 134,416 217,400 A 82,984
J| 67,208
< 20,162
Al 47,046
05 B2t &= 134,416 217,400 A 82,984
O = Xl (65M~74MI) 1,950,000& = 129 23,400
J| 11,700
= 3,510
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Jl2t: A0 2A SCYEAHA BAHAY D
M AL S
CHe: ME = AH2AXI|D] (ct
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
Al 8,190
O &2 X|(75MI0]4) 426,7508 ~ 8 3,414
J| 1,707
= 512
Al 1,195
O 29Xl (65KI0]4H) 2,800,000& » 379¥ 103,600
J| 51,800
& 15,540
Al 36,260
OAIZ 22| 4,002,000 4,002
J| 2,001
= 600
Al 1,401
KNS AFS] A2 XA 48,144 48,144 0
p] 24,072
Al 24,072
202 044l 1,500 1,500 0
J| 750
Al 750
01 2L Y| 1,500 1,500 0
OXAAS ALZA BSOHY]
750,000 = 29H 1,500
J| 750
Al 750
307 QI2t0| & 46,644 46,644 0
J| 23,322
Al 23,322
05 QIZtRES 46,644 46,644 0
O XS AZ HZ XA 46,644,000 * 13| 46,644
J| 23,322
Al 23,322
NEAS SEHLSEAY 854,810 0 854,810
Jl 427,405
= 85,481
Al 341,924
101 e1214| 508,300 0 508,300
J| 254,150
o= 50,830
Al 203,320
04 J|I2ZtHIZ22NEES 508,300 0 508,300
© Q4| 1,600,000 = 23¥ * 1204 & 441,600
J| 220,800
& 44,160
Al 176,640
O& &3 1,600,0008 * 23H 36,800
J| 18,400
= 3,680
Al 14,720




Jl2t: AEJ| 2 FMN: SHEAL EAHAIS L
2
(=)

x
Ha:
Al

CHe: ME = AH2AXI|D] (2 &HH)
AR .SN Y. (3H) - NBAY - BES Ol &F o4 ﬁlf& HD=2
O=& 0l 100,000 = 23"¥ * 1204 27,600
J| 13,800
o= 2,760
Al 11,040
o2z X H=4| 100,000& * 239 2,300
J| 1,150
< 230
Al 920
201 LBt 93,260 0 93,260
J| 46,630
= 9,326
Al 37,304
01 At 22l bl 93,260 0 93,260
(OFINE= 100,000 * 1763l 17,600
J| 8,800
o= 1,760
Al 7,040
o2 ¢ usks
1,000 = 10 * 4,480M 44,800
J| 22,400
o= 4,480
Al 17,920
oArBE 1,000 ~ 20& = 1,0159 20,300
J| 10,150
< 2,030
Al 8,120
OYEEHAH A 2N =H|
480,000& * 149 6,720
J| 3,360
== 672
Al 2,688
OUAISEZ0 g2 HAZD
48,000 * 40CH = 24 E 3,840
J| 1,920
=) 384
Al 1,536
202 04t 5,700 0 5,700
J| 2,850
= 570
Al 2,280
01 2L Y| 5,700 0 5,700
Ons ¥ EXNHY 20,0002 * 7% » 30 4,200
J| 2,100
o= 420
Al 1,680
(OFSE =R SR = e SR E= N E=X0: K|
20,000& * 75 1,500
J| 750
& 150
Al 600




Jla: A& FAM: EG9224a EAASD
M AL S
Sl ME & AN g
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
301 et d = 5,000 0 5,000
J| 2,500
< 500
Al 2,000
12 JEEd= 5,000 0 5,000
SHESNIES 10,000& * 500 5,000
J| 2,500
= 500
Al 2,000
307 21201 A 236,290 0 236,290
J| 118,145
< 23,629
Al 94,516
01 92724l 206,790 0 206,790
o=zdExH 20,000& = 2,500 50,000
Jl 25,000
< 5,000
Al 20,000
OEEAZHI 64,0003 = 120H& = 1009Y 76,800
J| 38,400
< 7,680
Al 30,720
oRlg=E3z3AE 61,4003 » 35 2,149
J| 1,075
< 214
Al 860
OEIAERIS 500& = 28 » 3,1519 3,151
J| 1,575
< 316
Al 1,260
O=A2 T Z L4 2,500& = 5,800 14,500
J| 7,250
< 1,450
Al 5,800
OYLURHMTM(HEUHEOSSAIY)
4,710,000 4,710
J| 2,355
< 471
Al 1,884
OYLUSHZNM(HEUUHEOSSAY)
55,480,000& 55,480
J| 27,740
< 5,548
Al 22,192
04 QIZ2HHALE = 13,500 0 13,500
Oz ellI2HIIUE 13,500,000 = 13l 13,500
J| 6,750
< 1,350
Al 5,400




ol =

x
Ha:
Al

SRl ME & AL XTI CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
05 QIZtR E 2 16,000 0 16,000
OXIHZ=D|IZ A 80,000 » 200H 16,000
J| 8,000
o= 1,600
Al 6,400
405 KHoHFE S HI 6,260 0 6,260
J| 3,130
= 626
Al 2,504
01 JHMY 2= EF S HI 6,260 0 6,260
OBIE=Ed ZelgD 800,000& ~ 1CH 800
J| 400
& 80
Al 320
oolsgdAsdEA)| (T2l Es)
5,460,000 = 1CH 5,460
J| 2,730
& 546
Al 2,184
XNOHE3S0 2 7,998 0 7,998
J| 3,999
&< 800
Al 3,199
201 Bt 300 0 300
J| 150
& 30
Al 120
01 AP 22| H| 300 0 300
OXs=30etns E8AElHA
150& = 2,0004 300
J| 150
& 30
Al 120
301 Bt A= 1,200 0 1,200
J| 600
== 120
Al 480
10 HAFAHI B &2 1,200 0 1,200
OXME20eY 2 2tAH|
30,000 = 403] 1,200
J| 600
& 120
Al 480
307 2iz2to| & 6,498 0 6,498
J| 3,249
= 650
Al 2,599
01 s R=Hl 6,498 0 6,498




Jl2t: AEJ| 2 FAM: EG9224a EAASD
Ha: AYSH
Helr Mg &5 A2 X310 ool E )
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OZ2dAdHE&d E)
6,498& * 1,000 6,498
J| 3,249
< 650
Al 2,599
EHAAES 5 ¥ A2 =4 1,602,833 1,354,332 248,501
J| 458,153
=2 123,462
< 206,439
gEEA 21,800 68,592 N46,792
201 £B-2d| 3,000 5,000 A 2,000
01 At 22l 3,000 5,000 A 2,000
OJI=ZA A& & E2S
500& = 1,00001 » 63 3,000
301 et A3z 300 3,000 22,700
10 #AHAHIEAZ 300 3,000 22,700
OMNASALA SATA WKL
30,000& = 109 300
307 21201 A 18,500 20,500 A 2,000
01 =L =4l 18,500 20,500 A 2,000
OYEEA & IHELSAY 17,000
OO0t=0t& 2l 115 30,0008 * 12& * 1504 5,400
OZ LM 35 20,0002 * 45 * 12004 9,600
OgstedMa 5,000& = 4004 2,000
O0ls =3ld& 1,500
Oo0ls =3dz2 125,000& * 123 1,500
et Tt el Ab (IOt Y ) 8,362 8,362 0
J| 4,181
< 2,090
Al 2,091
201 et 200 200 0
J| 100
< 50
Al 50
01 At 2t 2l 200 200 0
OMIte 2tefAtd =2 2HARH]
100,000& * 23l 200
J| 100
< 50
Al 50
301 et d = 180 180 0
J| 90
< 45
Al 45
10 HALAHI 242 180 180 0




Jl2t: AEJ| 2 FMN: SHEAL EAHAIS L
2
(=)

Ha:

Sl ARHANE PE U ABHY =4 (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
OMIIY 22lAlE AZ22Y S 4|
6,0008 » 15 x 23| 180
J| 90
o=t 45
Al 45
307 2iz2to| & 7,982 7,982 0
J| 3,991
== 1,995
Al 1,996
01 e =l 7,982 7,982 0
OAEI 45 L ADE 15,350& * 520 7,982
J| 3,991
= 1,995
Al 1,996
SIAUXSEEEXNSH AR 543,924 502,432 41,492
J| 271,962
& 81,589
Al 190,373
307 QI2t0| ™ 543,924 502,432 41,492
J| 271,962
= 81,589
Al 190,373
05 QIZtREZ 543,924 502,432 41,492
O3 HUXSEEEX 2 SH| 543,924 ,000& 543,924
J| 271,962
& 81,589
Al 190,373
HAEA 100, 150 15,300 84,850
201 2eted 21,150 7,300 13,850
01 AP 22| 21,150 4,800 16,350
O XI0H 2t ANEE=
1,000& = 3,000% 3,000
odNE Al 18,150
OA2 1,650,000& * 11& 18,150
307 212t0| & 79,000 8,000 71,000
(RSl p=R=T 7,000 8,000 A 1,000
O X| O &t 7,000
OZXlo = 40,0008 = 1759 7,000
05 QIZ2HR E 72,000 0 72,000
O H AL &
72,000,000 * 102 72,000
XN At HEHEY 8,240 8,240 0
= 1,500
= 2,060
Al 4,680




Jla: m&I| B SN EHRAL BAANAD
HE: AYSH
Sl CIRFGNS 7S Y AYHE T4 CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 8,240 8,240 0
=2 1,500
< 2,060
Al 4,680
01 22272l 8,240 8,240 0
OXIHSXBIINAHEL 43 8,240,000 8,240
& 1,500
= 2,060
Al 4,680
XWX Z2el8l XI& 76,320 62,582 13,738
J| 38,160
< 11,448
Al 26,712
201 Let2d] 2,000 1,800 200
J| 1,000
< 300
Al 700
01 At 22l 2,000 1,800 200
OXIN XI2Xd 822 1,000& *2,0000H 2,000
J| 1,000
< 300
Al 700
307 gl2tol & 74,320 60,782 13,538
J| 37,160
< 11,148
Al 26,012
05 RIZHRI & 3 74,320 60,782 13,538
OXION Xl 24l 74,320,000 74,320
J| 37,160
< 11,148
Al 26,012
ASUGHEH2S 135,100 135,100 0
J| 67,550
< 20,265
Al 47,285
307 21201 A 135,100 135,100 0
J| 67,550
= 20,265
Al 47,285
05 RIZteIE = 135,100 135,100 0
ogEagHH 29 135,100,000& * 1JH A 135,100
J| 67,550
< 20,265
Al 47,285
A EAEH2A 152,600 152,600 0
J| 76,300
< 22,890




ol &I B SN EHRAL BAANAD
Ha: AYSH
Sel: OEHUNS RS Y ALY =4 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Al 53,410
307 glz2tol & 152,600 152,600 0
J| 76,300
< 22,890
Al 53,410
05 RIZtE = 152,600 152,600 0
OBABAHEH 2IHIXH
152,600,000& * 1JH A 152,600
J| 76,300
= 22,890
Al 53,410
AN EHAEL2EH X 451,711 0 451,711
&2 121,962
< 45,171
Al 284,578
307 glz2tol & 451,711 0 451,711
&2 121,962
= 45,171
Al 284,578
02 QIZtFAE X 451,711 0 451,711
OFAMAEASI=EHAE 288 451,711,000 451,711
= 121,962
< 45,171
Al 284,578
XIOHEX =2AESAIE 012X 104,626 0 104,626
< 20,926
Al 83,700
307 21201 A 104,626 0 104,626
< 20,926
Al 83,700
05 RIZt2IEt = 104,626 0 104,626
OXIHEX =2AESAIE 0IEX
104,626,000 104,626
= 20,926
Al 83,700
DY Ots2 A2 A 2H 5,922,896 5,054,203 868,693
= 262,345
J| 386,290
) 1,328,459
S EY 816,670 414,320 402,350
201 Lt 7,600 10,520 A2,920
01 At 22l 7,600 10,520 A 2,920
OZXE=E2d4 24 3,000
O XNEAHALY oL AT
1,000& = 3,000H4 3,000
OYUE SLEHna 24 2,640




ol 0|2 SA: EGEAL 22 +
Ha: AYSH
e 240 Ots2 H2LAE RS (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
O A2 110,000 = 23 = 12&€ 2,640
OHI0olHl QAR RA 29 560
OS A2 70,0008 * 83l 560
ORR+w ZHC 222 1,000& = 70004 700
OU/NES Y A EE = 1,000 = 70074 700
301 et A= 769,000 362,500 406,500
01 Al B & A 462 769,000 362,500 406,500
OsNEHAZ2 X 769,000
O1x 4 300,000& = 2,500H 750,000
O2xt 4 500,000& = 18H 9,000
O3XHH 0] & 1,000,000& * 10¥ 10,000
307 2Iz2t0| & 40,070 40,000 70
01 s =t 40,070 40,000 70
OYAE AAH(H=2M, SAHH)
10,000& = 800 = 53| 40,000
Ohg, B AE 7,008 * 108 A 70
SAMEHZ2 X 4,017,600 3,576,960 440,640
= 1,205,280
Al 2,812,320
301 et A= 4,017,600 3,576,960 440,640
= 1,205,280
Al 2,812,320
01 Al B & A 462 4,017,600 3,576,960 440,640
SEMNEHZ 4,017,600
O=mot 1,200,000& = 2,160 2,592,000
& 777,600
Al 1,814,400
OA ROl & 2,400,000& * 594H 1,425,600
& 427,680
Al 997,920
G2 AAMNS (EXoSEYH]) 27,373 0 27,373
J| 13,686
< 4,106
Al 9,581
101 e1214| 27,373 0 27,373
J| 13,686
=} 4,106
Al 9,581
04 J|12ZtHIZ22NEES 27,373 0 27,373
OHUHALEEXR Bxola o]
27,373,000& * 1 27,373
Dl 13,686
o 4,106
Al 9,581




ol H&)|B SH: EGEAL BANSD
Ha: AYSH
2 240 0fs2 AZAS2E (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
LHASLXAY (A BSF A=) 126,134 126,575 A 441
J| 63,067
& 18,920
Al 44,147
307 gl2tol & 126,134 110,775 15,359
J| 63,067
< 18,920
Al 44,147
05 RIZtRIE = 126,134 110,775 15,359
Oels+=d A=t 126,134,000 126,134
J| 63,067
< 18,920
Al 44,147
HUSERNAAMS (HMA=T A=) 333,941 252,858 81,083
J| 166,971
< 50,091
Al 116,879
307 glz2+0l & 333,941 248,208 85,733
J| 166,971
< 50,091
Al 116,879
05 RIZt2IE = 333,941 248,208 85,733
OHM2+=F A=t 333,941,000 333,941
J| 166,971
< 50,091
Al 116,879
SHOSHZXNE (HAEMD JASAOAZHXR) 6,000 7,200 A 1,200
J| 3,000
< 1,500
Al 1,500
301 LA F 6,000 0 6,000
J| 3,000
< 1,500
Al 1,500
01 MI28HE 6= 6,000 0 6,000
OFAHLR B4 S4 2ZHIXH
1,200,000& * 5% 6,000
J| 3,000
< 1,500
Al 1,500
SHOSHZXNE(EEINEAHSH) 3,539 4,593 A 1,054
J| 1,770
< 884
Al 885
307 21201 A 3,539 4,593 A 1,054
J| 1,770
< 884
Al 885




-

Jla: m&I| B SH BHEAL SAANAD
M AL S
e 240 Ots2 H2LAE RS Cf
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
05 QIZtR E S 3,539 4,593 A 1,054
OE=2NHEAHEH 3,539,000 3,539
Jl 1,770
= 884
Al 885
S HAFOI A=A & &Hor2tel 89,872 89,892 A 20
J| 44 936
= 22,468
Al 22,468
307 QI2t0| & 89,872 89,892 A 20
J| 44 936
=} 22,468
Al 22,468
05 QIZtREZ 89,872 89,892 A 20
OHEH HAIOIA 2 AF & EHOoF22l
89,872,000 89,872
Jl 44 936
o 22,468
Al 22,468
Ol=0F & A4 OlMOF 2 =HI X 144,845 160, 806 A 15,961
J| 72,422
= 21,727
Al 50,696
301 et A= 144,845 0 144,845
J| 72,422
&< 21,727
Al 50,696
01 M EXE 252 144,845 0 144,845
O0/=s0t &€& AFAHOIAO0F S H XS
144,845,000 144,845
J| 72,422
o 21,727
Al 50,696
Ao H2 Y HA 9,180 9,180
J| 4,590
=} 2,295
Al 2,295
201 et | 832 832
J| 416
= 208
Al 208
01 AP 2t 2] H| 832 832
OQNMOF UHE IS =28 832,000 832
J| 416
= 208
Al 208
307 2iz2to| & 8,348 8,348




ol &I B SN EHRAL BAANAD
Ha: AYSH
2 240 0fs2 AZAS2E (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Jl 4,174
= 2,087
Al 2,087
05 RIZtE = 8,348 8,348 0
Ol MOF HE XI| 8 8,348,000& 8,348
J| 4,174
< 2,087
Al 2,087
A2 AMOtE L0l 327,931 345,757 A 17,826
= 262,345
Al 65,586
307 21201 A 327,931 345,757 A 17,826
= 262,345
Al 65,586
05 RIZt2IEt = 327,931 345,757 A 17,826
Q&2 AIMOt =201 K& 599,508 * 547H 327,931
=2 262,345
Al 65,586
0] R = 19,811 7,108 12,703
J| 15,848
< 1,188
Al 2,775
201 €24 4,385 4,079 306
J| 3,508
< 263
Al 614
01 At 2t 2l 4,385 4,079 306
OgR0t AL H A SEH| 4,385,000& 4,385
J| 3,508
< 263
Al 614
301 et a = 8,983 0 8,983
J| 7,186
< 539
Al 1,258
01 MEIBEE 263 8,983 0 8,983
OLE T 2Aa0ts =&l 8,983,000 8,983
J| 7,186
< 539
Al 1,258
307 glz2tol & 6,443 3,029 3,414
J| 5,154
< 386
Al 903
05 RIZtR & = 6,443 3,029 3,414
OZg70t AL & 6,443,000& 6,443
J| 5,154




Jla: m&I| B SN EHRAL BAANAD
HE: AYSH
SH9l: RED 0lSO A AE R CERED
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
= 386
Al 903
SEEHAIE SAIEAHANASY 131,250 0 131,250
SAXNA29 & 22| 110,642 0 110,642
201 LEr2 Y| 17,265 0 17,265
01 At 22l Yl 10,435 0 10,435
O&ZJ NMAEIIBA====5 150,000& * 33 450
(OFSPIRIFSR -y = 500,000& * 3& 1,500
oagtetgi2e| == 150,000& * 3& 450
OZEAHHIIZ2 X2l 200,000& = 3& 600
OAIRE AZEY N 2,700
OoMse Il A 270,000& = 104 2,700
OFAN ¥ =X& 22 900
OLYH =T e 5,000& * 304 150
O& 2 OFLY A Al B 500,000& * 14 500
O =23 HIEHE 250,000& * 1H 250
OxXE M= 2,500,000& 2,500
oRE2 335
Oget 270& = 150 * 3& 122
O&II 1,770& = 408 » 38 213
o8& L AIRA EUHE 250,000& * 44 1,000
02 332494l 6,830 0 6,830
(OFSPIE=3 1,000,000 * 3& 3,000
osRddsz 10,000 * 3& 30
O Xt &= Xl Hl 1,500,000 = 2CH 3,000
(OPNE=PNE=R= 400,000 * 2CH 800
206 M = Hl 4,691 0 4,691
01 X2 bl 4,691 0 4,691
OAIR 4 EJ| BiXl ZHEIY 47 A6
25,000& * 7& x 104 1,750
OFANA2IES 1,736
O3JI8eH 7,000& * 8 56
Oz&A XAsHIl AE 20,000& = 8IH 160
Ost&E A sl=E2Z 0] 100,000& * 8H 800
O8=E= 45,000 = 28tA = 8| 720
OFHALEE 60,000& » 585 » 3& 900
oMyIISE 9,300 * 50 * 3& 140
O8I M+~ 16,500& * 102+ A 165
307 212t01 & 4,710 0 4,710
05 A2t &2 4,710 0 4,710
OFA HAOH 1,400,000 * 1A + 38 4,200




Jla: m&I| B S HE-CLEE
HE: AYSH
Chel: SZEHAE ZABANL2Y (&)
AR .24 BH-BAGEN) - NRANY - BES il HlnE2
ORI MR Z HI 170,000 = 1JH4A + 3 510
401 Al B2 28I 500 500
01 A& HI 500 500
O=XtetiE &X 500,000& = 14 500
405 XHoHF S HI 83,476 83,476
01 XL =2 ZFH S| 83,476 83,476
(OJ=RaPNEAIR=2=-P g:] 6,062
OXl 2ol Al char )| 1,050,000& * 1CH 1,050
HE () 600,000& « 1CH 600
O M MIEDI 600,000& * 1CH 600
OCIXIE 2t et 500,000& = 1CH 500
OFE=p) 293,700& * 1CH 294
OHM22I 500,000& = 1CH 500
O&sHEAI (A E) 357,400 = 1CH 358
O=stE4adll 270,000& = 8CH 2,160
(OFSENEga] 35,800
oz &g 1,300,000& * 160K 20,800
Ozet=ZeH 4,000,000& « 1CH 4,000
OsHZgHy 1,500,000& * 1CH 1,500
OZelH(ME) 500,000 * 5CH 2,500
OZ2AE S| 600,000& = 1CH 600
O=AJ| 4,500,000& « 1CH 4,500
O=gl 350,000 *2CH 700
OTv 1,200,000& * 1CH 1,200
O1E2H 2 I3 3,465
o3E s 368,500 * 304 1,106
O&X 20l 264,100& = 204 529
OZHM 1,500,000& * 1JH4 1,500
OREEZED| 330,000& = 1H 330
015 &g4d 2 =4 2,754
OMa 180,000 * 304 540
O3Htols e 200,000& = 304 600
QOIE & 171,1002 = 304 514
OARE2Xt 300,000& « 2CH 600
Ozl k2ol it 500,000& 10K 500
015 SHBA(HEES)A 5,444
O &t 180,000& * 104 180
O3HolsMe 200,000& = 1H 200
(OFNE=g=F=J¥ 645,000 = 1H 645
OIEl & 1,711,000& * 2JH4 3,422
OAREXt 300,000& * 1CH 300
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Jl2t: AEJ| 2 FAM: EG9224a EAASD
Ha: AYSH
Chel: SZEHAE ZABANL2Y (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OAraI i 300,000& = 14 300
(O PNFNE=R=JCIPN; 60,0002 * 14 60
EHX4L A A2t 3,873 0 3,873
201 Let249] 748 0 748
01 At 22l 748 0 748
oMgselxzd 29 748
Oscxza M4 100& * 45 = 40004 160
OM&E 247 HEH 2 2WI=X
44,0003 * 28t~ 88
O8AHXN AN AL H =T Q1Y
20,0003 » 25% 500
307 21201 A 2,625 0 2,625
01 927 24| 2,625 0 2,625
o&z, AAEH FX 2l 500,000& = 23l 1,000
CE=FSpj 100,000& * 24 200
OtdaostE MHEHIE 2 58
5,000& = 5& = 504 125
OEdAIIFEA 2 298
20,000& = 30& = 20K 1,200
O&ASs HiF 2 483 A23
10,000& = 5& = 20K 100
405 TtobH S 500 0 500
01 AL ESFH SH 500 0 500
(OFSE=R=Feag: 500
OEd a3t 100,000& * 1K 100
Ox=2 2 100,000& * 14 100
OfEdsE B2 dF¥D 300,000& * 1CH 300
St E st zel At 3,308 0 3,308
307 glz2tol & 1,868 0 1,868
01 2222l 1,868 0 1,868
gdolgMis =5 AE 48,4002 = 204 968
O=FZAE 228 ALE
30,000& = 33 = 100K 900
405 TtabF S| 1,440 0 1,440
01 AL ESH SH 1,440 0 1,440
Ootolul Oiier= & A 190,000& * 204 380
oBelx gE=F)| 130,000 * 27K 260
O=dAHE FEI 800,000 800
HEEHAY 2,745 0 2,745
201 Let2d] 155 0 155
01 AP 2teltl 155 0 155




Jla: m&I| B SN EHRAL BAANAD
HE: AYSH
S SBEAHAE ZTABHANASYE (e &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
OUAMXIIIEE 2 HmYetA 3,100& = 504 155
307 QI2t0| ™ 1,240 0 1,240
01 el 2=l 1,240 0 1,240
od”Il(olsE0l) 60,000& * 2J4 120
oY=dz Sy AadlF 1,120
Oa=2H 2 138 40,000 + 145 = 24 1,120
405 XtabF S| 1,350 0 1,350
01 Mt =S F St 1,350 0 1,350
O S gl Al 3t 150,000& * 2CH 300
OEXLH =28 750,000& * 1H 750
OZAILZE ME B2 HH D
300,000& = 1CH 300
MEEAHAY 7,092 0 7,092
201 LEt2AY| 1,800 0 1,800
01 AFR2t2l bl 1,800 0 1,800
O=2c2lxg 2A0E HE 260,000& = 504 1,300
oW HH 100,000& * 5N E 500
206 2 b 533 0 533
01 T2t 533 0 533
SEEH A0E 133
oA I A 22,500 * 28 45
OHdMNEElA 44,0008 » 2& 88
OMEE2XE 400
=212 1085 22F 10,0008 * 55 = 8JH 400
307 QI2t0| ™ 641 0 641
01 ez =l 641 0 641
ong ¥ 22Xz 641
OASXNESM(REY 228)
10,000& * 3F * 1504 450
OHdXY IR E2HEH 9,900& = 5 50
os-H 141
-2& 8& 6,550 * 104 66
-2& 10& 7,470&3 = 104 75
405 XtabF S| 4,118 0 4,118
01 AL 2B F SHI 4,118 0 4,118
O M E | 518,000& * 1CH 518
o2cxzg i 300,000& = 5CH 1,500
oS XIZ I 180,000& * 5CH 900
© & X+l 1 X 100,000& * 1CH 100
QUDIAMK =SE22HE D 300,000& = 1CH 300
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N & 0l & Av S Z M A
Jl2t: AEJ| 2 M sgII=dH
M HH2IAZH (sEIIsdH)
Sel: o2y (B9 ®R)
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
SEPIERE 3,278,976 4,021,655 AT42,679
= 149,000
& 256,000
= 182,585
Al 2,691,391
HY2HZH (sII=4H) 345,387 1,159,064 AB13,677
el 2 HH| 160,159 1,076,226 A 916,067
QI 24l 160, 159 1,041,726 A 881,567
101 @124 H] 160, 159 1,041,726 A 881,567
01 2= 75,720 960,725 A 885,005
OAZZ2xH
8,476% = 2098 * 28AIZH » 128 56,959
OFYIUAXN FL2R+2(3Y)
6,503,700% * 1/26 = 1.5 = 502 18,761
03 RIAHAZ 22 84,439 81,001 3,438
OsJIAH=cld ¥ =2 75,193
ogs 47,164
b= 128 Xt 25,488,000& = 19H 25,488
-Ct= 1049 Xt 21,676,000& = 1H 21,676
Oo=¢ 18,909
-IESE 1,680
il < Xt 40,0003 = 2% » 123 960
=Hl5 20,000& = 3" « 128 720
“HEZ2E0I2)
358,000& = 1% = 128 4,296
-pEIZ2E(U2)
346,000& = 18 = 128 4,152
-522249(012)
8,9509 * BAI2H * 502 * 1Y 3,580
-EY2R4Y(0E)
8,650 * 8AIZ2H » 50 » 1H 3,460
-~ XA (OH)
31,088,000& / 365¢ » 11 937
“HX=g(U=)
26,676,000% / 365¢ * 11 804
OZ 2 FItyl 3,600
= 1,100,000& = 22|  1¥ 2,200
-C= 700,000& = 23 = 19H 1,400
Oz &l 120,000& » 128 » 29H 2,880
On st 110,000& * 128 * 29 2,640
OXNXHHNEFE = 8,686
O=0c=2E=3 75,193,000& * 4.5% 3,384
OLsEEERYE3 75,193,000& = 1.4% 1,053
OCHZL2EZRES 75,193,000& * 2.9% 2,181




Jlp: mJ|R A 59012
. HH YU (sYII=4H)
Sel: o2y (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
SEPIFEEEFEET]
2,181,000& = 6.55% 143
OMZMAKEE=ZRE S
75,193,000& = 2.56% 1,925
o=t 560
o= 90,0003 * 28 » 29 360
O F 3t 50,000& = 23 = 29H 200
Jl2Z3l 185,228 82,838 102,390
JlE2&l 185,228 82,838 102,390
201 24| 137,468 26,518 110,950
01 At 2t 2/l 36,309 24,002 12,307
OJl2gR+d 253 H| 8,300,000 8,300
O= &l 8,640,000 8,640
OS=g2=t(sJH=al , SH2E)
1,440,000 1,440
oAl 80,000& 115 9,200
OsgllasdHd MEF=E2 1,320
OosdX 15,000& = 38 = 128 540
OX X 13,000& = 5& = 12E 780
O+Z2 L OISANY ALL22
180,000& * 122 2,160
OFAMN HMIIGEHY =52 (12E 300kw)
237,380& « 123 2,849
OHA SRS 2D AYANE BAUBL4
= 200,000& = 123 2,400
02 =24l 101,159 2,516 98,643
oOXIRS 45,251
OFAN BrE(DYE) 31,359
ez 6,4703 * 60kw » 128 4,659
= =4 89& * 25,000kw » 12& 26,700
OHMN =gE(LLE) 5,052
-J22 1,070& = 57kw » 128 732
-xit= 36& = 10,000kw * 122 4,320
O=SEsJIH gueg(gers) 8,840
gz 5,610& = 60kw » 128 4,040
= =3 80& = 5,000kw » 128 4,800
O&stx A =& 420,000& = 13 420
O&HAN 283 EAZ  300,0008 * 28 * 23 1,200
oskesa 2,040
OgerdE st 50,0003 = 2CH = 123 1,200
O HUWEE3Hd 35000 * 23l& » 123 840
OAetME 3l 48,0008 =~ 12 48
OnExRLFE3 500,000& * 1& 500




Jl &
= ZH -
(=R B

el

AR RA - ZBEAGEH) - MRAY - BES il 2
O Xt XtAl 905
OsEsE 440,000& = 1CH 440
O=sdsd 58,000& * 1CH 58
O4dgst=s 59,000& * 3O 177
Os&st2 90,0002 * 1CH 90
OUEst= 140,000& 104 140
OXNESX HAZ 60,000& * 7CH 420
OXsxEE = 3,920
OsEs2 300,000& = 1CH 300
O=sdsd 300,000& * 1CH 300
(OFE =3I 620,000& « 3CH 1,860
Eg=leig— 270,000& = 1CH 270
OUiEst= 790,000& « 1CH 790
OX A X 200,000& * 2CH 400
OFAL=SESIIH g2 HHaMYEEH
5,000,000& * 13 5,000
odMEREE=S 1,800
OXts Xt 57,100& = 708 = 23l 800
OAE= 500,000& * 23] 1,000
O At & L]
1,395% » 44 = 6AI2t = 30H = 100 10,044
O#HA AHl =Xl 2,250
OTX= AL 4,500,000 * 2CH * 6% 540
OdioId=E-IE 1,500,000&  120H * 6% 1,080
OZAUEZE 3,500,000& * 3CH * 6% 630
O Xt& = Xl 2,000,000& » 704 14,000
O -ot== ASI(EASE2sIHLUESH)
400,000& = 123 4,800
O=gll=dH A, 2st8e2 AKXl
1,500& = 3,913m 5,870
O=ZEXNEAY 22 & ISt ELSES 2,691
Og et 2703 = 8,000 2,160
O}=p) 1,770& » 300 531
202 o4dl 42,760 38,760 4,000
01 = LH o4 1l 4,000 0 4,000
OJI2H R0 4,000,000& 4,000
02 M0 38,760 38,760 0
Osgll=dlH 23 XN
170,000& = 19¥ » 12& 38,760
203 YR =] 5,000 4,960 40
02 33t H 2= 800 760 40
OJI&ENA 40,000 * 209 800
04 BH2AAREAY| 4,200 4,200 0




Il M=o 2M: sHI|=HMEH
MM HHSEAH(SYISHEH)
el J|=22Y (ol &9
- _ _ RE!
AR .24 EHH O () - HEAY - BL2 Ol &k 04 %Eﬁ HRZ2
| | | ©309! 0l ot 350,0002 * 129 4,200
SEXNTAY 2,933,589 2,862,591 70,998
= 149,000
z 256,000
[ 182,585
Al 2,346,004
=) sHEH 29 87,789 180,567 A92,778
SIS HE 2922 87,789 180,567 A92,778
101 @121 4 4,342 4,086 256
04 JIZFH2RE2RNSE 2 4,342 4,086 256
OB™MBIISHY R 02
8,9002 * 1 * 102 * 103 3,890
OXXIEHMEL2 452
Oo=nuzegz 3,890,0002 * 4.5% 176
onggszsgz 3,890,0002 * 1.4% 55
ousEzzu= 3,890,0002 * 2.9% 113
OFIQYLHI LI 113,000 * 6.55% 8
odesgasez 3,890,0002 * 2.56% 100
201 Ler2 | 4,600 108,183 A 103,583
01 AL 22l 4,600 13,353 A8,753
020128 SEXNCAY BIBDAM K9
8,0008 * 2008 1,600
0201349 sEXNTAY JI2HE Harel
10,0009 * 1005 1,000
OSEXNTANY 228 22 JX
10,0002 * 200H 2,000
203 YR =& 2,000 2,000 0
03 Al =X A2 E XY 2,000 2,000 0
0=IzEs =X 2,000,000 2,000
206 M 24l 3,000 5,140 A2,140
01 Ml 3,000 5,140 A2,140
Z=)|2 JbRI| M2 3,000,000 * 1004 3,000
307 @I2t0| & 53,730 43,200 10,530
05 QIZtelEr2 53,730 43,200 10,530
OsYUIISHE HAMS  3,577,5002 * 12¢ 42,930
OHEAMN, 22| HED 20|
900,000 * 12% 10,800
401 A2 H 2 204Y| 20,117 0 20,117
01 Al& I 20,117 0 20,117
O=AUIISHE S g B4
30,8002 * 546 16,817




Jle: &I SN sYIEUH
M sEXNEMS
©9l: SIS HEH 2 (29l 8)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
FEEPEFEELEVEE
3,300,000& * 10024 3,300
SEXEMY =t 1,404,257 1,058,570 345,687
= 149,000
= 256,000
< 182,585
Al 816,672
HdEsI BEE4H 88,000 68,000 20,000
2 44,000
Al 44,000
201 £B-2d| 75,380 10,540 64,840
= 37,690
Al 37,690
01 At 22l 75,380 10,540 64,840
OZars 4 A2 W= 4,180
Cu=sit= 35,200& » 1008 3,520
2 1,760
Al 1,760
OZ A=< 110,000& * 2H « 33| 660
= 330
Al 330
OLdars |54 ALE dTsSs N
500,000& =« 83l 4,000
= 2,000
Al 2,000
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206 M= Hl 5,580 5,008
01 =8l 5,580 5,008
OHEZ dlw &AIE(4,000m ) 580
OB St 2,000& * 2kg » 1083 40
Otlz 20,000& = 38 33l 180
Odgol s LA 40,0008 * 3& * 33| 360
oHss ZZ H NI sAH 7
250,000& = 20ha 5,000
301 et A=z 19,600 A 1,400
10 HALAHI 242 2,400 600
OAEAE SEHIE FAX 24|
6,000& » 400 2,400
12 JIEtE 43 17,200 A 2,000
OHES Hlw dAIZ 28 BE43
300& * 4,000m 1,200
OzEd esdE 244 2,000,000& * 8EHX 16,000
307 gl2tol & 311,291 307,791
02 I A E X 311,291 307,791
OREZ P M MUIEED 311,291
ORJIE Hl=
6,400 » 120X = 170ha * 80% 104,448
Oz &d a4=H 223,400& = 170ha * 80% 30,383
Oz&sd o2 220,000& = 170ha * 80% 29,920
O &HHl 150,000& * 170ha * 22| * 80% 40,800
OOIAHEMM 200,000& = 170ha * 80% 27,200
o&=24ol 4,800 * 50kg * 170ha * 80% 32,640
O=dol HA ZXIH
150,000& = 1& = 170ha 25,500
Oz &d ol =Ll
60,000& * 170ha *» 23] 20,400
402 RIZ2HXt20l ™ 5,110 A 163,100
01 QIZEAI 22X 5,110 A 163,100
OJICeld eSS /st SNHLE0I E= 5,110
Oaxg ot 500,000& = 5CH = 70% 1,750
OUE ot 1,600,000  3CH  70% 3,360
L2EHRSE IS 452,120 A 179,880
A2SEHE Ml B2 154,700 246,000
201 et 5,000 3,000
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O%EItg g sl 5,000& = 1008 500
O%Itg XEAXNS2 500,000 = 2CH 1,000
OEAN=Y, JUxsegds B3l 3,500
O%Otsl stEt 50,000& * 404 2,000
O®EIIg JExol 5,000& * 1008 500
O%Itg XEAXZ 500,000& = 2CH 1,000
206 M = H| 9,000 0 9,000
01 X2 Hl 9,000 0 9,000
O Hid Yaolils 203 olgr MESH|
250,000& = 10Z * 33| 7,500
OASH=2HIIG ASY SEHAAN 2
50,000 = 30H 1,500
301 LBt A= 1,200 1,200 0
10 HAFAHI B a2 1,200 1,200 0
OASX= H)lg AKX 24|
6,000& *~ 100 600
OZAN=sg , ixsE8s ZBotg 24X =4
6,000& * 100¥ 600
402 QI2H X =20l M 139,500 187,500 A 48,000
01 QI2t X2 X 139,500 187,500 A 48,000
OANHEBIR2A ANSHHEDII 22
6,000,000 * 52 * 70% 21,000
OFHZINF MADI=E3
4,000,000 * 50HA x 70% 14,000
OsNE M2MELD A8ANE B3
6,000,000& * 8 A * 50% 24,000
Olxd Egael L 2 AE AlEY
40,000,000& = 1S Xl * 70% 28,000
ODNEX Tt AFMM X
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Ot AILZ2L JI=E=
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SCA=sY J=E2 204,860 84,100 120,760
201 et | 500 0 500
01 AP 2t 2| H| 500 0 500
OFFXNY SEMES EE2NA AHLXE
500,000& ~ 1CH 500
206 M = dl 9,000 15,000 A 6,000
01 =4l 9,000 15,000 A 6,000
OFE=SET SENSE S0IY A 3,000
oxgel 7 100,000 * 20 2,000
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M sEXNEZAY
©e: ASEHS JaE3 (29l & 2)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OlldE 50 228 d&10
1,310,000& = 1CH 1,310
S I H ALY 335,632 508,222 A 172,590
sHH2Y 335,632 427,517 A 91,885
101 @124l 30,832 29,857 975
04 JIZHHZ2XNSE+ 30,832 29,857 975
OsJIHey Zylzel AR
50,0003 = 2% = 144« 14,400
OsJ/H E20gae 23 =2y
43,0003 = 1&¥ = 300 12,900
OJIZtH 22X YEEIH
200,000& = 1& = 28] 400
OXXHHNEES 3,132
O=0d=z=2E=3 27,300,000& * 4.5% 1,229
CLEZEZRES 27,300,000& * 1.4% 383
OCHLZEER2E 3 27,300,000& = 2.82% 770
OIIRYEEEFEHE=  770,000& * 6.55% 51
OMMNEEERES 27,300,000& * 2.56% 699
201 Let2d] 41,400 42,160 AT760
01 At 22l 16,400 17,560 21,160
OsJ|HS8 HU28xHe s
150,000& * 1002l 15,000
OsJIAs Aty A= & st 1,400
o= 90,000& = 5% = 23 900
O& st 50,000& = 5% * 2& 500
02 =24l 25,000 24,600 400
OsJlHed ZH SEEE=
100,000& * 100CH 10,000
O=J1H &Hl 2X 224l 15,000
Osgel nsg &t |
300,000& = 20CH 6,000
OsJIH =g FHl |
300,000 = 30CH 9,000
206 M= Hl 90,000 86,500 3,500
01 =4l 90,000 86,500 3,500
O=sJIH =3l B3 50,000& = 1,100& 55,000
OsJlHed Fdl+=cl 85 50,0008 = 700& 35,000
305 Hal= s 10,000 10,000 0
01 Hia=s 10,000 10,000 0
OsJIAHZY AN HHaa
2,500,000& * 43| 10,000
307 21201 A 10,000 0 10,000
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05 RIZHRI & 3 10,000 0 10,000
O=go =FS2H 0 FI| 2 E =2
50,000& = 200CH 10,000
401 A& HIZ 201 I 33,400 30,000 3,400
01 A& HI 33,400 30,000 3,400
OUE=IIAH(SHel, E&H,010|2) RXE
= 1,000,000& * 30CH 30,000
O=JIH =cldH HIJtg dUAIL
3,400,000 * 14 3,400
405 XHoHF S HI 120,000 229,000 A 109,000
01 et EZFH S 120,000 229,000 A 109,000
OosJlH2d HEsIIA 120,000
OE&H 35,000,000& * 20K 70,000
OF=E=D) 22,000,000& = 1CH 22,000
OsE=4l 28,000,000& » 104 28,000
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Jl&: At A PN HEMNGER SZ2AIEH
M HFSAZHI(ALA 2 S2AED)
S I E= EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
AP A 94,559,576 121,612,926 A 27,053,350
2 36,514,349
= 4,095,000
J| 780,000
=2 130,000
< 1,073,792
Al 51,966,435
AEMNPER T2 AL 54,792,787 64,533,633 29,740,846
= 33,413,000
& 795,000
Al 20,584,787
HYRIAZH (HEANYE2E S2AI&D 423,972 3,492,575 A 3,068,603
el 2| 352,380 3,405,223 A 3,052,843
oI 24| 352,380 3,284,263 22,931,883
101 124 dl 352,380 3,284,263 22,931,883
01 2= 193,660 3,284,263 23,090,603
OXH22+Y 193,660
OAZ2R24g(Lerm o J|sH)
4763 » 68 x 28AIZ2t x 12 193,660
03 RIH%2Z=Z &= 158,720 0 158,720
od=s(ta) 90,752
O11é@xt 24,788,000& x1H 24,788
O 104 Xt 24,088,000& 1 24,088
Oed Xt 21,288,000 =1 21,288
O54 xt 20,588,000& 1 20,588
Oo=¢ 41,960
OP == 3,360
—bi < Xt 40,000 «4H « 122 1,920
-Edls 20,0002 «6H 12 1,440
Obt&E =g 100,000 x1H «12& 1,200
Og&EZzsrE 358,000& »4H «12& 17,184
Osgdounz2Y
8,950 «8Al 2t+x2H » 115 16,468
Ogxt==g 31,088,000% /3652 11 x4 3,748
COPNIERIPNIES 1,736
OLnssH 433,780 43|« 1H 1,736
OZE S Ottl 1,100,000 23| x4H 8,800
Onstl 110,000& =123 »4H 5,280
o=l 120,000 123 »4H 5,760
ou=l 1,052
o= 90,000& »4H 360
(OF = 15,000& »4H 60
Ootd 3t 70,000& »4H 280




Jl&: At A PN HEMNGER SZ2AIEH
M HH2IALH(ALEAEEE S2AILD0)
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A SA - SAEA) - MRAY - BES 0l &t o il HImEET
o&st 13,000& »4H 52
Ogst 75,0003 x4 300
OZ2%2% =l 1,380
OF 34 6,000 2 115 1,380
o4&t 500,000& 4H 2,000
Jl23 4l 71,592 87,352 A 15,760
JI23l 71,592 87,352 A 15,760
201 ¢er24l 30,152 17,140 13,012
01 At 22l 30,152 17,140 13,012
oJ2y 13,260, 000& 13,260
©JlE&dd 13,392,000& 13,392
odelkl= | 5 1,100
(OF-3=! 33,0003 102k A 330
ocedg 154,000 5K E 770
OEN=Fs! =
200,000& 128 2,400
202 24,160 18,012 6,148
01 24,160 18,012 6,148
24,160,000 24,160
203 10,280 4,200 6,080
01 3,300 0 3,300
3,300,000 3,300
02 #& 2,720 0 2,720
40,000 «68H 2,720
04 REN2EHEF 4,260 4,200 60
350,000& = 123 4,200
5,000& = 198 = 12& 60
405 7,000 0 7,000
01 7,000 0 7,000
7,000,000 =1CH 7,000
s =24 53,736,965 61,041,058 AT,304,093
= 33,413,000
& 795,000
Al 19,528,965
=X & 42,408,000 39,419,535 2,988,465
= 33,413,000
HF(dH-S¥H)I=UHNRI =2 HE 15,413,000 16,078,000 A 665,000
= 15,413,000
401 AIEHIZ S 15,413,000 16,078,000 A 665,000
= 15,413,000
01 A& HI 15,380,700 15,528,004 A 147,304
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A SA - SAEA) - MRAY - BES 0l &t o il HImEET
O=2ZUNRIET=Z HEAY 15,380,700
OY H~=H (L=11.4km, B=20m)
15,380,700, 000& 15,380,700
= 15,380,700
03 A2 S THHI 32,300 35,715 A3,415
O=EUNRIAETZ(HH~-SH)HLEAY ALR
CHHl 15,380,700,000& *0.21% 32,300
= 32,300
HF(§2d-25)32zUMRI=2HY 18,000,000 22,000,000 A 4,000,000
= 18,000,000
401 AIEHI L 2CHYI 18,000,000 22,000,000 A 4,000,000
= 18,000,000
01 A& HI 17,353,557 21,262,827 23,909,270
O=EUN=REZ ALAY 17,353,557
£~ 5 (1=13.33km,B=20m)
17,353,557,000& 17,353,557
= 17,353,557
02 Zeltl 610,000 700,000 A 90,000
Os2~23 ALAY dEHZ el
610,000,000 =14 610,000
= 610,000
03 AlE 2 THHI 36,443 37,173 AT730
Os2~23 HEAY AR
17,353,557,000& *0.21% 36,443
= 36,443
SHSAHE SEHAY 995,000 1,341,535 A 346,535
401 Al HI K 201 995,000 1,341,535 A 346,535
01 A& Hl 895,000 1,300,000 A 405,000
ORHSHNZE HEHAY 895,000, 000& 895,000
02 2feldl 100,000 36,855 63, 145
ORHSHNZ T AY Zeltl
100,000,000& * 14l 100,000
ZNENXNA2~-AINIZ S2H4 8,000,000 0 8,000,000
401 A& HI L 2Ol 8,000,000 0 8,000,000
01 A& HI 7,982,000 0 7,982,000
OZMEXXNRA~EA=0XZ2 T2 ME (L=1.1km,
B=30m) 7,982,000,000& 7,982,000
03 AlE S THHI 18,000 0 18,000
OZMNMEXNXNA~HAZ3DIZ S2HE ANLER
i 7,982,000,000& *0.2255% 18,000
SHUN &= & ZF 5,833,509 16,500, 400 A 10,666,891
TOANY JBYSK 24 501,224 1,097,150 595,926
201 £B-2%| 1,560 1,200 360
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01 At 22l 1,560 1,200 360
OR&dIZ=zY RIANE=H 130,000& * 12 1,560
401 AIEHI L 20 499,664 1,095,950 A 596,286
01 A& HI 499,664 1,095,950 A 596,286
OJEHAER 24 (12m0l &)
43,000,000& = 11& X 473,000
OMLABRS == 26,664
OzgsEgds=+R 352,000& * 322 X 11,264
ORHEI=22
200,000& = 35E X = 2042J|2t 14,000
OsSJIEE+=+2 40,0003 = 35Z X 1,400
AYZTRA-BAZ AT Z2HE S A 1,803,450 4,470,495 A2,667,045
401 AIEHI L 20 1,803,450 4,470,495 A2,667,045
01 A& Bl 1,500,000 4,300,000 22,800,000
ONYBA-HYRN TRHA
1,500,000, 000& 1,500,000
02 2eltl 300,000 158,885 141,115
odHzA2UCIEY 300,000,000& =14 300,000
03 Al S THHI 3,450 11,610 A 8,160
OMYBDA-HARN TRHLBAN ALSUY
1,500,000,000*0.23% 3,450
I8 S 2HE A 2,005,000 5,019,820 A 3,014,820
AEHI &S 2,005,000 5,019,820 A 3,014,820
01 A& HI 2,000,000 5,006,320 A 3,006,320
O"2~Jtd2t T 24 H S AH(L=1.13km B=25m)
2,000,000,000& 2,000,000
03 A& R THHI 5,000 13,500 A 8,500
OF2~JIE2 T2 E S AL AIZ R I
2,000,000,000& * 0.25% 5,000
FFUsw dz=tHs~s822X 7224 S2HE S M 503,400 1,054,581 A 551,181
401 A& HI K 201 8] 503,400 1,054,581 A 551,181
1T AIZHI 501,600 1,054,581 A 552,981
OZ2IH& (L=614m,B=12m) BHASKE 4
500,000,000 500,000
OMUMAEBRES =2 1,600
OZZEI=s=8 40,000& = 20 X 800
OSJIEE+r2 40,0003 = 20Z X 800
03 A& S THHI 1,800 0 1,800
OFBFUELW Nz ~822X 72 2L
S A A RO 1,800
2,500,000,000& * 0.36% * 20%
SED~MEZLDAMANC S2E&FAMH 603,630 0 603,630
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401 Al HIZ 201 Y| 603,630 0 603,630
01 A& HI 601,470 0 601,470
O & 2 & & (L=430m,B=10m—25m) 600,000,000 600,000
OMLUHABRS =2 870
OZFEIMNE 58,000& = 152 X 870
OsSIIEE==2 40,000& = 152X 600
03 AIE 2 THHI 2,160 0 2,160
Ol N ~MEE=SSWANC T28E MY
A& 20| 2,000,000,000& * 0.36% * 30% 2,160
SRIBY NSV &I 59,249 0 59,249
101 @124l 22,749 0 22,749
04 DIt 22 a2+ 22,749 0 22,749
OEAXNZMBAERA B 22,749
OEAXNZIBRE Fa 2ARY
43,0003 *4H 120 20,640
O=0=2E3 20,640,000& *4.5% 929
CLEZEZRES 20,640,000& *1.4% 289
OMSZMEE = 20,640,000& *1.3% 269
O=0HLESEESFEH= 20,640,000 +2.82% 583
OFIRLEEEESRES
583,000& *6.55% 39
201 Let24d] 15,000 0 15,000
01 At 22/l 15,000 0 15,000
OASML SIEE =2  300,000& 502 X 15,000
405 RHoHE S HI 21,500 0 21,500
01 AL EZFH S 21,500 0 21,500
O24zB7= Z20Y 20,000, 000& * 14! 20,000
O2A3MN 1,500,000& = 1CH 1,500
SEBE 2I|0IE § TRHLAY 357,556 0 357,556
401 A& HI R 201 I 357,556 357,556
01 A& Hl 355,000 355,000
OZ 2 Z (L=150m,B=20m) H 4 E X 2 Aatd|
355,000, 000& 355,000
03 AIE 2 THHI 2,556 2,556
THS YI0IME F S2AHZAMY AL 2
=l 355,000,000& *0.72% 2,556
WSAE |X2e 5,455,194 339,431
& 795,000
Al 4,660,194
Helol 2579 ALY 1,147,407 622,740 524,667
& 555,000
Al 592,407
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401 Al HIZ 201 Y| 1,147,407 622,740 524,667
= 555,000
Al 592,407
01 A& HI 1,143,411 618,960 524,451
ONB0IEES TS AL (900 A)
1,110,000, 000& 1,110,000
& 555,000
Al 555,000
ONBOIESFIAMEAY H4ALHESA
1,110,000,000& * 3.01% 33,411
03 Al 2 THHI 3,996 3,780 216
ONBOESFIEMNLAE AIER20UHI
1,110,000,000& * 0.36% 3,996
NEANEZ2 ZHIAY 51,170 417,200 A 366,030
401 Al HIZ 201 51,170 417,200 A 366,030
01 A& Hl 51,170 414,320 A 363,150
ONMEZ NEAH - BHNIEZZFZHIALY AAl
2HES 1,700,000, 000& *3.01% 51,170
AHENOIE SHSALS 49,200 45,200 4,000
201 2et24d] 20,000 30,000 210,000
01 At 22l 20,000 30,000 A 10,000
OXMENOIE EE 228 M
1,500& = 10,0000H 15,000
O NEAH WSHMWE A=Y
100,000& * 502] 5,000
206 = Hl 14,000 0 14,000
01 MHZ 4l 14,000 0 14,000
OXNEN Z0IS & BHAFAEIA HE
2,500& *5,0000H 12,500
OX&EN HHFY (HE2 S) 30,000 «50H 1,500
307 glz2tol & 15,200 15,200 0
03 MElHHEXZ 15,200 15,200 0
ORNFENHOL L PRASE 29
15,200, 000& 15,200
NEHAE FX 2 A 372,440 236,900 135,540
401 AIEHI L 2CHEI 372,440 236,900 135,540
01 A& Hl 371,000 236,000 135,000
OXNEANEZ SR 2l 100,000, 000& 100,000
OWSIIHEI XNAEAH 20
14,000,000 = 400 & 56,000
OX&EN s HX(100 BIZ)
2,500,000 « 1000 & 25,000
ONEANEIl =L 500,000& * 200H & 10,000
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OXN&EN WSAHMHEXE FHI
250,000& = 1607H A& 40,000
OXNENE=Z RS 1,000,000 * 10094 2 100,000
ORHE NENHEEEZ HXE &1
100,000 2004 2 20,000
OXNEANBAMZ &X 2,000,000& *109H A& 20,000
03 AlE 2 THHI 1,440 900 540
OXNEHAIE FXZeIAMY AL LU
200,000,000& = 0.72% 1,440
WSATAELE £X & WHAY 805,040 805,040 0
401 AIEHI L 2CHEI 805,040 805,040 0
01 A& HI 800,000 800,000 0
ORESAEHANLEE RINES(128)
800,000, 000& 800,000
03 Al 2 THHI 5,040 5,040 0
ONSHHANLEE RANE= AILR2UH
800,000,000& = 0.63% 5,040
K& A 1,906,840 1,721,120 185,720
401 AIEHI L 20 1,906,840 1,706,120 200,720
01 A& HI 1,900,000 1,700,000 200,000
O Xhd & M AL (370km) 1,900,000, 000& 1,900,000
03 Al 2 THHI 6,840 6,120 720
OXEHZMALY A& =Y
1,900,000,000& * 0.36% 6,840
WESMD 2 HEAY 501,264 406,770 94,494
& 240,000
Al 261,264
401 Al HIZ 201 Y| 501,264 406,770 94,494
& 240,000
Al 261,264
01 A& HI 497,808 403,962 93,846
OUWEMD 2 R HLAMS(6IHA)
480,000,000 480,000
& 240,000
Al 240,000
OWSAID &2 R MEAY AAEHES
480,000,000 *3.71% 17,808
03 Al 2 THHI 3,456 2,808 648
OWESALD &2 2 HHASY AR
480,000,000 *0.72% 3,456
2 HEAY 210,380 210,060 320
401 Al HI K 2018 210,380 210,060 320
01 A& HI 208,940 208,620 320




Jl2: Al A 2A AEANE2E T2 AIE Y
¥ X9 PEHUMS S8 oTg 1S
R &2 NEANE X2 (e H)
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
ORHdHINANG (Zes otUcolsd, +5
Matnel <) 200,000,000& 200,000
OBMEBHIMNSHAIYE AADHEA
200,000,000 * 4.47% 8,940
03 AlE 201 | 1,440 1,440 0
O MEHINSEAIS Al HH|
200,000,000 * 0.72% 1,440
E2lls sA2e 76,807 108,051 N31,244
201 gBt2Ay| 2,264 1,751 513
01 AP 22| H| 1,264 1,251 13
O =ZeE nEeEggeseg=2
2,627m x3502 x1.66%0.5 764
ONsStX S 285 IF I/ AA KOl
2,0008 » 5= * 50& 500
02 2% H| 1,000 500 500
OWAE X2 Sh=EH KX H 1,000
OxFsI 1,000,000& * 1CH 1,000
401 Al HI L E0HHI 74,543 106, 300 N31,757
01 A& H| 73,913 105,400 N 31,487
OE¢&elst X2 HHIAY 70,000, 000& 70,000
OEsgelst 2 EHIAIY AAdH=d
70,000,000& = 5.59% 3,913
03 AlE 21| 630 900 A270
OS2I |sSA2CIAIY AIEE2TH]
70,000,000€ = 0.90% 630
CE2RINEE 300,000 300,000 0
401 Al HI 2L 2 0HY| 300,000 300,000 0
01 Al&H| 300,000 300,000 0
O2=EZZHI ALY 300,000,000& 300,000
=2 ZRMA(EZ )22 20,256 18,452 1,804
101 2121 H] 12,416 10,682 1,734
04 JI2ZtHIZ22NEE S 12,416 10,682 1,734
SSMAHER) AEHEAI =& o129
42 670 « 4% x 66 11,265
O=0AHZEEHEZ 11,264,880& * 4.5% 507
ornsEgs B¢2 11,264,880 * 1.4% 158
oA =2 B2 11,264,880 * 2.82% 318
OHIRUABEE 4= 318,000& * 6.55% 21
OMIEEZE B2 11,264,880& * 1.3% 147
201 et 9| 6,720 6,570 150
01 AP 2t 2] H| 6,720 6,570 150
O=2ZKF M 2elx=2 6,720




&l

<

n0

Kio

Hl w

A 80
A 80

28,400

34,902

34,902

11,979
4,400

7,579

H3r
Wikd
RIS

1,200
1,200

22,790

6,390
6,390

8,000
8,000

5,360

5,360

2,480
2,480

Off &t 24

5,970

750

120
1,120
1,120

1

14,390

6,390
6,390

1,200
1,200
1,200

220

80
140
2,570
2,500

70

8,000
8,000

3,000
5,000

40,262

40,262

14,459

6,880

1,080
1,080
5,800
2,800

3,000
7,579
7,579

29
700

21X

2l x 15

=)
=

398,000

<+
4

KIr
oll
I

21X

2l x 15

=

=

<
<+

Kr

o

ol
=

4« 42+ 14

=

50,000

20,000

01 =LHOI LI

202 Oddl

el

o
=
bl

T

30
0
oJ
all

01 At2 22l b

ol

ok
3
o

ok
ol

iy
)
ol

Rl
Y

n

2« 602+ 13

2« 602+ 13

2 602 + 13
2|
o

20,000
20,000
20,000

O A2 3

-
KK

KO
o}

H

ol

ok
ol
Il
il
ol

Rl
i

40,000¥ = 23|
70,000& = 28

KH
L

0F
=

o
oF
)
RM
&l

2 x 2502

=

o

ol

IS

E]
Ot
E]

2]

70,000& * 1

10,000

KJ
KE
ok
ol

Kl
K-

[ox =]
=T

=
_'_Il_

ZH
Sy

03 Al

=

3,000,000
5,000,000

Kt

!

KJ
KE

<
B
oF
3l
vt}
=
&
oy,

Kio
Al

)

H
o

T

30
0p
]
oll

tel i

el
)

01 ALS

ur

4
Kk
iy
[
[0
ol
o
20

3B+ # 123

=

o

6,000

1 «200H x23]

=
=

70,000

-

al
<+
8

10,0000H »23]

150& *

%

o

30
0B
Mo
Ho

[unl

21413

e

28,500
700,000

FA

OXt

=
=

4« 1CH

el

(OPNE=pNg-

50
5,300

2l %13

P
=

=

4+ 1 CH

[l
=

50,0002
5,300,000

2l bl

Al




Jl2k AFE A A HAEMHERE T2ALY

M NS ZELHE s e 2=
Sel HRBMEH 29 (er:@e)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OMEsI@ el FHl |2l
300,000& 53 1,500
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01 MHZ 8l 17,703 0 17,703
OMEDIAAXe B+ ABS 100,000 *30% 3,000
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03 AIZ=AH S =AH| 2,000 2,000 0
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01 = LH o4 1l 17,280 19,200 21,920
OJIE&l 17,280,000 17,280
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10 #AHAHIEAZ 3,500 3,500 0
oogAN 243 100,000& * 35%H 3,500
QIerel A2 222 119,015 151,759 N32,744
201 LBH2E| 77,068 86,747 A9,679
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Jl2k AFE A A AEMH2R 22
aQ

2 THol = M o
olurel oi2r2s o HE)
- _ — d =
A SA - SAEA) - MRAY - BES e 2
01 At 22l 35,700 35,700 0
oRlgAussd 2A=E 100,000 » 357 35,700
= 17,850
Al 17,850
gyl =& 2% - X 40,000 18,000 22,000
< 40,000
402 BIZEXHE0| A 40,000 18,000 22,000
< 40,000
01 QIZERI 22X 40,000 18,000 22,000
Ox==13 NESZEUH =4 A&
10,000,000 = 1002 10,000
< 10,000
O2EE NeNSYHH 4 &%
30,000,000& = 1JH A 30,000
< 30,000
ANl E4 4,010 4,116 A 106
= 1,203
< 842
Al 1,965
301 Lete &3 4,010 4,116 A 106
=2 1,203
< 842
Al 1,965
10 HALAHIE2& S 4,010 4,116 A 106
OXN2UL sS2duws YA WsH & =
Xl 4,010,000 4,010
2 1,203
< 842
Al 1,965
otE N2 At=Z X2 12,750 12,450 300
= 3,825
< 2,678
Al 6,247
201 L4l 12,750 12,450 300
= 3,825
= 2,678
Al 6,247
01 At 22l 12,750 12,450 300
oggreetEus ZA=&  150,000& » 854 12,750
= 3,825
< 2,678
Al 6,247
=0t HIAUH 2010 923 24,515 17,505 7,010
= 3,010
I OHHI & Tl 2R =X 21,505 17,505 4,000
201 Let2dE] 21,505 17,505 4,000




Jlzts AP A A AEMH2R 22
I THol & T o

S J0t AU fI0ItHEe S22t (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 At 22l 21,505 17,505 4,000
OSXgs HFEH AR 1,055
OoxZgHd EH 210,000& = 2K 420
O=AMIIEH 210,000& = 14 210
OMEAESX 25,0003 * 52t~ 125
OSAMIIL I L 300,000& * 1Al 300
OoHla4EE FUAE RAU=S MH 9,050
OsRiH=e o 40,000& = 305 = 38 3,600
OQASANE R0 40,0002 * 508 * 25 4,000
OsXHs AAHAZ 40,0008 * 308 * 13 1,200
O IHM 25 MI 5,000& = 50% 250
OHl&tHHI S & SXNASE I =&l
6,000& * 70F * 441 *« 4 6,720
OHIAUHIER X SXNHEES AM2I 680
OEZH3tE 70,000 * 4% 280
oYzt 40,000 = 109H 400
Oskds dH=d 4,000,000& 4,000
oleasAEd EX3 3,010 0 3,010
= 3,010
301 et a = 3,010 0 3,010
= 3,010
12 JIE2 4= 3,010 0 3,010
OJlsoldsd &8¢ 243 70,0008 * 43Y 3,010
= 3,010
=7 FHl 4,510,350 3,143,710 1,366,640
= 2,700,000
Al 1,810,350
WEXIR S=NMJAE XA 4,510,350 3,143,710 1,366,640
= 2,700,000
Al 1,810,350
401 AIEHI L 2 CHYI 4,510,350 3,143,710 1,366,640
= 2,700,000
Al 1,810,350
01 A& HI 4,500,000 3,134,000 1,366,000
O WEXF =MJIAE EXAL 4,500,000
O UWeX= MR AIE SXI3AM
4,500,000,000& 4,500,000
= 2,700,000
Al 1,800,000
03 Al SR THHI 10,350 9,710 640
O WEXF =MJIAE XA AIERUYI
4,500,000,000& = 0.23% 10,350
WS (ALMNG2S WD) 2,201,925 1,000,000 1,201,925




Jlzts AP A

M NRES(ALAMPEE2E W

el WRAHAXS (&)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
HEHHX = 2,201,925 1,000,000 1,201,925
HEHAH X = 2,201,925 1,000,000 1,201,925
702 JIS3HES 2,201,925 1,000,000 1,201,925
(O RPIE=RSE-<3= 2,201,925 1,000,000 1,201,925
OM:t2ZedIg BES 2,201,925,000& 2,201,925




Jlat: Mg
M ARISETAIE ENHE 2el
Eel: ARL2TAME |X - B

Al

A

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
AT AMPEES AIEN 82,246 199,579 A 117,333
22T A48 BNME 2el 82,246 199,579 A 117,333
L2A2CANE |RX - B 82,246 139,579 A 57,333
L2AZFEANE E5 7Y 16,150 15,000 1,150
206 M= Hl 16,150 15,000 1,150
01 MHZ 4l 16,150 15,000 1,150
OLTE =ZANE A5AE
3,000& = 5,000kg 15,000
O==ZZA M9 P2 2,000& = 3004 600
oxdzdgar EFI| ¢ 550,000& * 1CH 550
A2AZFEAE R - 2e 66,096 124,579 N 58,483
307 glz2tol & 15,736 14,794 942
05 RIZt2E = 15,736 14,794 942
OARE =TAlE 22k =< (200H4)
38,9003 » 20 = 12& 9,336
OAMRE =TAd 243 FASA(HY=2 1
9o 2&) 160,000& * 20004 = 23] 6,400
401 Al HIZ 201 Y] 50,360 109,785 A 59,425
01 A& HI 50,000 109,000 A 59,000
OARZaTAIE JIH4 & 2FEINH(ZEONS
) 4,000,000& » 10H= 4,000
OL% P *E =I| DA
4,000,000 » 50H A 20,000
OL= AMI| tHdet WA 6,000,000& * 1H2x 6,000
OLZ JIAA(2¢3a) AWH
5,000,000& = 20H A 10,000
OL7AL =T AE S22
1,000,000& = 1090 £ 10,000
03 A& =2 THHI 360 785 A 425
OxrZ2=Z A4 Bl AMER0UHI
50,000,000& = 0.72% 360




N & o & AF & H Al A
JlB: ARA SN 2HUSHSHT 20SYD
M HH2IAZH (M2 2d&Z )
Sel: o2y (B9 ®R)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
F=d=sz2 o290 13,672,670 15,144,613 A1,471,943
= 597,000
= 300,000
Al 12,775,670
HYR2IZH (a2 2029 ) 590,558 3,451,281 A 2,860,723
el 2 271,934 3,104,996 A 2,833,062
oI 24| 271,934 3,003,476 A2,731,542
101 124l 271,934 3,003,476 A2,731,542
01 B 164,583 2,271,147 22,106,564
oO=l22Y 164,583
OAlzte 2224 119,615
-2 Bt 8,4763 x 28" x 28AI2t x» 123 79,743
-Jls® 8,476& » 14H » 28AI2t » 123 39,872
Oggae+y
68,132 = 11 = 52 « 123 44,968
02 JIEH &R 2+ 29,241 661,553 AB32,312
OZH2P+Y 29,241
OANASI2R4 g 29,241
—yp2eR
7,2523 x 12H x 28AI2t x 12& 29,241
03 RIAHAZZ2TE = 78,110 70,776 7,334
OFAr2el & HARA 70,461
oA =s(taz) 47,872
-11E Xt 24,936,000& * 1H 24,936
ASPN; 22,936,0008  1H 22,936
OF =1 14,269
-tE=g 1,200
i < Xt 40,000 = 1% » 123 480
=l 20,0003 = 3% ~ 123 720
-HE2Z2SY 346,000& » 29 128 8,304
22 RE
8,650 * 8AIZE « 4 » 1FH « 128 3,322
PN
23,936,000 / 3652 * 112 * 2H 1,443
OE &= 0tHl 700,000& * 2% 23| 2,800
O=&l 120,000& » 29 » 128 2,880
[@ImE=1:]! 110,000& = 2%  12& 2,640
O2ASREE S 74,308,000& * 4.5% 3,344
CNEZE=RE3 74,308,000& * 1.4% 1,041
CUHLEE=RES 74,308,000& * 2.9% 2,155
OFEINRYBEEZRYZ 2,155,000 * 6.55% 142
OHIHEEZRES 74,308,000& * 1.3% 967




Jl&: At A FM: 2zl 20230
HE: HYLYPL(SMD 20 2Y D)
el Jl= Ay (crel: @ el)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Jl=234l 318,624 346,285 A 27,661
Jl23Hl 318,624 346,285 A 27,661
201 Let24d] 282,564 267,225 15,339
01 At 22/l 129,324 115,946 13,378
OJlegesd ezl 11,460,000 11,460
OEH=2I 25,0008 * 45 = 43 400
O AHFAHNE 120,000& * 63l 720
oAz 10,000& * 30H 300
o=t 100,680
Og& g 80,000& = 3¥ * 116 27,840
OFLTY Hx2y
80,000& = 3¥ * 116¥ 27,840
O8g =34 60,0003 = 3% = 250 45,000
ORI E 2RSS 130,000& = 23| * 69 1,560
0GB 08 XEx3 20,0003 = 254 500
=gl JI&&Zdl 12,096,000& 12,096
OFE=E =4 1,608
OsLX 15,000& = 28 = 128 360
OXI & X 13,0008 * 8% = 12& 1,248
02 =24l 153,240 151,279 1,961
oORERS 4,650
oggreH 240 * 10,0008 2,400
osJis# 1,500& = 1,5008 2,250
OACIETV =8 = 40,000 = 12& 480
OusReLRE=s 20,000,000 * 13l 20,000
oEZMEREZ 7,000,000& =+ 23l 14,000
OlsxEE= 700
Os8(58) 500,000& = 1CH 500
ostE(4d) 200,000& = 1CH 200
CPNE=P 330
Os&(58) 150,000& * 23| 300
Ooste(42d) 30,000& « 13l 30
OSt3E MEBR 12,960
Ogertdst Jl22 4,0008 » 202l = 128 960
Oogerds =tz
503 * 2038l& * 1,000+ * 12&8 12,000
ONMUWEE Sz (46d4]) 7,320
Osldz 600,000& = 123 7,200
OMg MHIAEX 2= 10,0008 * 12 120
O - o=k 2= 88,000,000 88,000
OANEREY Mol=+ 3dl  200,000& * 13 200
Oxtg |A2cldl 2,300,000& » 20K 4,600




Jl2: AP A M. SF0=AHSI2 20SH N
M. HYSHTH(2HIIS 2H2EH)
@2 Jl2&tl (e &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
202 (4] 26,880 27,840 A 960
01 2L Y] 26,880 27,840 A 960
OJeg: J=EH 26,880,000& 26,880
203 ¥R =Xt 9,180 9,220 N40
01 J|22IHRF=XY| 3,300 3,300 0
OPJES 3,300,000& 3,300
02 MRt R =AY 1,680 1,720 AN 40
O©JI=H(100H M XN ) 40,0003 * 42Y 1,680
04 ENSIHRF=AY| 4,200 4,200 0
©J| = H(30010]3t) 350,000& = 12& 4,200
S0 AL 299 |l 13,082,112 11,693,332 1,388,780
=2 597,000
= 300,000
Al 12,185,112
S0z 29 57,163 47,582 9,581
ALRENS 2922 50,263 47,582 2,681
201 LEt2HY| 10,698 10,578 120
01 AFR2t2ldl 10,698 10,578 120
OYRIHE ROl 15,000& * 308 * 33 1,350
O20 ,RUANE 29 S22 =&
5,520,000& 5,520
O20WAIE 2EHE A2 3,828
OR0AL A M2TY
5,000& * 35& x 12& 2,100
OZ0AE Y. - 227 22
48,000 = 30H = 12& 1,728
203 ¥R =&XH| 5,000 5,000 0
03 Al Z=XIAH R =X 5,000 5,000 0
O2szsrzses FX 5,000,000 5,000
307 QI2t0| ™ 34,565 32,004 2,561
01 elz2d =4l 400 400 0
O7R=%E 400
ORUAIE HIX 100,000& * 3 A 300
O=2&4 HIXl 100,000& * 13 100
05 A2t E = 34,165 31,604 2,561
ogYLss 110& * 17,005m x 83 14,965
OO0 ,MSAIE 22FHl  1,600,000& * 12& 19,200
=22 2 A2 6,900 0 6,900
201 LEt2 Y| 1,400 0 1,400
01 At 2t 2l Yl 1,400 0 1,400




Jl&: At A FM: 2zl 20230
M =AY 229 2L
el 2oz 2 24 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
O HZNH Mg MEESLE It
50,000& * 8%H 400
O M SAA(XIoH IHR2AAE) 1,000
OLHEIN =2 500,000& * 27471 & 1,000
405 XtatH SHI 5,500 0 5,500
01 HatH ESFH S 5,500 0 5,500
0398 340 7¢ 5,500,000& * 1CH 5,500
EFAMEH= & 20HAE 29 8,668,199 7,747,333 920, 866
< 300,000
ANEose o2l 7,021,643 6,371,538 650, 105
301 et d = 7,021,643 6,371,538 650, 105
Moo=t - 2s2S243 7,021,643 6,371,538 650, 105
OAE0o=E 2] 7,021,643
OoJlzs 4,514,153
-XI& X (52 1788 &)
3,315,700& * 49 » 128 159,154
ol % (62 1382 MY)
2,599,100& » 498 » 128 124,757
COX AMCH(7TZ 1552 AY)
2,466,800 « 2798 » 12&8 799,244
-MAEHP JIEEZHRA(BE 1458 &Y)
2,162,200& = 2998 » 12&8 752,446
-HA(93 1358 AY)
1,907,800& * 1178 * 128 2,678,552
o&n= 391,442
~Hasg
4,697,299,200& * 1/12 * 50% * 23l 391,442
OF=1 1,124,293
-IESE 74,400
- B X 40,000& = 80Y = 123 38,400
- EHIS 20,000& = 15098 » 128 36,000
IS xS 30,193
el 51,9903 = 20¥ =« 43| 4,160
- NSsH 433,880& * 159 « 43| 26,033
-Soxg 50,000& = 181 = 303l 271,500
-Hlsga=¢g 425,640
PN DA 320,000& » 4% » 128 15,360
- AE 280,000 = 4% = 12& 13,440
HRY, =4HE
230,000& = 279 » 128 74,520
&R, JEEs2Ha
200,000& = 299 » 128 69,600
=& 180,000& = 117 » 12& 252,720
-H Mg 322,560




A A 2A: Sstdz=A= 29
StlsAd 2Ho AYs
FNPUEE L 208 2 SREED
SH-EB .S (3H) - MEAY - BAS il HDS2
OUNE=DN; 400,000 * 4YH = 128 19,200
& 300,000& * 49 = 12& 14,400
Y, =443
200,000 = 279 * 12& 64,800
SO, JIEEs8td
160,000& = 29Y¥ » 12& 55,680
& 120,000 = 1179 * 128 168,480
O&F M= A 130,000& = 1819 * 12& 282,360
OY &SIyl
4,697,299,200& * 1/12 * 60% * 23 469,730
o%sd 2XME 29
1,000& = 460P * 181Y 83,260
onggEss 8,116,230& * 12& 97,395
OoHNEeEdEZ 17,010,000& =* 13 17,010
OANE =S HAJSHI o12A|
700,000& * 59 = 12& 42,000
=t 2H 2H3E [t 29| 250,236 242,475 7,761
201 2et2 Y| 59,630 42,560 17,070
01 AFR2t2l Yl 52,530 35,460 17,070
O3H =23t 6,000
OA 0l =S (4HEH) 3,000,000& = 23l 6,000
O33N NE 17,200
On gttt 10,000& * 722 x 83 5,760
Og sttt 10,0003 * 60Y = 83 4,800
o= 10,000& * 46¥ x 83 3,680
oest 10,0003 * 37¢ = 83 2,960
ONElzs=S AR ZDE L HAEARG Z
g 21,600
OHIARE 300,000& * 6Y = 4 = 23] 14,400
O&JIIEH 300,000& * 6YH = 44 = 13 7,200
OZ Wl &2t =
10,0008 * 18 * 401 ~ 12& 480
oY g3 E 300& * 1,0002 * 12& 3,600
O2W=ES Cle XA 3,650
o 3,000& = 5000H 1,500
Oos 2,500& = 5000H 1,250
O 1,800& = 5000H 900
02 352494l 7,100 7,100 0
ON=Z20 3 & AHAE 3| 3,500,000& * 13l 3,500
oWzt oY EANES
40,000 = 7CH = 12& 3,360
084z giolEolsas 20,000& * 12& 240
206 M = Hl 41,830 46,195 N4 365




DB ARlA SN 2HUSHSHT 20SYD
M 2o0zsANE 232 243
Sl BFAYMSS L SHAL 29 CERED
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
01 M= 4l 41,830 46,195 AN4,365
Ougottt oI A2 F 4,700
Og Ll Ol 300,000& * 3H 900
Ootlol A 500,000& * 24 1,000
OY=c+sE 1,000,000& = 12l 1,000
Qulote =8 200,000& = 1CH = 23l 400
otlolAZetLu 200,000& = 104 = 23l 400
Ost== 1,000,000& = 1MIE 1,000
Ousrertt v 2 500,000& » 20&A 10,000
OE&EC A A2 400
Ollolte £28 200,000& = 10§ = 23 400
Ogat o 15,000& = 60% » 105 9,000
o=t 2A4J| AR2F 5,400
OJtot= = 100,000& * 10CH 1,000
OHE1 = 80,000& =« 5CH 400
oot = 800,000& = 2CH 1,600
Ottt & 200,000& * 3CH 600
&0 30,0003 » 307H 900
Odt=2 &t 180,000& * 5K 900
OREHY BEUE 12,330
O2&EME 130,000 * 34H » 13 4,420
OJ)=a & 247 el 2,000,000& = 14! 2,000
(@OFE~n! 40,000 * 504 2,000
O#Z= 2 Hd 3,910
- X 15,0003 = 34% » 5Z ¢ 2,550
-Hd 4,000% * 349 « 10Z dl 1,360
301 YerE A 118,776 128,880 A 10,104
10 HALAHI 242 30,000 48,000 A 18,000
Ollzs2 g SHEZR0| HH24
20,000& = 10¥ = 1502 30,000
Mozt - 2sRSEHS 38,376 32,880 5,496
OAE0=23H 20,400
Ounl gt 500,000& * 122 6,000
ogaH 400,000& » 12& 4,800
o=t 400,000& * 122 4,800
ossd 400,000 * 128 4,800
OAgost =&l 6,000& * 1892 = 43| 4,536
OAglzsd SHE2 20| 13,440
osed 20,000& = 58 * 49 » 128 4,800
OJleggtd
20,000& = 98 * 49 » 12& 8,640
12JEEd= 50,400 48,000 2,400




DB ARlA SN 2HUSHSHT 20SYD
M =AY 229 2L
Sl BFAYMSS L SHAL 29 CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OANEH=H AREAH Ba2
1,800,000& = 4JHE » 73l 50,400
307 glz2tol & 30,000 10,800 19,200
05 RIZERI & 3 30,000 10,800 19,200
o=ctel GHAIAE 22 900,000& * 123l 10,800
O=HEE et =<0l
1,600,000& * 19 » 123 19,200
Nguses Zo 508,000 670,000 162,000
301 et a = 508,000 670,000 A 162,000
Ni=t - 2sRS24= 508,000 670,000 A 162,000
OANEM=E H0odle 3¢
1,000,000& * 503l 50,000
OAR Y EMNots XSS 100,000
Ounlgortt 25,000,000 * 13l 25,000
ogad 25,000,000 = 13 25,000
O=2H 25,000,000 * 13l 25,000
ossd 25,000,000& * 13l 25,000
OUMz=Z AIHI SQFEIISAH(128) 345,000
Oun gt 20,000,000& * 43| 80,000
ogaEH 35,000,000& * 32l 105,000
o= 30,000,000& = 32l 90,000
oefsH 35,000,000& * 23] 70,000
OEAIE Algl=2 ne3dA
13,000,000& * 12/ 13,000
JEBA L AR R 538,320 113,320 425,000
301 et A= 538,320 73,320 465,000
07 2I2toI= 2l o4 Hl 94,000 0 94,000
OANEM=cH (&, 29H) dHASH 94,000
og3=g 500,000& * 80% 40,000
O X T bl 135,000 * 80 * 5¢ 54,000
10 #AtAHIEAZ 100,000 0 100,000
O3 KX JI&32A  50,000,0008 * 28 100,000
Moo=t - 2SR2S243 344,320 73,320 271,000
OAgo=st J83H 160,000
Oun gt 50,000,000& * 13l 50,000
ogsEH 35,000,000 * 12l 35,000
o= 40,000,000& =+ 13l 40,000
osfsH 35,000,000& = 13l 35,000
OFstl=xdg 22208 29
1,680,000 * 4HEX » 68 40,320
OAQlg &t 24 4,000,000 4,000
OFAYE 2AAEC 2 80,000,000& 80,000




o3 AbA SN 2HUSHSHT 20SYD
M =AY 229 2L
S FFAEM=H 2 20AE 29 )
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
©2013 wEA=H &It 20,000,000& * 13l 20,000
O3¢s2 1| 40,000
OTVAZH, HAZA, H2E, M2 S
2,000,000& * 202/ 40,000
fl=ode 2gHl X 350,000 350,000 0
= 300,000
Al 50,000
201 Let249] 350,000 350,000 0
< 300,000
Al 50,000
02 3323l 350,000 350,000 0
(OFSPIR=E=; 210,000, 000& 210,000
< 190,000
Al 20,000
OZANARS 140,000, 000 140,000
= 110,000
Al 30,000
SHE RUANE 2%, sA2e 216,910 222,610 25,700
SUAIE 2t 216,910 222,610 25,700
201 et 2,940 1,200 1,740
01 At 22l 2,220 1,200 1,020
O=HZE 22k M2JN=u=
100,000& * 6% 13l 600
ORUAIE 2R 2£= 90,0008 * 18¥ 1,620
02 3323l 720 0 720
OS 40013 =0 AEZ
3,000& = 60CH » 43 720
206 M= Hl 22,470 25,220 22,750
01 =8l 22,470 25,220 A2,750
O 1 H Xt TH 5,000
OZdela2l 188 5,000,000& = 14 5,000
ORU =X 13,440
OgzA 2 (650W) 35,000& = 404 1,400
Otz Al I (1KW) 37,000& = 4004 1,480
Ogr=z A I (2KW) 44,000 * 4004 1,760
Ot 2= (150N, 300KW) 32,000& = 5004 1,600
Ot S (1KW) 55,000& = 4004 2,200
O M= SHI(2KW) 2,500,000& = 24 5,000
S SR 4,030
ootola AHS(TXHE) 120,000& = 54 600
oatol=2 AHol= 4,000 = 300m 1,200
oatol=2 FasA3d 7,000& = 1004 700
QEoola sl EA 170,000& * 9K 1,530




Jl2: AP A M. SF0=AHSI2 20SH N
M. 2ol0sAE 2Fo &YF
S SHE RUHAMNE 29, A2 (e &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
401 Al HI 2L 2 0HHI 140,000 196, 190 A56,190
01 A& HI 140,000 196, 190 A56,190
PUHAMEOIH, =Y, SE) ZHIKX
60,000,000& * 14 60,000
OLUINIH(ESHXI1,2812] 15JHA) HAZAH 80,000
OZ Akt 80,000,000& * 14 80,000
405 XHakF SHI 51,500 0 51,500
01 A&t =S F SHI 51,500 0 51,500
OEN=DIP] 50,000
ORMH g2 ZHI|J|(2KNR)
1,000,000& = 50CH 50,000
oz oa #HAE E= 1,500,000& = 1CH 1,500
S0 Al &2t 4,139,840 3,675,807 464,033
Eo) 597,000
S0l AlA 22 693,394 297,935 395,459
101 2124 d| 167,978 165,049 2,929
4 J|I2tH 22 NHEE 167,978 165,049 2,929
O2M 32 FA & stAHAFH| 167,978
Ool2t] 38,900 * 14Y x 252 * 11& 149,765
(@F=FSE=l 5] 200,000& = 144 2,800
O=0UAZREE S 149,765,000& * 4.5% 6,740
O=30AHLEEHEFL S 149,765,000& * 2.9% 4,344
OIRLLYBEREE =2 4,344 ,000& * 6.55% 285
OnseEsg= 149,765,000& * 1.4% 2,097
ONLTHNEAEEZ  149,765,000& * 1.3% 1,947
206 M = Hl 30,486 26,886 3,600
01 & bl 30,486 26,886 3,600
O2WAIE BEAES 24,486
ORnA=SE 1,860& = 3000 » 12& 6,696
OFAEE(HS2 138)
3,000& * 1000 = 145 = 12& 5,040
Ozt (st a =)
40,0003 * 132 A * 123 6,240
ONesss £ HL=Es
750& « 35000 ~ 12& 3,150
O g stHl 7,000& * 4000 = 12& 3,360
Oflz=2dy 2& UHESE 2 AN 6,000
OH=LIOR 45 400& * 5& = 3,000 6,000
401 AIEHIZ 2 OH Ll 494,930 80,000 414,930
01 A& HI 494,930 80,000 414,930
O2WAIE FANE+ 15,000,000 * 204 A 30,000




Jlzts AP A 2A: SsdsMsa2 202D

M =AY 229 2L
Selr 20 AE2e] (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
O20AIE =3 ¥ SIFHIAMY
50,000, 000& 50,000
Ollzs2dg SZMLSA 0
OFAY U ASHSH SHTS BA(HY)
o0& 0
OFNAE HLASAH(KIGHLHAIA) 0
O3 AHI (& &) o0& 0
ou=odd F2ad 21,430,0008 * 14 21,430
OW=dY FIUZHMAAE AX
120,000,000 * 14 120,000
Oll=2dg & SZME A 273,500
O3 AtH| 263,500,000& * 14 263,500
O£ Al 263,500,000& * 3.795% 10,000
S0 AE&H 22 224,821 609,497 A 384,676
201 Yet2 | 32,498 32,679 A 181
01 At 22l 31,297 31,496 A 199
08Il RXEx & FPdx2 7,991
ORNNE=EZ 158, 130& =« 404 » 128 7,591
OHIIZMN =8 100,000& « 4CH = 13l 400
OHSI BIIZA==2
250,000 = 2CH = 13l 500
OZAIA HIIFEA =2
350,000 * 2HA = 13 700
O=2gdd HESM =2
120,000& = 3CH = 13l 360
OM=x 2 ¥ === 5,254
OM=Zx % Dit=x= HA
7,960& = 330= * 23l 5,254
ONM=ZX & S22 =ZBANs=2 400
(OPSEES 100,000& = 1A = 13 100
Osx=& 100,000& » 34 « 13l 300
OHdSI| et &ALk RAEN=E
550,000& = 1@l 550
oY, JtAHMALIX W=
46,000& = 2¢! 92
O&ZI 22k u=s 20,000& = 1@l 20
ogstze == 8,280
O™ 2L 690,000& * 12 8,280
O33J1& stz W= 130,000& * 3¥ 390
O&JIetHE 2el X 1= 90,000& * 2% 180
Otlz=2 dg MIILH EIBA=2T
1,900,000& = 13l 1,900
OZFsE HAUd=+Z(3HA)
12,000& * 300m 3,600




Jlat: At A fMd: 2stdisd=ss2 20290
M =AY 229 2L
&2 20 AL 22
A2 .2 FH-S(BH) - HRAY - BES il &t o il
CEEEEEET RS
) 660,000& * 13l 660
OSIHEE ¥ HUFEE 420
O2JHEEX 25,000& ~ 123 300
OFMFEEX 60,000& * 23l 120
02 22224l 1,201 1,183
OYst2el Xt &3l 55,000& * 39H 165
OdJ|etA2te| X+ & 3l 100,000& * 2H 200
OHIA4LAI HAZHI(ER) 1,840& * 4004 736
OQIHAAIDHI A HMUYSBE 100
Otlse 8ge 1A 100,000& * 13/ 100
206 = Hl 21,323 21,323
01 MHZ 4l 21,323 21,323
(OES-\IIDNI\| 1,000
O2std HHIE 50,000& * 50 » 2JH A 500
OREERF 50,0003 * 50 » 204 A 500
Ozt BE2EX 960
O&XI= 10,0002 » 1600 * 39H 480
OC3BEXF 20,0003 = 84 = 3H A 480
OFS Y HIX M 1,080
0SJI7 2 gz
20,0003 = 1000 = 30H A 600
OARIX ¥ HEI+
4,000& * 4000 » 304 A 480
O= - H&E Bt T+ 810
OAHEHII=F 70,000& * 208 » 304 A 420
OXEIF 65,0003 * 201 » 304 A 390
OZESH A2F 2,300
OUTP HIOI= 900& = 1,000M 900
O#HAHDI 100,000& * 44 400
ool AR 200,000& = 54 1,000
OFUAE A5 1,800
OVHEZS 23 600,000& = 38 1,800
O2Yd Ws) AdEZ (M= 8L 1HA) 4,320
OF2H 4,000& = 3304 1,320
O™ 3t Ml (30kg) 20,000& = 40% 800
O2&H 5,500& = 1604 880
od=2g A=A 55,000& 244 1,320
os=x=J| 2H 66,000& * 504 3,300
OANEZE AKX 5,753
OAI® | 90,200& = 104 902
O4L8 NMEM 11,000& * 3804 4,180




AH & fMd: 2stdisd=ss2 20290
2= Ad 2Zo &g
0l Al & 2tel (=& J)
R.RN-ZE-E(HH) - HRAY - BES Ol &k o il Hl D = 2t
Ol MEES 42,900 = 104 429
OABI MEEE 24,200 * 1004 242
T AEHIZXEUY 171,000 555,495 A 384,495
IAE=1:1 171,000 554,415 A 383,415
ON=2dg A7 WSI| M2 L AL
&l 7,000,000& =+ 2CH 14,000
OJIH & MY ANEES E= 40,000
Otl=2dg I & AMLH AMEE B+
40,000,000& * 14! 40,000
OA2~YAIE FHI 6,000
Otl=2dg2 2Ji4  2,000,0008 * 3042 6,000
Otl=2dY Bl M2 & 2XAI4EH 7,000
Oo2ge A= 4,000,000& = 104 4,000
Of=5A4d 3l 3,000,000& * 1CH 3,000
OAlglsl 2 H2T] N2 2SAI4 Fl
8,000,000&  1CH 8,000
OdEIIEX EHI 3,000
O=& gt 500,000& = 6& 3,000
OHIIANE E= 20,000
Oltl=2dY HIINEESE
17,000,000& = 14 17,000
Ozs& MIIANEE 3,000,000& * 14l 3,000
ONUHXIZEXME (LED) =HSII+ wAl 59,000
O)=-F2= 250,000& = 2004 50,000
O&AE &X 90,000& = 1004 9,000
OFESHEH =+ 4,000
OUESA &H E= 2,000,000& = 14! 2,000
O&XuweI 2,000,000& = 14 2,000
OZ0 A& CCTV S X 2= 10,000,000 * 14 10,000
AQISI 2 Al E NS ALY 3,221,625 2,768,375 453,250
& 597,000
Al 2,624,625
401 Al B2 28I 3,221,625 2,768,375 453,250
= 597,000
2,624,625
01 A& HI 3,164,920 2,735,500 429,420
OFFAQU 2 AIEMEAE 3,164,920
O S AbHI 3,164,920,000& * 14 3,164,920
& 597,000
2,567,920
02 Zeltl 51,980 29,500 22,480
OFHEFAIBZ 2 AIZIHE AL 51,980
O&eltl 7,000,000,000& * 0.01164 * 1/2 40,740




Jl2: Al A 2MX: 2gtz=Hss2 202"
HH: So0zsANE 2Ho sl
EHe: S0AE 22 (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
OZeldl (2012 B=2)
7,000,000,000& = 0.01164 = 1/2 — 29,500 11,240
,000&
03 Al 20| 4,725 3,375 1,350

OFF=AlES

2 AIEE ALY

7,000,000,000% = 0.27% » 1/4 4,725




——
N = 0 & AF S 99 N A
Jl2t: AP A 2A: Ssdz=d=32 ASAE
HM: ¥ 2HAH (R =sHEs 2 HMSALD)
¢l =gl (chel & 9l)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
Et=d=32 MSAEN 3,597,535 6,526,724 N2,929,189
Dl 780,000
= 546,000
Al 2,271,535
HM2AAH (2Bl =dS3 2 MSALD) 36,652 35,462 1,190
Jl2dHl 36,652 35,462 1,190
Jl2&H| 36,652 35,462 1,190
201 Lere | 20,212 19,022 1,190
01 AP 22| d| 19,972 18,782 1,190
OJl2gRsaaE sH| 7,260,000& 7,260
OlNERESZ (XL, =) 984
O Xl Xl 13,000& = 404 AF = 128 624
Oz 22Xl 15,000 = 2JHAb = 12& 360
ogRad FINE 2 2,420
O2IEEX 25,0008  12& 300
O&FAHEX 60,0008 * 23| 120
OMSAIYE o220t =Xt 4,000 * 5008 2,000
OgREN L 2AE MA ol
100 * 50008 * 20= 1,000
© =&l 6,048
OJIE&H| 6,000 * 149 = 80Y * 90% 6,048
OFHIAHE 2R= 130,000& * 6Y * 23| 1,560
OEI=Z012 38 #¢ 25,000& * 45 x 3M A 300
OYXA &R MNE 50,000 * 4% = 23| 400
02 B32ZH| 240 240 0
OAHOIZ2STV =H = 20,0008 = 12& 240
202 044 13,440 13,440 0
01 2L I 13,440 13,440 0
(OPIE=r=N:] 20,000& * 14Y = 60 * 80% 13,440
203 YR XXl 3,000 3,000 0
04 EASHEIRFAH| 3,000 3,000 0
©J| =M (15210]5t) 250,000& = 12& 3,000
WY EZ2AS £ 3,133,789 5,970,281 A2,836,492
J| 780,000
& 546,000
Al 1,807,789
M= A& 22 3,133,789 5,970,281 N2,836,492
J| 780,000
& 546,000
xd 2 sAAH| 102,582 107,310 N4, 728
201 LBt Y| 1,862 1,790 72




Jl&: At A FM: 2adz=ds3a2 HMSAL0
X'IJ'(H' °J|U|i“o_ﬁjl-0| _DE/g
©el: HEAgRe (29l 8)
- — d =
122 B BRAEA) - HRANY - BES 0l &k o4 e HlnE2
02 =224l 1,862 1,790 72
OHM=J12 5& ZHl ] 1,862
Osg= 2,051& = 54 = 504 = 203l 1,026
Oo&dx 1,857& * 304 =« 153l 836
401 Al HIZ 201 8] 100,720 100,720 0
01 A& HI 100,000 100,000 0
OMSAE xZdac & S3EH A
100,000, 000& 100,000
03 A& =TI 720 720 0
ONMSAE =Zacl & S3ZHAY MERH
=l 100,000,000& * 0.72% 720
HsAE2e 245,630 227,704 17,926
307 glz2+ol & 400 400 0
01 22724l 400 400 0
OM=ANE 2543 ¢ 100,000 * 400 2 400
401 AIEHI L 2CHYI 245,230 206,000 39,230
01 A& HI 245,230 206,000 39,230
OMSAE RNES(SEZINHE 2 7HL)
9,500,000& = 8JH A 76,000
OFFZ T B33 A 148,230
O34 ot &X 44,000& = 1,2004 52,800
OdIE, 242t 0ls82 ¢ HH &X
13,530,000 * 14 13,530
Oozg8s 18 8 &1 14,300,000& * 14l 14,300
Oes2d+ e &X 17,600,000 * 14! 17,600
OR+=HelAeE 223 At
50,000,000& = 14l 50,000
osEdIE 3L34 7,000,000& * 10H= 7,000
odUxsa 3LEH 7,000,000& = 1JH A 7,000
OFFI7H FLEZ(=21EH)
7,000,000& = 1004 7,000
HSAE &dl2el 185,577 235,267 A 49,690
201 Zet24E] 37,447 52,547 A 15,100
01 At 2t 2l 37,152 51,519 A 14,367
05l FXNEx & PR 9,276
ORNE= 185,000& * 404 » 128 8,880
OFIIEMN =2 99,000 = 4CH = 13 396
odsolad EIIZ AL 330,0008 « 1CH * 13 330
OZAIJtA FIIEA 175,000& = 1CH = 13l 175
o2 FIIEA =8 100,000& » 404 400
OM=ZX & =2 =ZZA
70,0003 * 3MHA * 13 210




2A: SsMsMS2 MSAMED

deMES22 =4

D HS A2

M-8 B9I(3) - HRAY - BES il HImEET
OFIIUMEA A2 5,160
OFFmEa& 250,000& ~ 123 3,000
OF=d+% 180,000& * 128 2,160
OoYst2cP: =2 10,200
OZEZINE2 5L 850,000& = 12& 10,200
Oz33J1& A& i =
130,000& = 2% « 13 260
OEgd, JtA, s U=
200,000& = 1¥ = 13l 200
OosZJ&2k u=s 20,0008 = 1& = 12 20
(OFSIPIReIFSEC Fo1 DN ST 90,000& » 1¥ 90
O&¥stx: EA 11,700& * 430& 5,031
OXII&H HIZA(EFRESZ)
800,000& * 14l 800
OUFUY HAH AEIH S
2,500,000& * 20H A 5,000
232l 295 1,028 AT733
ogstzel Xt &3l 165
Og3ldl 55,000& = 3% = 13 165
OdJ|etA 2te| X+ & 3l 100
O# 3l 100,000& = 1¥ = 13 100
OJtAALDHHA HAEH 30
O4d3ttHel 1904 30,000& * 13 30
W=l 26,490 28,620 AN2,130
01 M= 4l 26,490 28,620 A 2,130
OAUN=2 2 35I| 43 2,390
O&F2H 4,000& = 2004 800
O¢3HA 20,000& * 30 600
O22H 5,500& 304 165
Od=2E 55,000& * 154 825
OXM=AlE 3,000
OV E g 600,000& * 5& 3,000
OAN&EzE A 7,000
O2BHMER 15,000& * 300K 4,500
OU# I & 50,000& * 504 2,500
ogssHE 9,100
ogsdole 4,000& = 800m 3,200
Osd3A0lE2 900& = 1,000m 900
odZEE IC 20,000 * 5004 1,000
(OFSETSuS= 28 1,000,000& * 2JH4 2,000
Oz IRsR 500,000& *4JHK 2,000
O&EI| - 2EXMH 2 5,000,000& = 14 5,000




N A4 SN RHUSHSEHZ MSALD
Ha: AYHSBA T4

S MSAL2 (9 ® =)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
401 Al HIZ 201 Y| 121,640 154,100 A 32,460
01 A& HI 121,640 154,100 A 32,460
OFZHMER 222 HMB L SHALIH
2,000,000& * 404 8,000
OFFHs2 d3I M2 & d=2E Fi
10,000,000& * 1CH 10,000
OJIAHEH AMEE EH(BEZINE2 60HL)
1,000,000& * 7004 7,000
OFFE S22 (BEZINE2 1HL)
4,000,000& = 50H& 20,000
OIMEH RAES(MSASESEA)
1,000,000& * 7004 7,000
O&EII&Hl B4 (SEHINIEQ 8ix)
3,000,000& * 9 A& 27,000
oYsSHLH B+ 12,000
OgssEdEY 2 1,000,000& * 404 A& 4,000
OCCTVHE Hl 2= 1,000,000& = 404 A 4,000
OFESAEH 2+ 1,000,000& * 400 A& 4,000
OFFHMEZ R4H0I012 X A
3,000,000& » 404 12,000
OFF=ZFFE HHl X A 18,640
OccTv & X 2,000,000& * 8CH 16,000
o271 &X 880,000& = 3CH 2,640
HEEHYIE ANEHLAY 2,600,000 2,600,000 0
J| 780,000
< 546,000
Al 1,274,000
401 Al HI R 201 I 2,600,000 2,600,000 0
J| 780,000
< 546,000
Al 1,274,000
01 A& HI 2,555,624 2,555,624 0
OFFTEIINE AMEMNLAY
2,555,624,000& 2,555,624
J| 780,000
S 546,000
Al 1,229,624
02 Zeltl 37,876 37,876 0
OFF=ZTEZINE AMEMHLMS
113,628,000% * 1/3 37,876
03 Al 2 THHI 6,500 6,500 0
OFF=ZTEZINE AMEMHLM
7,800,000,000& * 0.25% * 1/3 6,500
HEHE 4 427,094 520,981 A 93,887
HM=AlE Al2I0IE 43t 427,094 520,981 A93,887




Jlzts AP A 2A: SsMsMS2 MSAMED

M MEHE 24

S MFAE AR0IE 2435 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
CH2tM S A& 22 417,646 508,033 A 90,387
101 @14 Hl 78,319 78,021 298
04 JIZHHZ2XNEE S 78,319 78,021 298
OMSAE A0 B
38,9003 = 7H « 25¢ « 103 68,075
OZEFIHI(JIZMI2ZXL)
200,000& = 78 = 23| 2,800
OAZ B8 & 7,444
O=RH=RE= 68,075,000& * 4.5% 3,064
OR0AYLHELSI
68,075,000& = 2.82% 1,920
OFINRAEEERES
2,194,000& = 6.55% 144
CLEZEZRES 68,075,000& * 1.4% 954
O Ml EE = 68,075,000& * 2% 1,362
201 Let24d] 323,439 414,149 290,710
01 At 22l 3,600 3,600 0
ONMSAIE SAXA 3,600
O A2HAT =4H 6,0008 » 28 » 100 1,200
OMESANE 22X =4l
6,000& * 494 * 100 2,400
02 2324l 319,839 410,549 290,710
oY - -otx=kl=
1,000,000& = 3HAIE * 123 36,000
OZAINARZ 67,213
OFFHs2(43t=Eg)
870& = 107.3m » 3AI2H = 400 » 60 67,213
OF=sTal 1,970
OUS®REYRE= 1,100,000& * 13l 1,100
OZMNERE S 160,000& * 23] 320
OMolil = +Hl 550,000& = 13l 550
OMSAE HIRS 214,656
OFFRTI2I22) 780,000& * 12& 9,360
OHFRTI2(=E)
15,000kwh » 90 =+ 12& 16,200
osgdlE(IEE) 6,000,000& * 12& 72,000
OZgHINE;(=g)
80,000kwh » 115& * 12& 110,400
OMSAE H2EODIE2Z)
180,000& * 12& 2,160
OMSAE HEE(ZLEI)
4,200kwh * 90& * 12& 4,536
206 M= Hl 13,728 13,703 25
01 M= 4l 13,728 13,703 25




Jl2t: AP A 2A: Ssdz=d=32 ASAE
Hu: MEBHR 84
ool MSAIA AlDIOIE BA3 (B9 ®R)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
OZIE 2o ES 2,080
OH 3l (20kg) 4,200& * 100% 420
OmIQ E(20L) 83,000 = 20= 1,660
OMEANE BAES 11,648
OStHa HASE(HIr2 255)
200,000& = 12& 2,400
OMED RELE(100L) 1,860 = 1,3000H 2,418
OMYDl RAESE(50L) 930& * 1,1000H 1,023
ONMEESE =HE2 EYEE 170& = 700& 119
OFFHAE FEX
39,500& = 128tA « 12& 5,688
307 QI2t0| & 2,160 2,160 0
05 QIZ2tR E 2 2,160 2,160 0
ORT3 & ROoAHHIAIAE 180,000& * 128 2,160
HEZISE 29 9.448 12,948 £3,500
201 et A | 2,400 2,400 0
02 33294l 2,400 2,400 0
O&dS X S X 800,000& = 3CH 2,400
206 M = Hl 7,048 10,548 A 3,500
01 XHZ Hl 7,048 10,548 A 3,500
odII=EE 6,198
Os7% U E 14,000& * 12X 168
O=3= UE(E2) 550,000 = 2X 1,100
OZ2HI0I A 1,500,000& * 1% 1,500
OolsHolA 90,000& * 1= 90
&2 EY0E 750,000& * 20H 1,500
O Zd0lE 700,000& = 24 1,400
OBXES EYO0E 55,000& * 8IH 440
OHI0l = 1,000& = 100H 100
O+ cteldlol= 15,000& * 50H 750




AR A M DelHE n
HHESIZY (LM SH A )
ol 2o bl (B9 ®R)
SN BAGIA) - HRAY - BES 0l &t o il HImEET
nolMetset 2 AW 2,624,520 3,559,083 A 934,563
743,000
1,881,520
HYRIZH (DM 2 A1) 361,207 1,645,514 A 1,284,307
el 2 165,442 1,434,851 A 1,269,409
2l 165,442 1,386,491 A 1,221,049
101 @124l 165,442 1,386,491 A 1,221,049
01 2= 66,934 1,068,233 A 1,001,299
oxzu2R+¥ 66,934
OANMZe 2R 66,934
-2 LA 8,4763 » 14H » 28AI2t » 123 39,872
-2 11,0263 = 18 » 28A12t « 128 3,705
- AL 9,044 = 3" » 28AI2t » 12& 9,117
-Jis® 8,4763 * 5 » 28AI2t » 12 14,240
02 JIEtE B == 20,232 201,910 A 181,678
ORI E 18,083
OANMZ 2R+
7,803 * 4F + 28AI2+ + 12E 10,488
OAnZ R+
2,601& = 8AIZt » 1H * 3652 7,595
OXS A A S0l A A
6,393 * 1% = 28AI2t » 128 2,149
03 I AHA2ZZHE > 78,276 116,348 38,072
OHIN& HAr2el & 70,264
od=s(ta) 50,352
ZASN 27,676,0008 » 1H 27,676
—-12@ Xt 22,676,000& = 1H 22,676
OF=1 11,592
s 1,680
il < Xt 40,0003 = 128 » 29 960
EHl= 20,000& = 128 = 39 720
-HEI2Z2SY 346,000& » 128 » 29H 8,304
SN
26,676,000& / 36562 * 112 x 29H 1,608
OZFEFItHI 700,000& = 23| * 29H 2,800
O= &l 120,000& * 128 * 29 2,880
On &t 110,000& » 128 » 29H 2,640
o=t 640
OHIAE & 230,000& = 23| = 1¥ 460
OJIEt2 & 90,000& = 23| » 1Y 180
O=0H=2Eg= 70,264 ,000& * 4.5% 3,162
ONEZEERES 70,264,000& * 1.4% 984




Jl2k AFE A M DelMetEsa 2IAE
HE: BHSHAL (DAY SYAYD)
& o 2d|
A2 .2 FH-S(BH) - HRAY - BES il &t o il
CHLSBEH=RES 70,264,000& * 2.9% 2,038
OFEINRYEBE=ZREEZ  2,038,000& * 6.55% 134
OdATHHEA = 70,264,000& * 1.5% 1,054
Jl23tl 195,765
JI23l 195,765
201 LB-2d| 175,105
01 At 2t 2l 65,870
OJlegesd 33l 7,260,000 7,260
oOxs HR2DA 7,000& = 508 63l 2,100
oOMER=EE 2,352
Os¢X 15,0002 * 20 AL = 12 360
OX X 13,000& * 6IHAL = 22 x 123 1,872
Ost=2a4d 32X 10,000& = 1& = 123 120
CgRUdEr+= 25,650
O e Y
250,000 = 20 = 123 6,000
OZAIAAIE HOIES 350,000& = 13l 350
O&EINIEINE M 1,000,000& * 13l 1,000
O&U3IIE =& 1,300,000& = 23] 2,600
Oo2gd EIIZEA 100,000& * 13 100
Oagotd ez
250,000& * 20 * 12& 6,000
O&EJIotE 2= 800,000& = 12& 9,600
O<fI& W= 700
OAYotd 2= 50,000& = 28 100
Oogael, &8I, AN MU=
200,000& = 39Y 600
o=zg=+¢ 18,560
Og& g 80,000& = 2% = 116 18,560
O=2gtdl JI&&Hl 6,048,000& 6,048
o1l =l 1,040
OFAZZE 130,000& * 23] * 49 1,040
od - -2=J gz 45,0003 = 404 = 123 2,160
=323l 109,235
oOXIRS 46,992
OJlezg 5,140 = 350kW = 123 21,588
oMz 733 x 29,000kW * 12& 25,404
(OFSIcIReR=, 10,000& * 128 120
o4 -ot=ER3 500,000& = 12& 6,000
OHERI(ZAIIA)
600 * 4AI2H = 180m = 802 34,560
oORERS 3,024




Jl2: At A M DOMEIS2 2 HAISE
Mz HMSAHH (DM 2HAL D)
el Dl (29l 8)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
Ot 240€ * 300 *~ 12& 864
OsII 1,500& = 1208 » 128 2,160
OXESR=2 840
OCHY gEMES 70,000& * 12& 840
o4 g3bl 850
OAM Xl &3 100,000& = 13 100
Ost=2=108 BEE2 3 100,000& * 13 100
ORI et22E 3 150,000& * 13 150
OFdH =383 150,000& = 13 150
Oss8g=s283 100,000& * 13 100
Ost=28&43| 100,000& = 13 100
Ost=mAag otME3 50,000& = 13 50
Og &AL 3 100,000& = 13 100
oA E8= 4,620
OXsx 828 400,000& = 2CH 800
OJtA A MAEE = 20,000& * 13 20
OCEAILD FHE2EH 3,500,000& = 13 3,500
O3 HEE HAEESEE 300,000& * 13 300
O XS XA 400
OA8(s8,52) 100,000& = 2CH = 23| 400
osgdNeErd"=2 740
OXs k& 70,000& * 23| 140
OANEZ2 300,000& * 23] 600
OA & &Hl S XYl 588
O d &l 588
& K= AL 4,200,000& * 1CH * 6% 252
-dl 0l M ZelE 698,000 * 8CH * 6% 336
O Al 2,500,000& = 2CH 5,000
OdSE HA 1,500,000& * 13 1,500
o283 HA 17,700& * 113€ x 23] 4,001
202 04| 13,440 14,532 N 1,092
01 2L Y| 13,440 14,532 AN 1,092
OZ22& JIE4H| 13,440,000 13,440
203 &R =&H| 7,220 7,220 0
01 J|22H L RF=AH| 3,300 3,300 0
(OISl 3,300,000& 3,300
02 RIS R = XIH]| 920 920 0
OPJES 40,000& * 239 920
04 EANSHLRF=AH| 3,000 3,000 0
©J| =M (15210]5}) 250,000& = 12& 3,000
SRMEELNS 2,263,313 1,913,569 349,744




Jl2: AP A 2A: DolME N
HY: 2RMPEUNS
gel: ANEEAUS o &)
AR RN EHH O (3H) - MBEAY - BAS 0l &t o il HDS2
= 743,000
1,520,313
AXNEEANF 46,440 48,760 A2,320
Mgzl 29 4,440 9,260 N 4,820
201 Bt A | 2,000 4,000 A 2,000
01 AP 22l Yl 2,000 4,000 A 2,000
oxNgs 28 & IS
2,000& = 1,000 2,000
206 I = bl 2,440 5,260 N2,820
01 X bl 2,440 5,260 N 2,820
ONMESA2E M=t 1,440
OstXNED| S 48 6,000& * 20¥ x 12& 1,440
OLERXNY MaH 1,000
Ol X582 43 1,000,000& 1,000
X EE2AY =X 13,000 15,500 N 2,500
201 LEt2 Y| 8,000 10,500 A 2,500
01 AFR 2t2ldl 8,000 10,500 N 2,500
o=s=2e 8,000
ogsa =8It 3,500
-2t 1,500 1,00082 1,500
E=PNE=] 2,000& 1,00082 2,000
Ocl &8 4,500
-= 2 500& * 5,0000H 2,500
-2/=0 1,000& 2,0000H 2,000
203 g R =&Y| 5,000 5,000 0
03 Al =X H R =X Y| 5,000 5,000 0
OXXMAHSLR = 5,000,000& 5,000
Nu=s aAl 24,000 24,000 0
307 QI2t0| M 24,000 24,000 0
02 A2t NMNE X 24,000 24,000 0
OXMXQE= H&ESAH 24,000,000& * 13 24,000
sl 22 23 AL 5,000 0 5,000
301 dEtEAZ 5,000 0 5,000
10 AR HI 2 &2 5,000 0 5,000
Otz AbE2a=a 5,000,000& 5,000
delE2s32dxy 259,165 206,481 52,684
A& S22l 10,948 42,886 A 31,938
101 @121l 10,948 10,116 832
04 JI2ZtH22XNHEE =+ 10,948 10,116 832




A 2 SN DOIMSSE 2YAYD
THRMEELHS
g 2332 xy (&)
CRA - S(BH) - HRAY - BAS il HlnE2
outsa 22 ot I MAIA 2tg 10,948
OJdles 38,9003 = 19 = 252 « 103 9,725
OZFEFItHI 200,000& = 198 « 13l 200
OIS RES 9,725,000& * 4.5% 438
O=0AHLEERES 9,725,000& * 2.9% 283
OEINRYEEHRLES 283,000& = 6.55% 19
CLEZEEZRES 9,725,000& * 1.4% 137
OMZMAHEE = 9,725,000& * 1.5% 146
42 sXl&2 170,947 100,484 70,463
206 M= Hl 12,800 7,500 5,300
01 T2l 12,800 7,500 5,300
oure 2 I A KHTH 200,000& = 108 2,000
ogs ¥ SAIM 150,000& » 103 1,500
(OE-PNIN 100,000& * 108 1,000
OXtESH I 240,000& » 103 2,400
OX S (LED), M ZJID| 180,000& * 108 1,800
OYHEZZNEML 820,000& = 54 4,100
401 Al HI L 2 THHI 109,047 91,984 17,063
01 A& HI 109,047 91,984 17,063
OHE |FA2el 2,500 = 5,287m 13,218
oO+== |RA2eal 300& * 40,990 12,297
O&IIANE SR2el 15,0002 * 930kw 13,950
OJIAHEH SN 2el 5,000,000& = 138 5,000
odes RLIE M2 2 &yl
23,000& = 270RT 6,210
O&JI2Le M2 & FHyl
10,000,000& * 0.5& 5,000
OAYHH S22 5,000,000& * 14! 5,000
OSHAE KX 4,000
Oogs se&l 1,000,000& * 14l 1,000
OCCTV AlAEEHI 1,000,000& * 14 1,000
Oozgs JaFEy 2,000,000& * 14l 2,000
o2Y & S+EIZS WA 5,000,000& * 15 5,000
OAIAE D] |KXI22 1,000,000& * 14l 1,000
O3=J ZHLAH 2,000,000 * 14 2,000
OLHI KX 2el 2,372
OgdIl sXlae 2,000,000& * 14 2,000
OdzH(ER) 1,857& » 2004 372
OTA &SI 22 21,000
OS2 10,000& * 600m 6,000
O AN S22t 10,000& = 800m 8,000
OAMiolILr & 7,000




Jl2k AFE A M DelMetEsa 2IAE
Hu: PURUSEUTS
ool ZRUSHBAXY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
-8 SSM =ZO0IMH 7,500 = 400m 3,000
-AES S0 10,000& * 400m’ 4,000
OFAA FHOje Hes X
10,000,000 * 14 10,000
Ot A AlEN 3,000,000 = 14 3,000
405 TtobH S 49,100 1,000 48,100
01 AL ESFH SH 49,100 1,000 48,100
ONIOILE&! 49,100
ozZssg &4 35,000,000& * 1CH 35,000
Of4 otol3a 4,700,000& = 34 14,100
lsA g2t R 2el 77,270 63,111 14,159
201 et 1,680 1,680 0
01 At 22l 1,680 1,680 0
ogtsa &4y 140,000& * 122 1,680
206 M= Hl 6,390 8,040 A 1,650
01 =4l 6,390 8,040 A 1,650
oMY IIsE= (1008 ) 1,860& = 3008 = 12& 670
Ozad A E 100,000& * 122 1,200
o= HAMA g S
7,000& = 3004 = 123 2,520
oOxZ&elE(s 2,5J17#8)
2,000,000& = 13l 2,000
307 21201 A 25,200 23,400 1,800
05 RIZt2IEt = 25,200 23,400 1,800
oSzl 300,000& * 12 3,600
o=z i 1,500,000& = 12& 18,000
OAXNET W HFRAE FLES
450,000& * 83 3,600
401 AIEHI L 2CHYI 44,000 29,991 14,009
01 A& HI 44,000 29,991 14,009
OXZANE R 39,000
Ox&d=+ 15,000,000 = 14l 15,000
O&0 &« okt 5,000,000& = 43| 20,000
ogf22U g=aoi ¢Hd 4,000,002 * 13 4,000
ogtsax=8H Z&As x4 5,000
Ogfsa FHZEHX Ot WA
5,000,000& = 13l 5,000
HXN2EF 43t 1,410,000 818,320 591,680
& 743,000
Al 667,000
SIOH QI MAIZ A 1,410,000 818,320 591,680
= 743,000




Jl2t: AP A 2A: Do SHAIE
Hu: PURUSEUTS
ool NXSHSD 25 (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
Al 667,000
401 AlEHIZL £ 0HY| 1,410,000 818,320 591,680
2 743,000
Al 667,000
01 Al&EH| 1,402,705 814,000 588,705
OZ2E U Q4 A2 HH
1,402,705,000& = 14! 1,402,705
2 743,000
Al 659,705
03 AlE 21| 7,295 4,320 2,975
OZ2E U oM MAIZ HASHZAF 204
1,402,705,000& * 0.52% 7,295
XX (EE) MAH S 289,908 280,008 9,900
X HAHS AFY I2ts=E X& 65,808 65,808 0
307 2Iz2t0| A 65,808 65,808 0
03 AL X2 65,808 65,808 0
ONMAZXXEZSE3 AIR=2 29 K&
65,808,000 * 14! 65,808
- -HE 10 13 HUYI s =48 154,100 164,200 A 10,100
201 et d| 4,100 6,200 A2,100
01 AP 2t 2| bl 4,100 6,200 A2,100
O12 1 HUWI| E2=2 ME 4,100
[@)=Esl 50,000 = 302 * 23] 3,000
OH™CX 110 * 5,00082 * 23| 1,100
301 et A= 75,000 75,000 0
10 HAFAHI B &2 75,000 75,000 0
©O12l 1= THLII ZAF AH X
25,000& = 12A12F = 259 » 10€ 75,000
307 2Iz2to| & 75,000 83,000 A 8,000
02 QI2tA AP X 60,000 68,000 A 8,000
© 12 124 THLHD| AtSE =&
60,000,000& * 14! 60,000
04 QI2H8H AL R 15,000 15,000 0
So)|E3 ¥ AMAlZ 15,000,000& * 13| 15,000
ol 2l On-0ff Line 2% =4 40,000 50,000 A 10,000
307 2iz2to| A 40,000 50,000 A 10,000
02 QI2tA A X 40,000 50,000 A 10,000
OBt Web Sl Z28 ¥ 2F4H
40,000,000 40,000
MRAE Ssa FA 30,000 0 30,000
307 2iz2to| & 30,000 0 30,000




Jl2t AP A A DeiMers2 2E AL L
o
TT

Y RHRNBEURS
o AKX (EFE) MAHS (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
02 QI2tAF A X 30,000 0 30,000
O&MXAHE 25HA =X 30,000, 000& 30,000
AXo Y A 115,000 560,000 A 445,000
SUAZDZ XA 115,000 60,000 55,000
301 et A= 15,000 0 15,000
08 2Bl =& 0 bl 15,000 0 15,000
O&AX A =202 & =H 15,000, 000& 15,000
307 212t0| & 100,000 0 100,000
04 QI2tSHALE & 100,000 0 100,000
OKUIAD ZXIA AlAA L SCHEH AL
100,000,000 = 100 A 100,000
X2 EFRXHY 142,800 0 142,800
=8 FTX M2 AlE 22 142,800 0 142,800
201 et Y| 10,000 0 10,000
03 A2 bl 10,000 0 10,000
OZHER FX ML HA
10,000,000& = {14l 10,000
307 2iz2to| & 100,000 0 100,000
05 QIZ2tR ES 100,000 0 100,000
O2x=&EX =X M2 29
100,000,000 = 100 A 100,000
405 XHAHFI S HI 32,800 0 32,800
01 AL 2 EF S| 32,800 0 32,800
OXA & 2 EFSHI 32,800
o3os =X 355,000& » 202 7,100
Oglos X 100,0008 * 602t 6,000
Oz & 300,0008 = 22f 600
OzH A 1,200
g D= 600,0008 = 12 600
-aul= 200,000 = 32 600
O Q9| Xt 1,100
g A= 350,000& = 12 350
-t =E 250,000& = 32 750
OZBEH(AMEZ) 1,300,000 * 4CH 5,200
OZ2IE(OoIA) 1,000,000& * 1CH 1,000
oz 200,000& = 204 400
OTv(42") 1,200,000 = 2CH 2,400
OYZ (4000 ) 600,000& ~ 1CH 600
O&XBHAD| 200,000 = 1CH 200
O& 9 Xt 500,0008 = 6H 3,000




=
ol

30
O

)
O

ol
=
B

ol
Bl

2A:

<

n0

Kio

Hl w

H3r
Wikd
RIS

Off &t 24

2,000
2,000

2,000,000& = 1M

<+
Ju

o

o

1,000,000& = 20K

EN]
il
Ki

i

ioJ




>
A & 0l & AF 2 E A A
Jl2k AFE A M DelMetsa sodRa
Ha: gI2YA
& 123l (chel & 9l)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
nolaerset s Al 878,058 987,953 A 109,895
= 200,000
< 60,000
Al 618,058
HE2AAH 29,588 26,560 3,028
Jl2&dl 29,588 26,560 3,028
JlE= 3l 29,588 26,560 3,028
201 Let2d] 17,948 14,420 3,528
01 At 22l I 14,736 10,698 4,038
OJleges=dasZ 6,850,000 6,850
otER=EZE 648
OF2=ON| 15,0002 * 1AL = 128 180
OX X 13,000& » 3HAL » 123 468
OXXLE MREH SE23HE
350,000& * 7% 2,450
ONXME BNES S8HE
450,000& = 2% 900
O=gtl JIE3l 3,888,000 3,888
02 =24l 3,212 3,722 A510
ORERS 2,750
Oax 4,000& = 500= 2,000
OosJis# 1,500& » 500 750
OA&EH Sl 462
O & | 462
RAPNE=YN D] 4,200,000& * 1CH * 6% 252
RGPS ERE = 698,000& = 501 = 6% 210
202 04l 8,640 8,640 0
01 = LH 4 Hi 8,640 8,640 0
OPIEE: 20,000& = 9H * 60 * 80% 8,640
203 YR =& 3,000 3,000 0
04 FN2ELRZ=TH| 3,000 3,000 0
OJ| & (1521016t) 250,000& = 123 3,000
IR BEE L S 848,470 961,393 A 112,923
= 200,000
< 60,000
Al 588,470
JIERAtetel 86,711 82,681 4,030
s=2 B & 51,711 41,681 10,030
101 1244 dl 7,511 7,081 430
04 JIZtHZ22HEE+ 7,511 7,081 430
OR=s & A2 7,511
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Jl2k AFE A SN Dol Ol A&
29 PE U M2
St StaolT Y ZA cholE )
- _ — d =
AR RA - ZBEAGEH) - MRAY - BES Ol &+ o4 e 52
140,000
207 A RO H| 50,000 0 50,000
& 25,000
< 7,500
Al 17,500
01 289 50,000 0 50,000
Otz &Y 50,000,000& = 14 50,000
& 25,000
< 7,500
Al 17,500
405 Xt&HE SHI 350,000 280,000 70,000
= 175,000
< 52,500
Al 122,500
01 AL EFH S 350,000 280,000 70,000
OXX 25X Xl =
350,000,000 = 14 350,000
& 175,000
< 52,500
Al 122,500
St AN Y2t 30,000 71,500 A 41,500
201 Let2d] 30,000 71,500 A 41,500
01 Al 22! H| 30,000 71,500 41,500
ODOM2 0 (SHSE) w2t
0,000& = 1,000 30,000
St=tH g ¥ XA 3,000 98,000 A 95,000
307 glz2+ol & 3,000 98,000 A 95,000
04 QIZ2HHALE = 3,000 98,000 A 95,000
OMXIEs EAHE 3,000,000& * 12/ 3,000
AN YEY 7S 19,200 23,700 4,500
gl nxy 4535 19,200 23,700 A 4,500
201 YEr2 Y| 4,800 3,900 900
01 At 22l 4,800 3,900 900
O=HUERZa *= 4,800
Oog <l 30,000& * 800K 2,400
Os<dl 300,000& = 8¢ 2,400
202 04l 14,400 19,800 25,400
03 =220 bl 14,400 19,800 25,400
OFXEE A (A, =9) 9,800
Ogs= ,800,000& * 2% =+ 13 5,600
O X A bl L0003 = 2% + 72 + 13 4,200
o2 s E2EA(S2) 4,600
ogsx 800,000& = 2H « 13l 1,600




Il AL A SA: DolAstSD st e Al
MM PN BE Y MBS
E©er =X WERD = EER-ED
- _ _ RE!
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
| | O M Mt 300,000€ * 2% * 52 3,000
NXNEEY WS 309,559 376,512 A 66,953
NKESD 29 51,400 48,400 3,000
201 LEt2 ) 51,400 48,400 3,000
01 AL ZH 2l 30,000 27,000 3,000
OFZT2E ISR AR
2,500,0002 * 12% 30,000
02 Z229H| 21,400 21,400 0
OXFZ2S XNIS2D 29 18,400
OFI(ZH)RZ 200,0002 * 122 2,400
ogsa 4,000,0002 * 13| 4,000
O - ey AIQE  1,000,0008 * 128 12,000
OXXEEZ HAIRH |X
3,000,0008 * 1744 3,000
XNF 29 =3 A 83,639 84,548 A909
202 01| 3,639 4,548 A909
01 2LH 04 b 3,639 4,548 A909
OXX 2U=3™ =X 0l
75,8009 * 2% x 32 * 103 * 80% 3,639
307 DI2HO| & 80,000 80,000 0
02 QIR AR X 80,000 80,000 0
OXNX =2Uz=3H 10,000,0002 * 83l 80,000
NFELCH 24 109,700 145,164 A35,464
201 Lt 9,800 17,700 A7,900
01 AL ZH2IH 9,800 17,700 A7,900
OFOIJl= =X H=2YI| 1S 6,500
OLA 2=¢ 70,0008 * 503 3,500
OLM M= 1,0008 * 3,000% 3,000
OXXMHE ANUESC 28822 2,500
O8I 5002 * 30004 * 103 1,500
OABE S HEH 100,0002 * 103 1,000
ORNISAN 2Y 800
OB XA XU 600,0002 * 104 * 13 600
OX2 = AL 1000AI2F ST 7S T
100,000 * 274 200
301 LEtE A2 29,900 62,464 A32,564
10 AR HI 2 A2 29,900 35,464 A5, 564
O X & A 600
OnSE= oY 20,0009 * 3% * 103 600
OXX AMolEgc 2,000
O== ol 20,0002 * 10 * 103 2,000




Jl2k AFE A M DelMetsa sodRa
M 23RN BE Y A
el AXNEEY WS (=& J)
A SA - SAEA) - MRAY - BES il HImEET
OXNESALAL 29 27,300
OS AR HHIXJ(SAH, RsHl)
15,000& » 5% = 269 = 12& 23,400
Os X gA =4l 6,000& = 502 = 12 300
O&JIus & Eda FAI 24|
6,000& * 50 * 12%] 3,600
307 gl2tol & 70,000 65,000 5,000
02 plZtA A2 X 70,000 65,000 5,000
O&AXNEE ATZD 60,000,000 * 13l 60,000
oAXUHs 24 10,000,000 * 12l 10,000
HANEES &2 32,000 70,000 238,000
201 Let24d| 32,000 70,000 238,000
01 At 2teltl 32,000 70,000 38,000
OXX 22= 22,000
oc s 400 * 10,0000H 4,000
O=0=2 3,000& = 3,0000H 9,000
Ot XI (A0l A& EEH) 5,000& * 1,000H 5,000
ogg 4003 * 10,0004 4,000
OFX WA 2 10,000& = 1,000% 10,000
gtEgd U= 32,820 28,400 4,420
201 Let24E] 22,820 18,400 4,420
03 A2 Z Hl 22,820 18,400 4,420
ou=sa 22 A JHA 22,820
oxzd 20,000&  500% 10,000
OZA=¢ 380,000 » 242 9,120
Os:&s 3,700
-elsg 600& = 5,000% 3,000
-9 70,000& = 104 700
307 21201 A 10,000 10,000 0
02 plzZtE a2 X 10,000 10,000 0
ooeol 2ststn 2Y 10,000,000& 10,000




N = 0l & At & Ml A

Jl&: At A PM: B 22/
FM: #¥2IZH (Zel)
Sel: o2y (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
EHNE 22 2,721,540 5,881,054 A 3,159,514
HY2F AL (22lDt) 1,076,447 4,175,589 A 3,099, 142
el 2| 221,647 3,364,373 A3,142,726
oI 244l 221,647 3,248,933 A 3,027,286
101 @14 dl 221,647 3,248,933 A 3,027,286
01 2= 176,573 2,545,991 22,369,418
oxzu22+¥ 176,573
OANZ 2R 176,573
-2 BHA 8,4763 » 50H » 28AI2t x 123 142,397
-Jls® 8,476& = 12% = 28AI2+ « 128 34,176
02 JIEtE B = 45,074 702,942 A 657,868
oAz R4Y 24,367
OZHZ BAYS
7,2523 x 28AI12t « 10Y « 123 24,367
CIVEIEERNE EE D
2,601& = 8AIZt » 1H + 3652 7,595
OFg=2R=E 2,624
OANE M2 58,2963 * 1Y » 45 2,624
OANLAD R4 (HYA )
7,803% * 28AI2F x 4Y » 123 10,488
Jl=Zdl 854,800 811,216 43,584
JlE2&l 854,800 811,216 43,584
201 Let24E] 833,540 711,196 122,344
01 At 22l 12,876 12,494 382
OJl=g =8| 7,260,000 7,260
O= &l 6,0002 = 13H » 80 * 90% 5,616
02 =224l 820,664 698, 702 121,962
OFSE R 395,590
OJlee3a 6,800& » 70HA = 183KW » 128 104,530
OUNE=J= g4
100& » 7JHA * 34,650KW » 128 291,060
OXNIHLRS 62,159
OJlegs 3623 * 635Mcal * 12& 2,759
oMNEsERa 90,000& = b5Gcal * 12& 59,400
ONAR= 1,000& = 2,500m = 12& 30,000
o4 -ot=&ER3 1,600& = 1,000m * 12 19,200
ogdMEREE=S 200,000& = 23l 400
OogetEs A SMSe=
50,000& = 3534 = 123 21,000
OFEAAY ZHAMEE 75,0003 * 14l 75
OZNMEE2SA(IP) AIEE
3,500,000& * 63l& » 123 252,000




JlB: ARA A BYDSE el
Mz iMAHd (&2l)
el Dl (29l 8)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
O=2IEEBEESAMNHIA MEIH AHEE
500,000& * 634 * 12& 36,000
OFYHEOEAS AHYIHE ANEE
70,0008 = 134 = 128 840
OCHEAID HIABEE S 3,000,000& 3,000
OIAAMND BUABSEHZ
200,000& * 13 * 2JH 2 400
202 04| 12,480 11,520 960
01 2LHHI 12,480 11,520 960
QJI=g2=d J|IEZ U
20,000& = 13Y » 60 * 80% 12,480
203 ¥R =AY 8,780 35,100 A 26,320
01 J|22IHR=XY| 3,300 3,300 0
OJ&#2dIRF&Y| 3,300,000& 3,300
02 E Rt R =AY 2,480 28,800 N 26,320
©JI=H (100 0l ot) 40,000 * 62 2,480
04 ENSIHRF=AY| 3,000 3,000 0
©J|1E&Hl (15 0ldt) 250,000& = 12& 3,000
MNE 848 =4 1,645,093 1,705,465 A60,372
Ds=sE&3ASR2Y 97,500 114,510 A 17,010
=& AE02 &9 97,500 114,510 A 17,010
201 et A | 91,800 99,660 ANT,860
01 AFR2t2l Yl 10,700 11,310 A610
OU=&=MAEL? EE2 7,700
Oz Xt 4,000& * 5005 2,000
OclZa(4&o0l) 1,500& » 5002 750
Os2=s ¢s8 85 500& * 1,5000H 750
Oy =24 110,000& * 203/ 2,200
OXSAIR A L HE  1,000,000& * 24 2,000
OMRE A2Z2F 10,000& = 10= * 300K 3,000
02 332494l 5,600 3,600 2,000
O=MIUFZI HAIA HIMES
200,000& * 3& 600
oXgd LS 1,000& = 2508 * 203/ 5,000
03 HALS H b 75,500 84,750 A9,250
OYx=&I ss/IAS 10,950
O ALEI S H| 950
-2| 2 H = (3HFO0) 1,500 » 5008 750
-=cHItE 100,000& = 24 200
oA E M= 10,000
-2ALS (2 A B 24I) 300,000& *= 20H 6,000




N A4 SN BMaDSD 2ol
HE: BMDS B X4
??: D= ARLULSI tel &)
A SA - SAEA) - MRAY - BES il HImEET
-2 & HE 3,000& » 5008 1,500
-2 424 2,500,000 * 13 2,500
OAFCLX JIEHEA 7,000
AEZME L MY 1,000,000& * 13/ 1,000
OXE 2tz 3,000,000& = 13l 3,000
O22= MH 3,000,000& * 12/ 3,000
OYHEOE FF(ANUFHZZOHY) 4,850
OdMsEE HH 4,850
-2l B3 (3 0l) 1,000& » 5008 500
-EdItE 70,000& * 5K 350
-E208 23 ABRFEH| 3,000,000 3,000
-AAME 100,000& * 109 1,000
OY=&Jt dlold 17,000
O&ANEEeZ WM 650,000& * 243 15,600
OZHItE M= 140,000& * 104 1,400
OREASLRU(YF SEEAE) 28,100
O&EE WA 15,000& = 1,0005% 15,000
OXSME 2F ©& 400,000 = 243 9,600
Os&dl 3,500
-EUE 1,000& * 5000H 500
-SHItE 1,000,000& = 13l 1,000
-0l=&xX 20z 2,000,000 2,000
O=ZHMnyg T8 22 7,600
O=2Mus Z208 Xy 7,600
—WREADNE 2,000,000 = 23] 4,000
-= 9l 800,000& = 23l 1,600
-H Al & 1,000,000& = 23] 2,000
206 M= Hl 4,500 4,900 A 400
01 M= 4l 4,500 4,900 A 400
OXAIA 83 2 e AU (HLUES 105
) 2,500,000 2,500
OJNESHET ATt H Al) 2,000,000 2,000
301 et a3z 1,200 1,200 0
10 HALAHI 242 1,200 1,200 0
OHALXIE AESALX = &l
6,000& * 10¥ = 203l 1,200
ST M2 22 1,502,279 1,497,215 5,064
FE2E M2 o=t 235t 170,740 247,740 ATT7,000
201 Let24E] 35,740 106,740 AT71,000
01 At 22l 35,740 106,740 AT71,000
O2otE Al ATEQ N Hal 25,740




Jl&: At A PM: B 22/
HY: MRS BZ X4
el 3T M2 2el (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OopPcE 30,000& = 45304 13,590
OMHE 405,000 = 304 12,150
OPCE A2ZEQN P 100,000& = 1002 10,000
401 Al HIZ 2018 35,000 0 35,000
01 A& HI 35,000 0 35,000
O©%= CCTV WA 35,000
OZ M2t CCTV WA 35,000,000& * 14l 35,000
405 RHoHF S HI 100,000 0 100,000
01 AL EZFH S 100,000 0 100,000
OANEBEEEAZ2 FESAEH D7 100,000
Oe¥=A9X 70,000,000& * 14! 70,000
OHIAAEARX 3,000,000& = 10CH 30,000
ANEESRX 2e 514,196 452,322 61,874
201 L2l 286,272 268,320 17,952
02 2324l 286,272 268,320 17,952
OAAEUOZ &8 |RX2c2
2,500,000 = 23] 5,000
OSg & &5 =2
500,000& * 7oH 2 3,500
Ou=d ZESAAE KX 2 240,548
OBEESAAY s 10,080
SAE A2 600 A
120,000& » 702 « 123 10,080
O M2 HESRZA SUEX A2 42,000
A SN2 600 A
500,000& = 7HA = 128 42,000
Osg TAUHSEHAAE S22 37,200
=8 TAHAZelAY
400,000& = 24! = 123 9,600
-“EMzel 220 300,000& * 12& 3,600
~CIOIE HI Ol A (DB) 22l
400,000 = 541 = 12& 24,000
QU AAIAE RX22] 12,000
—SHAAIAE MH 300,0008 x 20H * 128 7,200
- ATEQN  100,0008 * 241 « 12& 2,400
-t AECIXI(HEEA)
100,000& * 204 = 12& 2,400
OFEAMNAE MAHEH Szt 30,000
-EHO0IX AMd RX 22
500,000& = 12& 6,000
-GAEE MY RX2e
200,000& = 12& 2,400
-SA M2 AIAE AH RA2tel
400,000 = 12& 4,800




Jl&: At A PM: B 22/
Y BMDS BF X4
Sl BB B2 EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
-2HtY 3¥E MY sX2el
100,000& * 12& 1,200
-HE = AYH |X2el 500,000& * 12& 6,000
-“EAE A= HE A |X2te
300,000& * 12 3,600
“HAH AH s 2l 500,000& = 123 6,000
Od ¢ste AlA" 240,000 * 122 2,880
OMOIEE BHHH(AZEYNIE)
100,000& » 62 « 12& 7,200
O &AMHIA S22 25,200
-4 w=s2 SHOA 100,000& * 122 1,200
-E M2 EHO0IX 600,000& = 123 7,200
“EMZeE20d 23 HOIX |X2tal
100,000& * 12& 1,200
O=&&ASC2L EHOIX RX 22
200,000& = 123 2,400
- oelsE EF" SHO0IX RmX2e
200,000& = 123 2,400
-ADIEE T A2 24 AMBlA SHOIX
=X 2el 300,000& = 123 3,600
- X @ WOl Kl =Xl 2el
200,000& = 123 2,400
-2d8l= & WOolX sX2el
200,000& * 12& 2,400
-2C0<2= & HolXl =2l
200,000& = 123 2,400
OEATE HEAAE SX2ta
300,000& = 123 3,600
OPC ¥ =gy #Xl&2 180,000& * 12& 2,160
ORFID & Ol AlAE S22 68,228
~ A 0l B 2I Al A B
140,000& » 6IH A » 128 10,080
—RFID(MIQIA) ALAE THE B DI
250,000& » 6IH A « 12E 18,000
-RFID S 25 AlAH
250,000& » 6IH A « 12E 18,000
-2 4 &l GATE
100,000 » 6 = 123 7,200
“APA 8 OIAZE read/writedl
57,6003 * 6O * 128 4,148
-AtoF BHE D) 150,000& » 6 + 123 10,800
OF=ESHA 2 Ml K22 37,224
OcceTv 307,000& » 6 + 123 22,104
SYXEEHE X (UPS)
120,000& » 6 + 123 8,640
ogzgsdl 90,000& * 6IHA * 128 6,480
206 M= Hl 36,070 32,070 4,000




Jl&: At A PM: B 22/
HY: MRS BZ X4
el 3T M2 2el (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 M= 4l 36,070 32,070 4,000
OAlg2tel X 29,350
Oo&IIES 13,500
-LEDEH = 45,0003 = 2004 9,000
-=HHEE HDIR & LA
25,000& = 1004 2,500
-LUHESE 8X 40,0003 = 5004 2,000
OJIH &l 2283 10,750
St =832 105
20,0003 = 12004 2,400
AU 2EMAH2 155
20,000& * 70H 1,400
-H2AE A=A 55,000& = 504 2,750
“UE AW we
0,000& = 2000 = 7OH A 4,200
ogssa UM 2,400
-2 & SAAHo=E 6,000& = 400m 2,400
O&AH(PC) AHMH 2,700
-t A Eetol 90,000& * 30H 2,700
O A 6,720
OAstd HHIF 60,0003 = 84 = 70 3,360
OREEF 60,0003 * 8 » 7IHA 3,360
401 Al HI K 2018 191,854 151,632 40,222
01 A& Bl 191,854 151,632 40,222
OJIHANE RXNE= 25,000
O3J1x3 &Hl 1,500,000& * 671 9,000
O=sti=+= =&Y 100,000& * 40CH 4,000
OSti= & & =EAIE
500,000& * 7oH 2 3,500
omzY |LIE &4 50,000& * 50CH 2,500
OXsHH £l 2,000,000& * 37| 6,000
OsJl HE HA&SSHEX &X
2,500,000& * 1204 30,000
OFIINEE RANE=> 17,500
OxX% ¢ MEAIE 1,000,000& * 7004 7,000
O=&4dl SXNE=+ 500,000& * 7oH 2 3,500
OdIIEHl SIotE 1,000,000& * 7004 7,000
OANBEZ M2 HI&A&EHEI SN2
3,000,000& » 1K 3,000
OXZANEE RANE=> 22,000
OXts StMEX &l 1,000,000& * 700 A 7,000
OYstAH &l 15,000,000& = 14l 15,000
OHHEI RS> 24,020




AP A A EMNSS 22/
BMDS B T4
ST A 22
SA-EB S (H) - MRAY - B 0 4t 04 il
OANEEAMZ WS A=
5,000,000& * 27| 10,000
OANEBEAMZ SuEt)| M2
35,000& * 13204 4,620
OO0 ASC 22 M2
1,600,000& * 13 1,600
OAlAE dHe)) 1,300,000& = 6JH 2 7,800
OAEEAM2 HE D] ZH W 6,900
OllsgH 110,000& * 504 5,500
OZelgH 20,000& * 70H 1,400
OHE RANES 2,000& * 19,717m 39,434
OEAM&(2ALE) g4 7,000,000& * 3 A 21,000
OMBEMZ AIEdE 2 3,000
Os¢2 WA 1,500,000& = 2002 3,000
HY el &Y 7,800 6,800 1,000
201 Bt A H| 4,800 4,800 0
01 AFR2t2l bl 4,800 4,800 0
OZz #2229 ZAZ
30,000& * 2AI2F = 10453 * 8% 4,800
405 XHo&HF S HI 3,000 2,000 1,000
02 &M+t 3,000 2,000 1,000
O M-I 10,000& = 300 3,000
B EA 330,000 289,500 40,500
307 QI2t0| ™ 300,000 270,000 30,000
05 A2t E 2 300,000 270,000 30,000
OJHS T2 2 300,000,000& = 1JH 2 300,000
405 XHoHFE SHI 30,000 19,500 10,500
01 It = S F S b 20,000 4,500 15,500
OTEH AH 2= 20,000,000& * 14 20,000
02 & A7 10,000 15,000 A5,000
OEANTY 10,000& * 1,000 10,000
ANEE2F 22 479,543 480,853 A 1,310
201 Bt H | 92,051 85,661 6,390
01 At 22l Yl 88,116 81,976 6,140
ogRUdEr+= 86,676
Os&Il &I1& A 126,000& = 12CH 1,512
Os2)| etz =2
189,000& = 1204 ~ 12& 27,216
Ogsie HHssz
315,000& * 7IHA « 123 26,460
O&EJ|etE e a2 20,088




Bl
x
08l
0z
El
i)
o
el
[
[S]

Jla: ALY
Al

oy
HY: MRS BZ X4
el BT A 2 CERED
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
-5 2 T A 2 (450KW) 284,000 * 12& 3,408
-2 = Al 2 (600KW) 474,000 + 12& 5,688
A E 2T A2 (250KW) 164,000 * 128 1,968
-G A 2 (500KW) 376,000& * 12& 4,512
-2 & A2 (500KW) 376,000 * 12& 4,512
OaUs) 28 =3 1,500,000& = 13] 1,500
OJtA EIB M2 100,000& * 13 100
OsU 22 =2 A 100,000& * 13 100
OM£E=xX £=ZHA 100,000& * 13 100
OFAN gHAs 200,000& * 84 x 63 9,600
OREN= 1,440
O®E Dot 22| At 160,000& * 1Y 160
Os3J1& gtgtae| it 180,000& * 6Y 1,080
Os&I| otd 2te| Xt 100,000& * 1Y 100
OE2e Y JtAE D= 100,000& * 1Y 100
02 =294l 3,935 3,685 250
(OFES="gelFSE="R=INs]l 50,000& * 69H 300
Ost=28eE)|= &3 | 100,000& * 29 200
OHAEHI A2 (BR)
1,793 = 8004 = 1CH 1,435
OXFGX FA(BLESAR) 10,000& * 40E& 400
243 HA(70E) 800,000& * 23| 1,600
206 2 b 11,592 11,592 0
01 M= bl 11,592 11,592 0
oOx&a dAES 7,006
A=A 7,000 * 140 + 128 1,176
OSt&E X 33,4703 = 1000 * 14002 = 12& 5,830
oMgIISE 1,860& = 800K = 12& 1,786
oO=x== % &L 222 2,800
O=gH 2z 30,000& * 10X = 7JH 2,100
Oa=H 10,000& * 10X = 7004 700
307 QI2t0| ™ 357,200 357,200 0]
01 elz2d =4l 200 200 0
OMIA L JIHA FSUE
100,000& = 200 2 200
05 A2t E = 357,000 357,000 0
OFAZA(ANE AN S 8HA)
1,750,000& * 179 = 12& 357,000
401 Al HIL 201 16,000 24,000 A 8,000
01 Al &bl 16,000 24,000 A 8,000
oOxd ¢ sZ A 2,000,000& * 8IM A 16,000




Jl2: AP A A EMNSS 22/
HY: MRS BZ X4
el BT A 2 SHol E )
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
405 XHoHF SHI 2,700 2,400 300
01 HMHL=EZFSH 2,700 2,400 300
od-go(=2 al) 1,000,000& = 1CH 1,000
ode (& 1,700,000& * 1CH 1,700
GMN=3A29 45,314 83, 140 N 37,826
MNnsasd 45,314 83, 140 N 37,826
201 LEt2 Y| 15,114 16, 140 A 1,026
01 AR 22| I 8,200 9,200 A 1,000
OAIRI17] &2 7,200
Oy ¥« 200,000& * 6IH * 63 7,200
OBMuN=E AN s 72
10,000& * 50 x 23] 1,000
02 33249l 6,914 6,940 N 26
oRWE2 174
Ot 2403 * 100 24
OsII 1,500& + 100& 150
OXNEFR==Z 15,0008 * 10HAF x 18 x 12& 1,800
O Xts Al 315,000& * 1CH * 23] 630
OXs X RAXlH 2,500,000& = 1CH 2,500
O8I | 25,000& = 104 = 12& 300
OZHZAX HEBESEE 610
Odel 70,0008 * 1Y 70
OJIEtH 60,000& * 9H 540
(OPNE=PNE=R= 900,000& * 13 900
203 R =&lY| 5,000 5,000 0
03 Al Z=XIH R F=XY| 5,000 5,000 0
OJEs HMNEAA 29 5,000,000& 5,000
307 212t01 & 25,200 25,200 0
05 A2t E = 25,200 25,200 0
oRsa2Y T20
1,300,000& * 19 * 12& 15,600
O Rol& | 9,600
OANEEZ M2 400,000& « 12& 4,800
OFY NSl 200,000& = 12& 2,400
Ollsx&AECR 200,000& = 12& 2,400




SA - ZH-BR(EN) - HEAY - BYS il &t o il
B A2 1,840,283 1,908, 742
= 88.800
=2 130,000
= 82,800
Al 1,538,683
HE2AIH(AMEAHZ) 129,893 132,615
Jl2Z3l 129,893 132,615
JlE2zl 129,893 132,615
201 Let24d] 91,793 94,515
01 At 22l 44,210 39,900
OJleges=dasZ 13,260,000 13,260
OH=2712 2& 15,000& * 38 * 93| » 6 A 2,430
OF3ZE 22= 130,000& » 10¥ * 23] 2,600
=gl JI&&ZHl
6,000& = 352 * 80 = 90% 15,120
O M2 CHLH 2 Xt 2,000& = 2,500% 5,000
Ot (2¥) 100,000& = 38 *» 6904 1,800
OEAM2 etiiel & 2,000& = 2,000% 4,000
02 =224l 47,583 54,615
oRERI 3,360
Ooget 240% = 1,500 360
O&2l 1,500& = 2,000 3,000
OX=sxEE 900,000& = 1CH 900
O XS XHA 150,000& = 10 = 23l 300
O4 -3l LB(AMEBZAHZ2 504A)
700 * 2,500m x 123 21,000
ONSRLILS(ANBZ A2 5H2)
350% * 22,350 7,823
CIMERE =S 2,700
OAHS2(NEZAZ2 5012)
200,000& * 6L = 23] 2,400
ORsxt=E 150,000& * 23] 300
Oxtg ZIIEAME 55,000& 104 55
oxd *FU 2,000,000& * 1CH 2,000
OXEdH & NHHEAZSHI
2,000,000& * 1CH 2,000
OdX=AI =X 22l
3,700,000& = 6CH * 6% 1,332
Od.2=J KAl
30,000 = 4CH = 123 1,440
ORELSET(MNEZTA22 5JH)
32,4503 « 1204 » 128 4,673
202 Oddl 33,600 33,600
01 = LH o4 1l 33,600 33,600




Jl&: At A FH: BHUSI AN
Hu: AN (NEEHD)
& 123l (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OJl2gR==& Jl=0H|
20,0003 * 359 = 602 = 80% 33,600
203 YR =&l 4,500 4,500 0
04 RENSELRF=LH| 4,500 4,500 0
©J|Z % (302! 0Idt) 350,000& * 12 4,200
©302 == 5,000& = 5% « 12& 300
S H2 2Y 1,710,390 1,776,127 AB5,737
= 88,800
= 130,000
< 82,800
Al 1,408,790
NEEM2 29 873,681 935,963 AB2,282
= 88,800
= 20,000
< 45,600
"HOl=EHF"EEAU2SHEN 31,550 33,300 A1,750
201 Let2d]| 27,350 29,100 21,750
03 #AL2EHI 27,350 29,100 A1,750
OHEBEAM 12,000& = 1,700& 20,400
OENMTREHE AEA 500& * 1,700H 850
O&IIENA 7,000& = 100% 700
oA 2 5,000
O ZA 5,000,0002! * 15 5,000
o2gd+g 400
OSEZAM(EEEAH =)
400,000& = 1& = 13 400
301 et d = 4,200 4,200 0
10 ALAHIZ &3 4,200 4,200 0
O'Molz FF" dAAMZE FAX S|
6,000& * 20F = 203/ 2,400
O'Molz FF" NFSAX 2HIXE
15,000& = 10Z = 128 1,800
SAR RHEZ20Y 29 40,200 40,010 190
201 €24 39,000 39,010 A 10
03 &ArZ I 39,000 39,010 A 10
OcMZ 232208 29 31,160
O A=Y 50,000& = 18JHEF = 303l 27,000
OZH3tE 70,000& * 18K 1,260
os=3d¢ 2,900
-2 &X 1,500,000& = 14l 1,500
-SHoy 70,0003 = 20€& 1,400
O M2 =2t AL 3,510
OZadatE M 70,000& * 3K 210




N AL SA: BMDSE ANYSAH
o BBENT 2Y
Selr NEEAE 29 (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OFEETM SEMH 1,000& = 2,7000K 2,700
OZ MY 300,000& = 13l 300
OZzg2d 22372 100,000 » 33 300
O=N2AE A 4,330
OZdatE M 70,000& * 3K 210
OFEAM SEMH 1,000& = 2,70004 2,700
OAEE3 tHE Y M= 400,000& = 12| 400
OZA=¢ 300,000& * 13l 300
O &I Ml & 140,000& * 3K 420
OZZYd2d 425 7
100,000& * 33 300
206 TH 2 Hl 1,200 0 1,200
01 M= 4l 1,200 0 1,200
2stwnas 2208 298 FH 7 1,200
OZ2JdH2E AZF +¢
300,000 = 2& = 23l 1,200
nEgEAey 262,993 244,686 18,307
101 144 dl 198,129 181,708 16,421
04 D12t Z2XESE+ 198,129 181,708 16,421
olnzde & =2 Izd 2HoH
38,900& = 259 » 185¢ 179,913
OXNXHHEE = 18,216
OI0HASRES 179,913,000& * 4.5% 8,097
OCLESEERE= 179,913,000& * 1.4% 2,519
OHZE2E=ZRES 175,050,000& * 2.82% 4,937
OFIRLEE=ZRLES
4,937,000& * 6.55% 324
OMMMEE = 179,913,000& * 1.3% 2,339
201 YEt2 Ayl 9,920 13,820 £3,900
01 At 22l 9,920 10,420 A 500
O M AAX 2,000& = 1,500% * 23l 6,000
O=Na 2% 10,000& » 2002 2,000
O&= T AN203s FIttl
70,000& = 6% = 23l 840
Og2s RE= 1,000
Ogt= M2t 550,000& * 13l 550
O23sEM2 450,000& = 13l 450
Os=E23c M2 80,000& * 13l 80
202 O4dl 728 728 0
01 = LH 4 Hi 728 728 0
O&= T M2z FItotl
75,8003 * 4F * 3 x 18] = 80% 728




oA SN BMDS NYEHD
TSNP 29
A2 2E CHel M)
A Y- SABH) - HMRAY - BES 0f o HI D52
206 M =8l 37,410 11,410 26,000
01 M=z bl 37,410 11,410 26,000
OUe3AS 29,550
OH=EHE= 1,500& = 15,0004 22,500
O3JtEelX 80,0002 * 80N 6,400
O3NS AEA 30& * 15,0000H 450
OBXIZEEH HMET 402 = 5,0000H 200
OMIIEBEHE 3,000& = 300M 900
OEN 2=+2 HY 140,000 = 42 560
OXZ A AQIAIAE 100,000& * 1004 1,000
oXsusEegll I+ X
5,000& = 2002 1,000
OZFEXNEd 2E M 4,400
Odll =4t 25,0008 * 50H 1,250
OJIEE 15,000& * 50K 750
obtfA 15,0008 * 50H 750
O =4 (ovD) 110,000& = 1504 1,650
301 Lot A=z 3,456 4,320 A 864
10 #AIA B2 &= 3,456 4,320 A\ 864
OXESALR =&l
6,000 = 4% » 122 « 122 3,456
405 Ab&HF SHI| 13,350 32,700 219,350
01 THatL 2 FH SH 13,350 32,700 219,350
oxXzd &Il 11,700
OZAAMEH 450,000% * 264 11,700
OFEXNgd ==FHl WA 1,650
ODVD(DVDZ & &) 550,000& * 3CH 1,650
SN2 ES 108,020 96,020 12,000
= 20,000
Al 88,020
201 2er2 Yl 32,820 35,220 A2,400
02 5524t 32,820 35,220 A2,400
oFJItd= =R 32,820
osgX 15,0002 » 2290 Ak = 128 3,960
OX X 13,0008 * 200HAb = 12 3,120
O=F2X 5,000 * 200H AL * 525 5,200
O&z2tX 11,0008 = 12000 At » 12 15,840
O=Ustal Xl 2ctel HOoIEHolA 22t 0l S
= 4,700,000& * 13 4,700
206 =8l 5,200 8,400 23,200
01 M= Hl 5,200 8,400 23,200




Jlat: At A FH: BHUSI AN
M N2 23
Selr NEEAE 29 CEEEED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
O&EM ZEES 5,200
ORFID TAG 1,000& = 4,0004 4,000
Octd X2 95 300& * 4,000 1,200
405 RHoHE S HI 70,000 52,400 17,600
& 20,000
Al 50,000
02 = A=l 70,000 50,000 20,000
O&AM 70,000
OgerE A 12,500& = 4,000& 50,000
& 20,000
Al 30,000
OFX21E = (ZHOIXIMHI2)
50,000& * 4003 20,000
SESENMBNZA AT 2H 177,600 174,008 3,592
2 88.800
< 44,400
Al 44,400
101 1244 Hl 177,600 174,008 3,592
2 88,800
= 44,400
Al 44,400
04 JI2ZHHZ2XEES 177,600 174,008 3,592
OXR A2 0121y
1,143,500& = 1098 » 128 137,220
= 68,610
< 34,305
Al 34,305
OXNXHHEES 14,005
OI0UHASRES 137,220,000& * 4.5% 6,175
= 3,087
< 1,544
Al 1,544
(ONIE=30= K= == 137,220,000& * 1.4% 1,922
= 961
< 480
Al 481
OFaPAgh=: N3 g =g 137,220,000& * 2.82% 3,870
= 1,935
< 968
Al 967
OWINQYEEeRLES
3,870,000& = 6.55% 254
= 127
< 63
Al 64
OtHEE = 137,220,000& * 1.3% 1,784
= 892
[ 446




Jl&: At A FH: BHUSI AN
BH: BBENB 29
ool AN 29 (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
N 776
ONZA2RR EAZ 1,143,500& = 109¥ 11,435
2 5,718
< 2,859
Al 2,858
OOF222X Z2Hl  6,0002 * 102 * 249 14,940
= 7,470
= 3,735
Al 3,735
N2EA2 s4 207,599 241,700 A 34,101
101 14 Hl 1,599 0 1,599
04 JIZtHZ2XNHEE S 1,599 0 1,599
OS2 M JIZSHIZAA 1A
38,900& = 4%¥ x 10& 1,556
OXNXHHMEES 43
CLEEEERE= 1,556,000& * 1.4% 22
OMTHEH 1,556,000& * 1.3% 21
201 pt2 | 6,000 5,200 800
01 At 22l 6,000 4,000 2,000
OF2E M2 2= M 1,5008 * 2,000% 3,000
OZYA2E N2 HEME
200,000& * 1500 A 3,000
307 21201 A 130,000 106,000 24,000
02 2ItF & E X 130,000 106,000 24,000
Oo=sEZ2H2Y 1,000,000& = 1000 & 10,000
OXN2T N2 NESAA 24X
10,000& » 2H » 20 = 128 » 25004 120,000
402 2I2H X201 A 20,000 0 20,000
01 BIZEAt=2 82 X 20,000 0 20,000
O M7l 20,000
O=AMTEXE 1,000,000& * 200H A& 20,000
405 XtatE SHI 50,000 130,500 80,500
02 =AM 50,000 130,000 80,000
O=ds 8lie =22 T A7
5,000,000 5,000
OdstEM7el H2EM2 TP
5,000,000 5,000
OH3IEH H2EMZ TAF
5,000,000 5,000
OLIYE H2EAHM2 THFLH 5,000,000 5,000
OBIIS N2 A& THFLH 5,000,000 5,000
OWBOl H2EMZ TAHALH 5,000,000 5,000
OFE= A2 A& TAHAZYH 5,000,000 5,000




Jl&: At A FH: BHUSI AN
BH: BBENB 29
ool AN 29 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OJt2=0ts A2 N2 THAZ YL
5,000,000 5,000
OBLME RSTHB TAHTLY
5,000,000 5,000
OFMHIMHESs2 H2=AM2 TAFYHI
5,000,000 5,000
AMES R A 22l 41,719 46,239 A 4,520
201 Let249] 34,848 34,008 840
02 =24l 34,848 34,008 840
OPC X ZelH(NEEM22 5IH4)
2,834,000& = 12013 34,008
OXz=a BIIEEI =A2el
35,0003 = 2CH = 123 840
206 M= Hl 6,871 6,731 140
01 =8l 6,871 6,731 140
orMdll=s 1,900& = 2004 = 123 456
OR4 AsSZEI 425 1,440
OHulg () 100,000& * 88fA 800
Odlg (&) 80,0003 * 8=t~ 640
od - -2xJ18 =54 16,500& = 1002 A 1,650
OAMBE M2 5HA g7
25,0003 = 5001 = 23l 2,500
O=ZgH EY 165,000& = 500 = 13l 825
TN SHXNSAY 4,000 0 4,000
< 1,200
Al 2,800
405 RHoHF S HI 4,000 0 4,000
= 1,200
Al 2,800
02 = A=l 4,000 0 4,000
OXZ2EN22 TAZLXNEA 4,000,000 4,000
< 1,200
Al 2,800
SR A22Y 121,257 161,239 A39,982
= 20,000
Al 101,257
NS RNEES 62,720 66,960 A 4,240
= 20,000
Al 42,720
201 Let24d] 18,560 18,560 0
02 2324l 18,560 18,560 0
oFIIANH=E 7= 18,560
Oos2X 15,000 * 200 AF » 123 3,600
OX X 13,0002 * 2000 AL = 12 3,120




Jl2: A A SH: BMDSA NBEAB
IM: BTSN 2
Se: SRChRRY (29l & 2)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
O 22X 11,000& * 700HAF x 12& 9,240
OF 2t 5,000& * 100HAF * 523 2,600
206 M =8l 4,160 8,400 N4, 240
01 X2 bl 4,160 8,400 N4, 240
O AA2E HIEBE 4,160
ORFID TAG 1,000& = 3,20004 3,200
Octe Sk 2 9& 300& * 3,2000H 960
405 XHo&HF SHI 40,000 40,000 0
= 20,000
Al 20,000
02 &M+ H| 40,000 40,000 0
oM 12,500& = 3,200 40,000
= 20,000
Al 20,000
hesgsaesd 10,370 51,440 A41,070
201 LEt2 Y| 330 660 A 330
01 AP 2t2l bl 330 660 A 330
OZEH EH(N2AE) 165,000& = 2CH 330
206 M = 8l 10,040 14,980 AN4,940
01 & bl 10,040 14,980 AN4,940
O EEEEES 5,300
OU&EIHE 1,500& = 3,00074 4,500
OItEe X 80,000& * 10H 800
ONMEAN 242 15 350,000& * 2& 700
OXNZ A AIQTAIAE 100,000& * 4H 400
OEANES+E HOolZ 140,000& * 42 560
OdlEAe 25 (CLIXNE Hea)
30,000& * 3& » 12& 1,080
OuEZMEE 20,000& * 504 1,000
oOXNsSUHEEIE) g5 X
5,000& * 2002 1,000
CENZ ST )EH2A 31,130 28,250 2,880
201 LEt2 Y| 29,930 27,050 2,880
01 At 22l Yl 4,800 0 4,800
OSANEZHE HE 1,200& = 1,500% 1,800
O M otl 228 1,500& = 2,000% 3,000
03 At L 25,130 27,050 A 1,920
OENZ BZ2)H 2 24,110
OLAE=E 50,000& * 15JH8Et * 303 22,500
OSdHIHe M= 70,000& * 13H 910
OZzgz gy A28 100,000& * 7& 700




Jl2: A A SH: BMDSA NBEAB
IM: BTSN 2
©el: ERChBERY CERED
AR RN EHH O (3H) - MBEAY - BAS il HDS2
O A2 F2tH AL 300
OZ A=Y 300,000& 13l 300
OSsAHY &AL 720
O A=Y 300,000& 13l 300
O AN HI & 140,000& 3M 420
301 dEtE A= 1,200 1,200 0
10 HALAIHI B A S 1,200 1,200 0
O=2Z=z 18 XAIASALA 24|
6,000& * 10¥ = 10 23| 1,200
ANE SR X2 17,037 14,589 2,448
201 et A | 3,590 3,330 260
01 AF2 2t 2l Yl 1,650 1,390 260
OZ2IH EHMRPAGRE)
165,000& = 3CH 23| 990
OEBAMIEH(MRASRE)
130,000 = 104 = 23| 260
OAN=&E I|8A DA 20,000& * 20H 400
02 332494l 1,940 1,940 0
oY -2 A2l 30,0003 * 40H = 12& 1,440
OdSXE HA 10,000& = H0E 500
206 M = Hl 9,147 7,159 1,988
01 X2 Hl 9,147 7,159 1,988
Oz&a ¥ HALES 6,642
(@XM 7,000& * 8 A x 128 672
Ost& X 33,4703 * 158 * 8 * 12& 4,997
oMgoIsE 1,860& = 4001 ~ 128 893
OAMlIz=8l5 800& * 1004 80
OR& NsEEI 2BF 1,080
odlg (th) 100,000& * =+ A 600
Oodlg (a) 80,000& * A 480
od-2x) SEY 16,500& * 508t A 825
OFMARE (BB 35)
50,000& * 4014 ~ 33 600
307 212t0| & 3,000 3,600 A 600
05 A2t E = 3,000 3,600 A 600
OR021&H| 250,000& « 12& 3,000
405 XtakbF S| 1,300 500 800
01 A&t =S F St 1,300 500 800
OsHA 2 250,000& = 24 500
OsH A A& o Xt 100,000& = 8H 800
NEEZAZ22Y 114,910 125,920 A 11,010




PN SH: BMDSA NBEAB
ZSHB 2Y
SV EEY CERED
SA-EY B () NEAY - BYS O Ak o8 ﬁlf& HD=2
= 20,000
Al 94,910
SNBSS ES 74,380 84,570 A 10,190
= 20,000
Al 54,380
201 et A | 26,420 22,620 3,800
01 At 22l bl 5,460 4,060 1,400
OS2 & 1,200 = 1,500 1,800
OEME ot 22 1,500& = 2,000%8 3,000
OZZHEH (A2AR) 165,000 = 4CH 660
02 33294l 20,960 18,560 2,400
OFINIUHME 52 20,960
OsYX 15,000& * 200HAF = 128 3,600
ORI K] 13,0003 * 100HAF = 128 1,560
OZF=2tX] 5,000& * 100HAF * B2 2,600
Og 2t 11,000& * 10000 AF = 1288 13,200
206 M = Hl 7,960 21,950 A 13,990
01 X2 Hl 7,960 21,950 A 13,990
oOHE3ldAS 3,000
ousote 1,500 = 1,00004 1,500
OJtEel X 80,000& * 10H 800
ONEAN LAJA1IS 350,000& * 2= 700
OXsSUsEEIE) 945 X
5,000& * 1002 500
O XIS Al AFQIAI A& 100,000& = 3H 300
OENE2 2 4,160
ORFID TAG 1,000& = 3,20004 3,200
Octe Sk 95 300& * 3,2000H 960
405 Ko SHI 40,000 40,000 0
= 20,000
Al 20,000
02 &M+ bl 40,000 40,000 0
O=A 12,500& * 3,200 40,000
= 20,000
Al 20,000
CANZ2sEZ)HSH 25,770 25,780 A 10
201 Bt A H| 24,570 24,580 A 10
03 S AIS H H 24,570 24,580 A 10
OsSMSIEZ NS 29 23,550
O2 A= 50,000 = 14JH8F * 303 21,000
OelolH=Z LAY 350,000& * 23] 700
OZeot= 70,000& * 1504 1,050




Jl2t: AP A M BMUSIA MEEZA2
M ZIENHB 2Y
Se NRENR2Y (29l & 2)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
OZz ¥ 2HES 100,000& * 8& 800
O M& =2t AL 300
OZ A= 300,000 = 13| 300
O=sAMo & At 720
O A=Y 300,000 = 13| 300
O&THHI & 140,000& = 34 420
301 dEtE A= 1,200 1,200 0
10 HAIAHI B A2 1,200 1,200 0
OSZ=z 0¥ XJASALA S &I
6,000& = 109 x 203 1,200
hegsaesd 550 600 A 50
405 XHo&HF S HI 550 600 A 50
01 JHMY =2 E F S H 550 600 A 50
Ot E 4 58 & XM It 550,000& = 1JH 550
ANESF X222 14,210 14,970 AT60
201 LBt A H| 1,840 1,840 0
02 352494l 1,840 1,840 0
oY -2 SA2e2l 30,0003 * 404 = 12& 1,440
OAN=E I|8A DA 20,000& * 204 400
206 M = Hl 9,370 9,530 A 160
01 X2 Hl 9,370 9,530 A 160
OXN £2RE(DIS2Y 25)
50,000& * 401 = 3= 600
Ost&a & HAEE 6,865
OgstH 7,000 * 8JHA x 12€ 672
OSt&E X 33,4703 * 158 x 8 x 12& 4,997
oMgIEs 1,860& = 500 = 12& 1,116
OHMlI==tl5 800 * 100JH 80
od -2 SEY 16,500& * 508t A 825
oM NsEEI AZF 1,080
OHI< () 100,000& = BErA 600
Oodlg (a) 80,000 * pEtA 480
307 212t0| & 3,000 3,600 A 600
05 A2t E 2 3,000 3,600 A 600
ORo1AH| 250,000& = 12& 3,000
MNESEN22Y 253,355 155,914 97,441
= 10,000
= 37,200
Al 206,155
CAEXNZES 32,616 33,316 A 700
= 10,000




Jl2: AP A M BMUSIA MEEZA2
IM: BICHE 2
Sel: MBECHESY (29l & 2)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
Al 22,616
201 et A | 5,016 5,016 0
02 3524t 5,016 5,016 0
O&JII2ZHZE P SH| 5,016
O 15,000& * 30HAF *12&8 540
O Xl & Xl 13,000& * 5 AF = 128 780
ootsd & 5,000& * 3JHAF » 128 180
OF2HX 5,000& * 2IHAF = 43 = 12&€ 480
O& 2t 11,0003 = 23)HAF = 128 3,036
206 = bl 2,600 3,300 AT700
01 = bl 2,600 3,300 A 700
O&AMN H2ES 2,600
ORFID TAG 1,000& = 2,0000H 2,000
Octe Sk 95 300& * 2,000H 600
405 XHaHF S| 25,000 25,000 0
= 10,000
Al 15,000
02 &S A7 bl 25,000 25,000 0
(©F==9N] 12,500& * 2,000 25,000
= 10,000
Al 15,000
CANZ2sE2)HSH 21,570 24,750 A 3,180
201 Yet2 Y| 20,370 23,850 ~3,480
01 AFR 2t 2l bl 3,450 3,400 50
oOsN=2E 1,200& = 1,0002 1,200
OZM&tHY cl=8 1,500& = 1,500% 2,250
03 S AIS H I 16,920 20,450 A 3,530
OsSMSIEZ IS 249 16,920
OZ A=Y 50,000& * 11JHEF x 253 13,750
OZeate 70,000 = 110H 770
OEz)H 89 A2F
100,000& * 9& * 13 900
Os= % 2og=2 39 1,500
=0l s H &Y 200,000& = 5H 1,000
-BH 3 e M 500,000& = 1JH 500
301 Yere A 1,200 900 300
10 AL HI B2 A2 1,200 900 300
O2Z=z 0¥ XNISALA S|
6,000& * 109 = 203 1,200
nHEgEs 29 1,850 17,795 A 15,945
201 LEr2 9| 330 495 A 165




N AL SA: BMDSE ANYSAH
IM: BICHE 2
Sl NEBCAHBRY (B9 ®R)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
01 At 22l 330 495 A 165
OZBHEH(ERE) 165,000& * 20K 330
206 T 2 bl 1,520 9,500 A7,980
01 M2 4l 1,520 9,500 AT,980
OUEsAS 800
OItECIX 80,000& = 104 800
OEMd B2 H¥ 140,000& » 38 420
OXZ &L AFQTAI A El 100,000& * 3K 300
ANEER X2l 11,319 9,303 2,016
201 Yet2 | 5,040 3,000 2,040
02 3322l 5,040 3,000 2,040
O0tsSXz 4 BIIHHI KX 22
35,000& = 400 » 12& 1,680
Od - 2=J |FA 22l 30,000& * 6CH » 12 2,160
O=ASE L=271 SXA2cl 100,0008 * 12&8 1,200
206 M= Hl 3,279 3,303 A24
01 =8l 3,279 3,303 A24
OsEA & FLES 2,424
O 7,000& * 6 * 12& 504
Ost&X 3,470% * 58 * 60 » 123 1,250
oMgIISE 1,860& = 3000 » 12& 670
od .- 2=2) =5Z 16,5003 » 30 A 495
o4& UNSEHI A2E 360
Ol (th) 100,000& * 28fA 200
Ot () 80,0003 » 2¢tA 160
307 21201 A 3,000 3,000 0
05 RIZt2IEt = 3,000 3,000 0
O3l 250,000& = 123 3,000
OrJIet &M ot= MAMY 28 186,000 70,750 115,250
< 37,200
Al 148,800
201 Let249] 15,640 58,600 242,960
< 3,128
Al 12,512
03 &AL S HI 15,640 58,600 A 42,960
OXMRHON(U=SHE &) 0& 0
O#MAIEE 8,640
OZXAH ¥ 2= MZE  1,000& = 8,00004 8,000
< 1,600
Al 6,400
OEdate 80,000& * 8K 640
< 128




Jl2t AP A FH: BHUSI AN
M BBENB 29
S AEESEA2A2E (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Al 512
ounsZzy 29 4,000
ORZUE LMrE 300,000& * 4z 1,200
< 240
Al 960
OZzd=2d IMrd
50,0003 = 448t * 108 2,000
S 400
Al 1,600
OWsEME 20,000& = 103 = 404 Bt 800
< 160
Al 640
O=AEE 23 UH2& 15,000& » 2002 3,000
< 600
Al 2,400
206 i 2 Hl 160,000 0 160,000
< 32,000
Al 128,000
01 M= 4l 160,000 0 160,000
om0 Mz *¢ 20,000& = 8,0004 160,000
< 32,000
Al 128,000
301 et a3z 10,360 12,150 A1,790
< 2,072
Al 8,288
10 HALAHI 242 10,360 12,150 A1,790
OXta&sIt =&l 6,000& = 30¥ = 72l 1,260
< 252
Al 1,008
OX=MU3 ¥ W=t AKX
100,000& * 10¥ 1,000
< 200
Al 800
oS 249 ¥ W= 8,100
OZ M= 150,000& * 43| 600
< 120
Al 480
Ogsad N3 10,000& = 25% = 302 7,500
< 1,500
Al 6,000
NEENBRY 146,517 143,739 2,778
& 20,000
Al 126,517
EAZAZES 87,720 71,960 15,760
& 20,000
Al 67,720
201 Let24E] 23,560 23,560 0




Jl2: AP A M BMUSIA MEEZA2
IM: BTSN 2Y
Sl NSENBERY CERED
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
02 3524l 23,560 23,560 0
oO&dJIZHME =T 23,560
O 15,000& * 200HAF = 128 3,600
O Xl & X 13,000& * 10JHAF x 12& 1,560
OF 2t 5,000& * 2000 Ab * 523 5,200
O 2K 11,000& * 10000 AF = 128 13,200
206 M = Hl 4,160 8,400 N4, 240
01 X2 bl 4,160 8,400 N4, 240
OENE2ES 4,160
ORFID TAG 1,000& = 3,2007H 3,200
Octd ESKkI2 95 300& * 3,2000H 960
405 XtabF S| 60,000 40,000 20,000
= 20,000
Al 40,000
02 = A7 60,000 40,000 20,000
O&EAM 12,500& * 4,800 60,000
= 20,000
Al 40,000
SN2 T )HSH 30,500 29,700 800
201 Bt A | 29,300 28,500 800
01 AP 22l Yl 4,800 1,500 3,300
O=sSMNML2E 1,200& = 1,500% 1,800
O M2 otLfel =8 2,000& * 1,500 3,000
03 At L 24,500 27,000 A 2,500
OsSHMEsE)dH 29 23,480
OLAE 50,000& = 15JH 8+ » 283 21,000
oolg= ZA(IE M) 300,000& * 5& 1,500
OZdate 70,000& * 14H 980
O M& =2t AL 300
O A& 300,000& * 13| 300
OSsAaAY &AL 720
OZ M= 300,000& * 13| 300
O AN X & 140,000& = 3H 420
301 dEtEAZ 1,200 1,200 0
10 AL HI B A2 1,200 1,200 0
O=2stZTz 0 XNASALA 2|
6,000& * 108 = 203 1,200
ANeggdsd 29 11,100 24,280 A 13,180
206 M = Hl 11,100 18,680 ANT7,580
01 M= bl 11,100 18,680 A7,580




=R SN BHDSH ANYSAD
=R M2t 29
cHel: N2ed ?EA)
A2 .2 FH-S(BH) - HRAY - BES il &t o il 2t
OZelH EH(NHEAE)
165,000& = 804 = 33l 3,960
OCIXIEXZ 4 0lEX ZEly SAEX(MHEA
g) 26,0003 » 30 A 780
OU=E3IAE 2,300
OUsate 1,500& = 1,0004 1,500
OItECIX 80,000& » 108 800
Od=ZH=2 20,000& = 2094 400
OMEN 24 30& = 10,0000H 300
OXsisEgl 25 EX
5,000& » 1002 500
OEMd E8 H¥ 140,000& » 38 420
OXZ A AFQIAIAE 100,000& * 44 400
OMIIE SHE 3,000 » 2004 600
OUXNERNZA HALAREOIIEES 25)
20,000& = 200 = 38 * 12& 1,440
sF A 22| 17,197 17,799 A 602
2Et2 HH| 2,380 3,130 AT750
23224l 2,380 2,730 A 350
oY - 27 |sX&2] 30,0008 * 3CH =12& 1,080
OZHOIX dHeESFx2 800,000& =« 13l 800
O&¥stx: EA 10,000& » 50 500
206 M= Hl 11,817 10,044 1,773
01 =8l 11,817 10,044 1,773
Ot & FLES 7,312
OgeH 7,000& * 8IHA * 128 672
Ost&EX 3,470& * 158 * 8 A 128 4,997
OoMgII=&E 1,860& = 7004 » 123 1,563
OAMlI==Hl 5 800& * 1004 80
od-2xJ =5Z 16,5003 » 502 A 825
o4 JNsEHI B3 1,080
Ol (th) 100,000& » 62+ A 600
OHlg (&) 80,000& g2t A 480
OXMMEBE (5122 58) 50,0008 * 65 * 43 1,200
OAt=E JI&tA ==cltl 20,0003 = 204 400
OFHA 2283 (8Z2s2 198)
50,000& » 208 1,000
307 21201 A 3,000 3,600 A 600
05 RIZt2lEt = 3,000 3,600 A 600
O AHl 250,000& ~ 12& 3,000
dRCABRSY 200,670 253,352 A52,682
= 40,000




Jl2: AP A M BMUSIA MEEZA2
IM: BICHB 2
©el: HREChBRY (B9 ®R)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
Al 160,670
SNBSS ES 136, 160 188,000 AN51,840
= 40,000
Al 96, 160
201 et A H| 20,960 17,000 3,960
02 3524l 20,960 17,000 3,960
oOFIIZHZE 5 20,960
O 15,000& * 200HAF = 1200 & 3,600
O Xl & Xl 13,000& * 100HAF = 1200 & 1,560
O& 2t 11,000& = 10000 AF = 12J0 & 13,200
OF2HX 5,000& * 100HAF % H2== 2,600
206 TH 2 Hl 5,200 21,000 A 15,800
01 X2 bl 5,200 21,000 A 15,800
OEANE2ES 5,200
ORFID TAG 1,000& = 4,0004 4,000
Octd S X2 9& 300& * 4,000 1,200
405 XtabF SHI 110,000 150,000 A 40,000
= 40,000
Al 70,000
02 & A7 110,000 150,000 A 40,000
OHdRECTMNE TAHPL 12,500& * 8,800 110,000
= 40,000
Al 70,000
SN2 T )HSH 37,000 27,950 9,050
201 2Bt | 36.400 26,750 9,650
01 At 22l Yl 4,800 0 4,800
OsSNMLE2E 1,200& = 1,500% 1,800
O M2 CotLfel =8 1,500& = 2,000% 3,000
03 M AtE L b 31,600 26,750 4,850
OSAHMEs Z2)d=2Y 29,950
OLAEE 50,000& * 15JH8Et = 303 22,500
O&JelgzaId4xy3AH 450,000& = 123 5,400
OZeate 70,000& = 1504 1,050
OEzdH2HE A2 100,000& *» 108 1,000
O=M2 & A 1,050
OZ A=Y 300,000& * 13 300
O AN HI & 150,000& * 3H 450
OHMESA THZE HI 300,000& * 14 300
O A& F2tH A 600
OZ A=Y 300,000& * 13 300
OXME &AM = Bl 300,000& * 14 300




Jlets At A SN BYUIHA AEZA2
IM: BICHB 2
©el: HREChBRY (B9 ®R)
.24 B GH(3AH) - KR - BES of 4 o4 il HI RS2
301 LetE o= 600 1,200 A 600
10 AL HI 243 600 1,200 A 600
O=SN=2EZZOH NS AMA S
6,000 = 508 * 23] 600
AAegeaead2dg 10,430 23,025 A12,595
206 M =4l 10,430 21,025 210,595
01 = dl 10,430 21,025 210,595
OZEH EU(NZAE) 165,0008 * 8CH 1,320
OlE=dS 4,100
ousExHE 1,500& = 2,00004 3,000
O3JtEelX 80,0008 * 10H 800
OdEAM &4 30& = 10,0000H 300
OXZ A AFQIAIAE 100,000& * 4 400
oxXsusEegl I+ EX
5,000& = 1002 500
OENESE HOZ 140,000& * 32 420
OMItE SHE 3,000& = 1004 300
OSAMSX(XNHEIA 0I2X) 26,0008 » 158tA 390
Odetol =M 15 30,000& = 5004 * 2& 3,000
ANE=7 X 22 17,080 14,377 2,703
201 2er= Sl 4,680 2,660 2,020
02 S3=29Hl 4,680 2,660 2,020
od - 2+J SA 22t
30,000& = 6CH  12& 2,160
O3J1¥8Jl |XZelh
35,000& = 6CH  12& 2,520
206 M =8l 9,400 8,117 1,283
01 M=z bl 9,400 8,117 1,283
OInEH EH(ERE) 165,0008 * 3CH 495
OXMARE(DIRAR9E)
20,000& = 274 = 108 = 28 800
o=z & 253 6,200
OYg el 7,0008 * 102 128 840
O & 3,470 = 108 » 1004 » 12 4,164
oXglIss 1,860 = 5004 128 1,116
Odl= 800& = 100H 80
OR& NSEHI| 4£2F 1,080
OHIE (TH) 100,000& * 6%+ A 600
ot (&) 80,000% 68t 480
od- -2 SFE 16,5003 * 508 A 825
307 212t0l & 3,000 3,600 A 600
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oY - 240 g2
30,000& = 8CH * 123] 2,880
O#HAIRII| FA22] 210
M X = A 3,500,000& = 10H * 6% 210
odHd StS &Y SA2el  8,100,0008 * 6% 486
oudg ¢E5EH SN2
11,625,000& * 6% 698
OF4ds=0t0l3 1,700,000& * 3% 5,100
oxtg |2l 5,658
OXt S Xyl 4,500,000& * 1CH 4,500
ONsSitEH 840,000& * 1CH 840
O XS XAl 198,000& * 1CH 198
OXNSXHEA =22 60,000& = 1CH = 23] 120
OX= PSS 650,000& * 23] 1,300
O &AL &bl 70 * 9,329m *x 63 3,919
X HA 11,7008 » 60E x 13 702
oI AZHI(SR)
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OXMIUEE AHURS 15,360
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Jlat: At A FHN: BN BAHsSs2
HH: HusSTeY
CHel BMSS
A2 .2 FH-S(BH) - HRAY - BES il
OdI HIEBL>=E 350,000& * 13l 350
OSATY ZSHYA L BB+ +2
300,000& = 12& 3,600
OAAE SEEE & 2Zeldss2
300,000& = 12& 3,600
o=cHtE 24 10,000& * 300& 3,000
=323l 45,805
(OFSkS =, 50,000& = 12& 600
(OFSPIR=E=; 2,500,000& » 128 30,000
Oudot=ER23 500,000& = 12& 6,000
OANMERLZ(ANEE UHETL)
150,000& * 23] 300
O2&8altl 300
OfIgzel it 40,000& = 13l 40
ogstzel Xt 50,000& = 13l 50
OAgrotd™ ze| Xt 210,000& « 13l 210
OCHMAIDHH & HUSBHZ 525,000& * 13 525
OACIETV=AZ 15,400& = 10 » 128 185
OAIE ZHI S X 5,244
Od2=+I|7 X2l
53,000& = 408 = 123l 2,544
OHEZAMRINI X 2el 300
RPN E=YN ] 5,000,000& * 13| = 6% 300
Og s EHl =Xl 40,000,000& = 6% 2,400
OF At S H| 703 * 1,640m = 63l 689
O&stx FA 11,700& » 60 * 13/ 702
O=JtH Y 23 1,260
OsldAESs 35,0003 = 3CH » 12& 1,260
M= 8l 13,095
D 13,095
o2l U BolM IIX 9,480
OReld sz 700,000& * 63l 4,200
O Ws42d ss83H
600,000& * 82 4,800
O=23 400& * 600 = 23 480
O FHFHES 840
O=t&EX 3,500% * 48 = 54 x 128 840
oOMYIISE(HA22 ) 1,500
oMgIIsE 1,5408 » 508 ~ 123 924
OsaAgMglIgRESs(224)
16,000& = 300 » 12& 576
OANE2eE 225 XM 675
O™ 610




Jl&: At A FHN: BN BAHsSs2
M HMSADEY
el BMSE K| SR
AR RA - ZBEAGEH) - MRAY - BES il 2
-8 2 S (40W) 2,000& » 504 100
-otE D] 12,000& = 2074 240
-5 & XD (2P*30A) 12,0002 * 54 60
-Hh & & XSO (3P*50A) 42,0003 = 504 210
OFEN- 65
-2 X0 AIA 6,500& » 1004 65
Os0lg82d 225l 60,000& = 10& 600
307 glz2tol & 21,000 21,000
05 RIZIRI & 3 21,000 21,000
ORBHIAAE E A 250,000 * 12& 3,000
OHEAUY sS4 1,500,000& * 12& 18,000
401 Al HI R 2018 17,700 17,700
01 A& HI 17,700 17,700
OXat sotela A& B A 19,000& = 300m 5,700
OFAANE RANE= 1,000,000& * 12& 12,000
405 XtatE SHI 3,200 3,200
01 AR ESFH S 3,200 3,200
O=3tH &DI 2,600
oz Fd 1,300,000& =+ 2CH 2,600
© 2MAHIEDI 600,000& « 1CH 600
HEadEES 7,480 A 120
QANESH 2 7,480 A 120
201 Let249] 240 A 120
02 =24l 240 A 120
OAIE ZHI S X 240
OZAMNESA IHEIIDI B2
20,000& ~ 12& 240
301 L2 A S 360 0
01 MEIBZE+05l= 360 0
OJENHE - 0t AIt0 bl
15,000& = 2% = 123 360
307 glz2tol & 6,880 0
01 2272l 6,880 0
OLAMN=EX B3 6,580
O=saldl 6,000& = 341 « 159 = 123 3,240
Onl =l 35,000& = 2H = 12& 840
(OF}-— 25,0003 = 2% ~ 123 600
OMEHEF 1,500& * 20F = 12& 360
O&+ 35,0003 * 58 « 43| 700
OMHM s 108 7,000& * 108 ~ 12& 840




Jl2: AP A M FMHNSIA TSR
HE: BASSERY
Sl olLMEES (25 & @)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
| | PEERTES 10,0002 * 15 23 300
=L HYSA 102,708 106,098 A 3,390
EG HAL EE X4 90,550 94,593 A4,043
206 M= Hl 4,550 5,393 N 843
01 &2 bl 4,550 5,393 N 843
oz&EaE FHEX
3,500 * 38 ~ 12014 « 123 1,512
OMYIISE(HAIZLE) 1,678
oMgolIsE 1,540& * 70238 * 128 1,294
OSASMY I HRES(2214)
16,000& * 24 = 12& 384
oN&E22E 22X 1,360
O&I| 1,220
-8 2 S (40w) 2,000& = 100H 200
-OtA D] 12,000& * 304 360
-5 & XS] (2p*30A) 12,000& = 20H 240
- & = X[ (3p*50A) 42 ,000& = 1094 420
OASZXII(ADIA 7,000& x 204 140
307 212t01 & 57,000 58,200 A 1,200
05 A2t E = 57,000 58,200 A 1,200
O Rel A 250,000& = 12& 3,000
OFAUHY S4HH| 1,500,000& * 39 * 12& 54,000
401 Al HI 2L 2 0HHI 29,000 28,000 1,000
01 A& HI 29,000 28,000 1,000
OFAAIE SA22] 2,000,000& = 12& 24,000
oY - e & AQD EHuM ¥ A
200,000& = 2504 5,000
oHelol =01 & 12,158 11,505 653
101 @121l 11,558 10,905 653
04 JI2ZtH22XNHEE =+ 11,558 10,905 653
O0eol=0lg 28 o2 11,558
O=0lg EF WAL 2124H|
38,9003 * 26 * 19H = 10& 10,114
O=30d=82<=2 10,114,000& * 4.5% 456
OALEE=EL= 10,114,000& * 2.9% 294
O&IYBHE=EH= 294,000& * 6.55% 20
ONsSEsEazEg=2 10,114,000& * 1.4% 142
Ot EE 2 10,114,000& * 1.3% 132
OJI2ZtH 22X BEESD1d|l 400,000 = 1H 400
206 24 600 600 0
01 X2t 600 600 0
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N = 0l & At & Ml A

Jl&: At A FM: BFHEZCIAY A
M HY2IAZH (T2 A D)
ol 2o bl (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
BT A AE A 1,832,281 4,426,799 A2,594,518
HE2IAIH (BFHE2AIAMS L) 679,367 2,414,578 A1,735,211
o2y 370,515 2,098,429 ~1,727,914
oI 244l 370,515 2,035,909 A 1,665,394
101 @14 dl 370,515 2,035,909 A 1,665,394
01 2= 118,953 1,274,618 A 1,155,665
oxzu22+¥ 118,953
OANZ 2R 65,629
-2 BHA 8,4763 » 14H » 28AI2t » 123 39,872
-NEH 8,848% * 1H » 28AI2t » 12 2,973
-Jls3 8,476% * 8Y » 28AI2t » 12 22,784
Osg22=+8 53,324
- kA 68,1322 ~ 6% » 5 « 128 24,528
=S 71,1283 = 1H * 52 » 128 4,268
-Jls3 68,132& = 6¥ * 52 » 123 24,528
02 JIEtE B = 40,347 590,990 A 550,643
OFHIAZF(ANLEZH) B 20,241
Oxzz2f=¢ 20,241
“A2te 284
7,252 * 4H x 28AI2t » 123 9,747
-FEZ2f=xE
58,296& = 3H * 52 123 10,494
OIS A=A 20,106
Oxzh2Zf=% 20,106
-AZ2te2e
7,803% * 5  28AI2t » 12 13,110
22 RxE
58,296& * 2H * 52 123 6,996
03 RIAHAZZ2TE = 211,215 170,301 40,914
OYREX 66,328
odE((ta) 46,852
A=PN; 20,176,000& = 1H 20,176
-20 Xt 26,676,000& » 1H 26,676
Oo=¢ 11,156
-tExg 1,440
- R X 40,000& = 2 = 12& 960
- &S 20,0003 = 2% ~ 123 480
-H¥Z2sg 346,000& * 29 » 128 8,304
-Hi=g
23,426,000& / 3652 » 112 = 2 1,412
OFE S ItHl 700,000& = 23| = 29 2,800
O=&l 120,000& * 29 » 122 2,880




Jl &
= ZH -
(=R B

el

o g2 >
¥ 0¥ 1R
Ho Ao b

- =} =
FEH(BFHE22AE L)
& H

224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
(@FNE=3:] 110,000& * 29 » 123 2,640
Os=s =22l & 122,919
osE00t3) 82,064
-184 Xt 29,688,000& = 29H 59,376
-84 Xt 22,688,000& * 1H 22,688
Oo=¢ 25,975
“IESE 2,880
il < Xt 40,0008 = 3" = 12& 1,440
=Hl5 20,000& = 6H * 128 1,440
-A¥Z2sg 358,000& » 12& » 3% 12,888
-guaesy
8,950% * BAIZH » 3 « 128 » 39" 7,733
-9t X} g
27,354,000& / 3652 » 112 = 3Y 2,474
Og 2 =Ftdl 1,100,000& = 23| * 39 6,600
O= &l 120,000& * 128 * 39 4,320
Oun &t 110,000& * 128 * 39 3,960
ou=l 950
o= 90,000& * 5% 450
ogst= 100,000& * 59 500
O=0d=2g= 189,246,000& * 4.5% 8,517
CLEEEH=RES 189,246,000 = 1.4% 2,650
OHZEEERES 189,246,000& * 2.82% 5,337
OFIRLYEEESREHES 5,336,7408 * 6.55% 350
ot EE = 189,246,000& * 2.2% 4,164
Jl=Zdl 308,852 316,149 ANT,297
JlE2&l 308,852 316,149 NT,297
201 L4l 276,652 259,949 16,703
01 AFR 22l 78,042 62,329 15,713
OJl2ged 233H| 11,460,000 11,460
O M=l 210
O2HEEX 20,000& » 42 7| 80
OHMEHEX 70,000& = 1& 70
OLAUIHX 60,000& 13 60
(OFE—E—g=d 960
OXI&X| 13,000& » 5JHAL » 123 780
osdX 15,000& = 1JHAL = 123 180
OZdla a3 NE 100,000& * 33| » 2 600
OEH=712/ 35 28,0008 * 45 * 23| » 24 448
O&#Z Il=t| 130,000& = 4% = 23] 1,040
o=gtl JIEZ 12,096,000& 12,096
od - 2=+J dEZ 38,0003 = 3CH = 123 1,368




Jl&: At A FM: EFHE2ASIAGE A
o HI2AAH (FASTAYL)
el JI=23Hl (Sl & &)
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
O=7e Xz 1,500,000 1,500
ogx+g 48,360
oEg=A 60,000& * 2H * 251 30,120
OFgdg=a 80,000& = 2% * 114¢ 18,240
02 =224l 198,610 197,620 990
O3HAHNZSRE MEESEER
100,000& * 3¢ 300
02ER2 498
Oogeted 2403 » 200 48
OosJis# 1,500& * 300 450
OQHYHAIER 40,000& = 234 * 128 960
OUBALHAAY RX24
242,000& = 123 2,904
oOXIIRS 148,218
OPIF= 7,430 * 550KW + 12 49,038
OxR3 87& = 95,000kW * 12& 99,180
o4 -3 15,040
(OF-~ L= 10,000,000& 10,000
Odt=% 840& * 500m = 12& 5,040
ogdMERE=S 3,880
oz= 1,700,000& = 23] 3,400
ORXtg 60,0003 = 404 = 23l 480
OusmLREs= 9,900
Od= 550& = 18,000m 9,900
OACIETVEZ 50,000& * 122 600
O X=Xt 3,280
OSgEEE 450,000 = 4CH 1,800
OOIEXNEdEE 100,000& * 8CH 800
OXtS XHAl 480
-HRE(58) 150,000& = 1CH = 23l 300
-St=AE™ 30,0003 = 304 = 23l 180
O&JIIEME 50,000& =« 4CH 200
OIot: =8 ¥ =2l 200,000& * 12 200
OAZHED L AM HS1 22l
300,000& * 22 600
O A& EHl s Xl 12,230
OXt st 2,500,000 = 4CH 10,000
OO0l & Xt 400,000& = 4CH 1,600
OT = ALDI 3,500,000 * 3CH * 6% 630
202 044l 26,880 26,880 0
01 SLHOIYI 26,880 26,880 0
OJI&Z 26,880,000& 26,880




Jlat: At A FM: BFHEZCIAY A
M HER2YGU (BT 2A2IAGE L)
¢l =gl (chel & 9l)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
203 H R =&l 5,320 5,320 0
02 A& H 2= 1,120 1,120 0
©J| & X (1008 Nt Xl ) 40,000 = 289Y 1,120
04 NI FAH 4,200 4,200 0
©J| & X (302! 016t) 350,000& = 123 4,200
FFHE 22 1,152,914 2,012,221 A 859,307
MO SREE 108,102 157,880 AN49,778
s¥NEgEs 29 79,032 106,910 A 27,878
201 Let24d] 34,770 27,680 7,090
03 &AL Gl 34,770 27,680 7,090
©F=3—NE=i 2,300
OZ A=< 100,000& * 83l 800
CuUuEM= 10,000& * 1502 1,500
28 22 3l 2,600
Os2E(8+229) 50,000& = 104 500
O&Z, stX 10,000& » 150%& 1,500
O MR 600
OX0tIt= dENAM2I 1,500
OWsEME 5,000& » 300 1,500
OEg 2= NE2Y 1,200
OZ M= 70,0003 * 49¥ « 33| 840
Cu=EM= 6,000& * 604 360
Og%e WA 29 12,370
OZ A=< 70,0003 = 4% = 103l 2,800
CusM= 9,570
“EHH B M= 8,500& 5009 4,250
-LEE B W= 7,500& = 4009 3,000
-giel® ZE W2 5,800& 4009 2,320
OXAHAUUR MEstn =29 3,000
OuseM=(103) 10,000& = 30Y « 53 1,500
OZ A=< 100,000& = 3H =« 53| 1,500
o2LtE JIFEHEOY 6,500
OuEM=(103) 3,000& = 150 = 103l 4,500
OZ A=< 100,000& = 2% = 103l 2,000
O0eoly &At 5,300
OEBE(82942 15)
100,000& = 2& » 5JH 1,000
OZH0txl, 2t=2D| 500,000& * 30H A 1,500
o3¢ (0t=2) 400,000& * 73 2,800
206 M= Hl 4,670 10,670 A 6,000
01 MHZ 4l 4,670 10,670 26,000




Jl2: AP A 2A: HFEHE2AZAIE A
HE: HIUCS 29
Sl REAO BREE (B9 ®R)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
OMEIZ 29 & 100,000& * 20& 2,000
O0rM3E 29 MZ 100,000& * 203 2,000
OXZ A 2 M= 670
OLAY X2 50,0008 * 45 = 20 400
OFMEY Mz 90,000& * 3& * 1H 270
301 dEtE A= 34,592 34,560 32
10 HALAIHI B A S 34,592 34,560 32
OXNHEAMNK AdH X& 34,592
OSAE s Al 10,000& * 169 *» 200 32,000
O3z9o #E#AX Z3EHl
6,000& * 16Y x 253 2,400
OMX R AS 226l 6,000& = 24 ~ 16Y 192
401 AIEHI L 200 5,000 34,000 A 29,000
01 Al& bl 5,000 34,000 A 29,000
OHYE UM 5,000,000& * 18 A 5,000
ShE2H OF XM AR Ofl 222 29,070 26,970 2,100
201 L2 Y| 28,570 25,470 3,100
01 At 22l Yl 28,470 25,370 3,100
O&I|otE 22| =22 10,200
O elolg = 300,000& * 2IHA « 12& 7,200
Os=3& 250,000 * 1JOHA « 12€8 3,000
Os)| &&=
220,000& * 304 ~ 12& 7,920
O HIIHA =42 150,000& = 3 2 450
ORMB3FAIZ HESI| HI|&AtHl
150,000& * 204 A 300
OA MUK 2 A2 ==
800,000& * 1JHA x 12& 9,600
02 33249l 100 100 0
OJIAAD HiAMAEH 100,000& * 13 100
307 212t01 & 500 500 0
01222 Z bl 500 500 0
oM AZASH| 100,000& * 53] 500
AL L HAZE A2 1,044,812 1,854,341 A 809,529
A 2HE AlAE 22 615,588 1,255,660 A 640,072
101 @124l 4,293 4,848 A 555
04 JI2ZtH22XNHEE =+ 4,293 4,848 N 555
O 33| & b 22| 4,293
oJN=3 38,9003 * 2% = 50 3,890
O=0UAZIEE S 3,890,000& * 4.5% 176
OZDALBEHEEHZ 3,890,000& * 2.9% 113




Jl2k AFE A FM: EFHE2ASIAGE A

HE: HIUCS 29
el 2EAE E HANS RA2E (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OINQYEERLEZ 109,700& * 6.55% 8
CLEEEZRES 3,890,000& * 1.4% 55
OMTHEE S 3,890,000& * 1.3% 51
201 L2l 206,295 194,176 12,119
01 At 22l 56,592 28,840 27,752
OREHRIAY BRAUHB++E
330,000& = 402 = 123 15,840
gldl 01 Xt& A= 1,200
O=4)], EZEH 400,000& = 104 = 33l 1,200
o222 M 12,000
Ot MTIel 15 4,000& * 3,0000H 12,000
O3MZBHLE 2FEI} =2 1,000
Om& 1,000,000& * 1JH At 1,000
oYEFA M 45,000 * 102 A + 128 5,400
OREg= etd el A WSEHl  200,000& * 13 200
ogst2el Xt sl 200,000& * 1Y 200
OYstac P2 U =2
350& = 16,000m 5,600
OZYAR (e =2 250,000& = 123 3,000
Oxgesd W & =2 MH
100,000& * 23] 200
ONEZAMT AT YR 2
600,000& = 104 = 13l 600
OATHMHUXZ 29 11,352
O=23 MH 663 * 100,0000H 6,600
OZdH=Zgy 23 2
99,0008 * 45 » 204 * 62 4,752
02 =24l 149,703 165,336 A 15,633
Oz SX el 50,0008 * 224 * 128 13,200
Os83 & 300,000 » 9MA 23 5,400
O&F3x EA 1,250,000& » 84 « 13l 10,000
o2z |FANE=H| 35,247
Ogols = 2,000& = 13,521m’ 27,042
Oos=2¥ 3,000& = 2,735m 8,205
o+== =d 200,000& » 508 10,000
ORUEHl =¢ 200,000& = 10& 2,000
OfIg= etd el Ww=EHl  200,000& * 13 200
O =l 73,656
Oogolg 2 (22, M2 - 38AIR)
1,395& » BAI2F * 234 = 1002 » 30H A 57,753
OLIHI2E 21,3953 = 6AI2F » 44 = 100 3,348
OS2d (SSA, HR2AME)
1,395 = 10AI2t = 94 * 100 12,555




Jlk: Ave A SN HFEUCSEARIAIL A
M HEUC

M0

o
S
PS

el 2EAE E HANS RA2E (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 51,300 59,800 A 8,500
01 M= 4l 51,300 59,800 A 8,500
oOANgzel 235 € A2F 23,500
d2E A2 30,000& = 504 1,500
£ 30,000& = 10& = 10K 3,000
OJIAHRES 30,000& = 10& = 100K 3,000
Odtey 23 20,0002 = 10& = 100K 2,000
O&INIES 40,000& * 10& = 1004 4,000
OLERE 30,000& = 105 = 1504 4,500
OLEZMEHIT A
500,000& = 1& = 1104 5,500
oxZd&es8 M= 8,000
Oeols = 40,0003 = 208 * 53l 4,000
Os=2¥ 40,0003 * 208 * 53l 4,000
Oz&A AMES RA 2l
150,000& » 110HA » 123 19,800
307 21201 A 199,200 193,200 6,000
05 RIZt2IE = 199,200 193,200 6,000
OFFHE HA & S#ZFHH /A
13,500,000& * 12& 162,000
OFF=eHE ReIFHIAE  1,300,0008  12& 15,600
O0Eolal2t BAAIE BHl /A
21,600,000& * 14 21,600
401 AIEHI L 2CHEI 154,500 797,436 A 642,936
01 A& HI 154,500 794,700 A 640,200
ORSIAE M3 E=  20,000,000& * 142 20,000
o2z SIFAH(1E) =& 252 A
10,000,000& * 1JH A 10,000
Oxd+= HESA 13,000, 000& 13,000
oOxd+ H=ofl &X 6,000,000& * 23l 12,000
ozzgH dH &1 31,000,000& = 14l 31,000
O&I, S8, ASANE FXNE=
5,000,000& =* 23l 10,000
O=22, 28AI2 JIHA HIEE=
1,500,000& * 204 A& 3,000
OM3TAI 2 HSIIMHZ X T2 IHHHI S A
6,000,000& = 1JH A 6,000
O3 Al 2 B8 Z WX 4,000,000& * 1002 4,000
OM3XAIZ SEI| Hiotd wWx
2,000,000& * 10024 2,000
OM2MAl 2t B2 M2 ¥ LBtEY|
6,000,000& * 17024 6,000
OM2TEAI 2 S=4 22T HE WM SA
15,000,000& * 1JH A& 15,000




Jlk: Ave A SN HFEUCSEARIAIL A

HE: HIUCS 29
Sl AL Y HAS RXBE CEEEED
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
OHM2EAIZ Y4 HT QOF, 8 WX
2,250,000 * 40H = 1A 9,000
OMY AU HEAEH M2 & LBEAEYH|
500,000& = 8CH 4,000
o2, H3™AIZ s3I 2H LA
1,000,000& = 201 A 2,000
ONE0lg & EHEEIA 5,000,000& 5,000
o=z+2H 2,500,000& * 1A 2,500
SUEQ ASSS 22l 396,608 574,904 N 178,296
201 Bt A H| 12,400 20,800 A 8,400
01 AtR 22l b 11,400 19,300 A7,900
O=EsAMAXNe a2 500,000 = 43| 2,000
osgaeZTz Ny I B4 2,300
O )HKANE % 150,000& = 12&€ 1,800
OPDA &EH| %=H4| 250,000& * 2CH 500
OsS48dT i 200,000& = 1504 3,000
OsSE2Hx= H& 1,000,000& = 30tel 3,000
O=%=2| Al I =H| 100,000& = 19¥ 100
O A= AL 282 100,000& * 3Y 300
Os2 23 I = 350,000& = 23] 700
02 352494l 1,000 1,500 A 500
ost=s2d g3l 1,000,000& * 13 1,000
206 M = dl 292,158 318,904 N26,746
01 X2 bl 292,158 318,904 N26,746
Oss 22 NMHESE M2
35,000& * 50 * 63 10,500
Os2 A 228 2 25,000& * 100m’ 2,500
OS2 AIZ 1,350& = 5300t2| *~ 365 261,158
osg #*¢ 5,000,000& * 3& 15,000
OAd2Z 25 L A2F 3,000
O&sla=E FAExN=E
30,000& = 500 * 23] 3,000
401 Al B2 2 0HHI 91,300 198,900 A 107,600
01 Al&H| 91,300 198,900 A 107,600
OAIZHSR ZHAFE WHA A X 400,000& = 12m 4,800
Os2d A8 &4 5,000,000& *= 1A 5,000
O&SANE AISE WA
250,000& * 18m* » 3JH A 13,500
OHIHAF 8AIZE & 550,000& = 16m 8,800
O MAH A& A 80,000& * 125m’ 10,000
O MZE A& 15,000,000& * 14 15,000
OSS A HEAIEMNA 700,000& = 1004 A 7,000
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A

Jlat: At A FM: EFAX S
o HYSYAH (HYSSALL)
¢hel: L2 (RS S A L) (&)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
BFANNLSSEAML L 105,578 1,547,214 A 1,441,636
HHSIHU(ANHSESAIEA) 105,578 1,547,214 A 1,441,636
ClARAH(NHEFSSAMY L) 99,678 1,520,514 A 1,420,836
oI 244l 99,678 1,468,674 A 1,368,996
101 @14 dl 99,678 1,468,674 A 1,368,996
01 B 99,678 1,468,674 A 1,368,996
o= 99,678
Oozxuze=4 99,678
-2 B 8,4763 = 28AI2t = 35% x 123 99,678
Jl2Zl 5,900 26,700 220,800
JlE2zl 5,900 26,700 220,800
203 YR =&l 5,900 5,700 200
02 et =& 1,400 1,320 80
OPJE=E: 40,000& = 359 1,400
04 2SI LRI 4,500 4,380 120
QIEXH 350,000& = 12& 4,200
O=1H 5,000& = 5% » 123 300




N = 0l & At & Ml A

Jl&: At A 2M: H=AOISSX 2
M HY2IZH (OtssXR)
Sel: o2y (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
EFAMOtSEX 2 690,348 1,150,323 A 459,975
= 300,000
Al 390,348
HE2IZH (Ots=X2) 46,052 469,279 N423,227
el 2| 24,525 443,312 A418,787
oI 24| 24,525 427,352 A 402,827
101 @124l 24,525 427,352 A 402,827
01 2= 22,784 401,051 A 378,267
o=2g 22,784
Oxzh2Zf=E 22,784
EEELEYE
8,476% * 8" » 28AI2t » 12 22,784
02 JIEtE B = 1,741 26,301 A 24,560
oz2ZE 1,741
OAeZRLY
7,252% « 18 » 20A12t » 128 1,741
Jl23&dl 21,527 25,967 A4,440
Jl=3 21,527 25,967 A4 ,440
201 Let2d] 10,527 8,367 2,160
01 At 22l 10,306 8,146 2,160
OJleges=dasZ 6,850,000 6,850
O=&tl JIE3Hl 3,456,000 3,456
02 2324l 221 221 0
OHZAHESERE MEBEESEE
73,390& » 3¥ 221
202 044l 7,680 7,680 0
01 =L o4 1l 7,680 7,680 0
OJIEZ 7,680,000 7,680
203 ¥ S =&l 3,320 3,320 0
02 AP 2= 320 320 0
OPJEE: 40,000& = 8H 320
04 FN2ELSZ=TH| 3,000 3,000 0
OJ|&Z (15210l ct) 250,000& = 123 3,000
289 334 2t 644,296 681,044 A 36,748
= 300,000
Al 344,296
Ots =X l=Zet A5 644,296 681,044 A 36,748
= 300,000
EYAEEMY 300,000 300,000 0
= 300,000




Jlzts AP A 2M: E=AMOSEX2

Hu: 289 22 B
e Ol=sEX odEZet 2= (&2 &)
AR RA BB OBH) - MBEAY - BAS ﬁlf& HD=2
101 2124 4| 75,740 70,620 5,120
= 75,740
04 JIZtHI2E2XNSE 75,740 70,620 5,120
Of8olE (81,70, BEF2I}) 75,740
ool d| 60,600
a0l 1,700,000& * 29 * 128 40,800
= 40,800
-=gHol 1,650,000& * 198 * 12& 19,800
= 19,800
O=0d=8g=2 60,600,000& * 4.5% 2,727
= 2,727
OHLEEEFEE2 60,600,000& * 2.9% 1,758
2 1,758
OFIIQULBHRLSI
1,757,400& * 6.55% 116
= 116
OLNsSEEazRE= 60,600,000& * 1.4% 849
= 849
O ESE= 60,600,000& * 1.0% 606
= 606
O=x8old g&x32 5,050
a0l 1,700,000 * 2¥ 3,400
= 3,400
-=sHol s 1,650,000& ~ 1H 1,650
= 1,650
O 1,934
-=sHol s 65,070& = 10 * 29 1,302
= 1,302
a0l 63,160& » 102 = 1H 632
= 632
OY ZE =t 200,000& * 23 * 39 1,200
= 1,200
O=2XNEIUE 300,000& * 3Y 900
= 900
201 et Y| 24,690 25,830 A 1,140
= 24,690
01 At 22l ] 19,927 21,170 N 1,243
OEEAEIEIIE&ZH] 4,385,000& 4,385
2 4,385
OERHN S 222 MY
1,000& = 3,0000H 3,000
= 3,000
OCEHAEEAMNY EE 49
100,000& * 104 1,000
= 1,000




Jlzts AP A 2M: E=AMOSEX2

M BEx9 534 2t
& OSSR QZet 25 (&)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
OCaXtie #HOlAT BAST
70,0003 = 3H « 33| 630
= 630
OLEAERE Z20329 2AxY
50,000& * 303l 1,500
= 1,500
OEEAEEAY A S
6,000& = 4% = 9 « 123 2,592
= 2,592
OE2H2E & dXE  500,0008 * 53 2,500
= 2,500
OEEHAEBIEMHHHEZ S WS
60,0003 * 6% x 42 » 33| 4,320
= 4,320
02 =224l 4,763 4,660 103
oO=nEXNE R 3,763
OHUEEEH 653,000&  1CH 653
= 653
OXts Al 60,0002 = 1CH 60
= 60
OF-F= P Fala=g= 50,0002 * 1CH 50
= 50
OXtg =Xl 3,000,000& » 1K 3,000
= 3,000
OSE M LA AE X228l
1,000,000& * 14l 1,000
= 1,000
202 04l 15,810 13,170 2,640
= 15,810
01 = ]l 10,560 7,920 2,640
OEYAEEMY HRAIFUAHLI
20,0003 = 4Y « 52 « 123 4,800
= 4,800
OEHAEBEANY HEZ2HE LWL
20,0003 = 3Y * 8 » 123 5,760
= 5,760
03 =220l 5,250 5,250 0
OEHAEE 20|22 A=l
5,250,000& = 18 = 13l 5,250
= 5,250
206 M= Hl 3,000 0 3,000
= 3,000
01 =8l 3,000 0 3,000
OLEAERE T8 29 ME4l
100,000& * 302l 3,000
= 3,000
301 et a3 26,760 32,880 26,120




Jlzts AP A 2M: E=AMOSEX2

Hu: 289 22 B
Sl OS=X AEa P& (S &2)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= 26,760
01 MEIBZE 06z 23,580 23,580 0
OLEEAEEOS RS M
5003 * 2209 » 228 * 9F 21,780
= 21,780
OCHAEE 82217 S gAAS
15,000& = 3007 = 43| 1,800
= 1,800
10 HALAHI 242 3,180 9,300 26,120
ORI, =312 NBSA Adl 24
10,000& = 318" =« 13 3,180
= 3,180
307 glz2tol & 153,500 157,500 A 4,000
= 153,500
01 22724l 13,500 13,500 0
OYLEZEHAY 250,000& = 28 500
=2 500
oYM & RO AZ2el
150,000& » 20H * 13 3,000
= 3,000
O0ts AL SEAY 250,000& = 203l 5,000
= 5,000
OHAMALXI S AL 250,000& = 20¥ = 13l 5,000
= 5,000
02 2t a2 X 140,000 144,000 A 4,000
O=¥I2=Z2 IS 2FHI
14,000,000& * 1070 At & 140,000
= 140,000
405 XtatE SHI 500 0 500
= 500
01 XA = EH St 500 0 500
OUXE3tnet 7 500,000& = 1CH 500
= 500
Ots=El229 244,296 211,044 33,252
201 Yet2 | 119,771 129, 151 ~9,380
01 At 22l 18,151 22,431 N4,280
O=sE=HZ 4,900
oxzld g2 89 50,000& * 107H 500
O0ts=EX 2 A4 1,000& = 4,000% 4,000
Og gzl 100,000& = 2J4 * 23| 400
OQUEXZ SAEX 25,0003 * 284 * 128 600
COLSHHEZF 500& 500 250
oFJIANHE=E 7= 1,104
Oos2X 15,000 * 20HAL » 123 360
OX X 13,0002 * 40 AL = 122 624




Jl &
= ZH -
(=R B

el

AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
Oots Al 5,000& = 2JHAF » 12&€ 120
ogRUHr+= 7,350
O&I| otd 22| 250,000& = 12& 3,000
Os2Il ot 150,000& * 12& 1,800
Os&d) dJ)1&E& 150,000& * 13 150
OAgAIE HIIEZE & 22
200,000& = 12& 2,400
O E nN=H| 250
O22)0|& g2l s
130,000& * 1¥€ * 13| 130
Os2I] el B 30,0008 ~ 1Y * 13 30
OFJIOHE IR DS
90,000& = 1€ x 13 90
O & =I5 Al 2 2|8l 20,000 = 30H = 12& 720
OM=ZXTHAUE == 700,0008 = 23] 1,400
OdSXE HA 11,7008 = 50& x 13 585
OFA H9A= 100& * 1,653m * 63 992
02 3524l 52,920 59,970 AT,050
oRHERZ 1,620
O gt 2403 * 250 * 12& 720
O&I 1,500& * 50 » 128 900
OSHIHE AIEZ 14,520
Odze2 10,000& * 13/ = 128 120
OCHY gEMES 1,200,000& = 12& 14,400
odIIe=2 2,500,000& = 12&€ 30,000
o4 - ot R2 200,000& = 12& 2,400
OCHM AL DHI A BHUBHZ 500,000& = 13| 500
OHOIETV =dl= 20,000 = 30H = 12& 720
osdEdNLREE 2 200,000& = 23] 400
(@PME=R=R-Tgg= = 300,000& = 13| 300
OMHAEANRIII S 2l 40,000,000& * 6% 2,400
OZ22D|2eg e XHE 3l gl 60,000& * 13 60
03 A2 H H| 48,700 46,750 1,950
ootsitsEZz )dH=2Y 40,000
OUT2 e UAIx=E
50,000& * 8Y x 803 32,000
OzxFgdzZ=zH 50,000 * 4Y x 403 8,000
ORLTLZ )DL IAAY
2,500,000& = 34 7,500
O0ts I 2L ML= 1,200
OFZNsSLAIY 300,000 = 43| 1,200
206 M = Hl 4,245 8,333 AN4,088
01 &2 bl 4,245 8,333 N4 ,088




Jlzts AP A 2M: E=AMOSEX2

M. B2 234 23
o4 Ots=EAX olZet 2 (&2 &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
oz ¥ =M= 100,000& * 103 1,000
oz&s HAES 1,250
OF & X 3,470 = 52 * 6o A * 12& 1,250
oMII=sE 1,860& = 3000 ~ 12& 670
OAlA& 22| XD 1,325
(OrSPIE=1=] 750
-SJ7 Y #ER 20,000 * 20 400
-XEHII=2 30,000& = 100H 300
-A24d THNE 10,000& * 58 50
OAag JI XM 500
-AStA AHIE 50,000& = 408 = 10024 200
-FES8 50,000 = 404 = 1JH A 200
-2 XIIE 20,000& = 504 = 1004 100
O & R 75
-AdESHH R 15,000& * 54 75
301 YprE A 2,480 2,690 A210
10 AL HI B A2 2,480 2,690 A 210
ONKAZSAIN AHEAZS(REH])
5,000& = 2% * 2303 2,300
Otssl& 2I/ARS JAFHI S4H|
6,000& * 1569 =* 23| 180
307 QI2t0| ™ 111,600 57,620 53,980
02 DI2tF ALE X 90,000 37,220 52,780
OFFAME OISzt 2F 10,000,000& 10,000
oO0ls2E XA ALY 80,000,000 = 1JHAE 80,000
05 QI2tRE 2 21,600 20,400 1,200
O R0l 200,000& = 12& 2,400
oOFAUH 1,600,000& = 12& 19,200
401 AIEHIL 20| 4,200 3,000 1,200
01 A& Hl 4,200 3,000 1,200
Q& A Rl & 3,000,000& * 14 3,000
O3t&a MMAEX 200,000& * 6H 1,200
405 Xt k3 S| 2,000 10,250 A8,250
02 &M+t 2,000 2,000 0
oOgeEMA =N 1,000,000& * 23] 2,000
ASFOISE XA 100,000 170,000 270,000
307 QI2t0| ™ 100,000 170,000 AT70,000
02 DI2tF ALY X 100,000 170,000 AT70,000
OAMAAOH SR0tSE XA
100,000, 000& 100,000




